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SYLLABUS

Government of India, Ministry of Railways,

Railway Recruitment Boards
CENTRALISED EMPLOYMENT NOTICE (CEN) No.03/2018
Recruitment of Junior Engineer (JE), Junior Engineer (Information Technology) [JE(IT)],
Depot Material Superintendent (DMS)

2n Stage CBT : Short listing of Candidates for the 2™ Stage CBT exam shall be based on the normalized marks obtained by

them in the 1% Stage CBT Exam. Total number of candidates to be shortlisted for 2nd Stage shall be 15 times the community wise

total vacancy of Posts notified against the RRB as per their merit in 1% Stage CBT. However, Railways reserve the right to
increase/decrease this limit in total or for any specific category(s) as required to ensure availability of adequate candidates for all
the notified posts.

Duration : 120 minutes (160 Minutes for eligible PwBD candidates accompanied with Scribe)

No of Questions : 150

Syllabus : The Questions will be of objective type with multiple choices and are likely to include questions pertaining to General

Awareness, Physics and Chemistry, Basics of Computers and Applications, Basics of Environment and Pollution Control and

Technical abilities for the post. The syllabus for General Awareness, Physics and Chemistry, Basics of Computers and

Applications, Basics of Environment and Pollution Control is common for all notified posts under this CEN as detailed below:-

a) General Awareness : Knowledge of Current affairs, Indian geography, culture and history of India including freedom
struggle, Indian Polity and constitution, Indian Economy, Environmental issues concerning India and the World, Sports,
General scientific and technological developments etc.

b) Physics and Chemistry: Up to 10" standard CBSE syllabus.

c) Basics of Computers and Applications: Architecture of Computers; input and Output devices; Storage devices,
Networking, Operating System like Windows, Unix, Linux; MS Office; Various data representation; Internet and Email;
Websites & Web Browsers; Computer Virus.

d) Basics of Environment and Pollution Control: Basics of Environment; Adverse effect of environmental pollution and
control strategies; Air, water and Noise pollution, their effect and control; Waste Management, Global warming; Acid rain;
Ozone depletion.

e) Technical Abilities: The educational qualifications mentioned against each post shown in Annexure-A, have been grouped
into different exam groups as below. Questions on the Technical abilities will be framed in the syllabus defined for various
Exam Groups given at Annexure-VII-A, B,C, D, E, F & G.

The section wise Number of questions and marks are as below :

Subjects No. of Questions Marks for each Section
Stage-II Stage-11

General Awareness 15 15

Physics & Chemistry 15 15

Basics of Computers and Applications 10 10

Basics of Environment and Pollution 10 10

Control

Technical Abilities 100 100

Total 150 150

Time in Minutes 120

The section wise distribution given in the above table is only indicative and there may be some variations in the
actual question papers.

Minimum percentage of marks for eligibility in various categories: UR -40%, OBC-30%, SC-30%, ST -25%. This
percentage of marks for eligibility may be relaxed by 2% for PwBD candidates, in case of shortage of PwBD
candidates against vacancies reserved for them.

Virtual calculator will be made available on the Computer Monitor during 2n Stage CBT.

pnd Stage Svllabus for Civil and Allied Engineering Exam Group — JE

1 Engineering Mechanics- Force (resolution of force, moment of force, force system, composition of forces), Equilibrium,
Friction, Centroid and Center of gravity, Simple machines.

2 Building Construction- Building components (substructure, superstructure), type of structure (load bearing, framed and
composite structures).
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23
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Building materials- Masonry materials (stones, bricks, and mortars), Timber and miscellaneous materials (glass, plastic,
fiber, aluminum steel, galvanized iron, bitumen, PVC, CPVC, and PPF).

Construction of substructure- job layout, earthwork, foundation (types, dewatering, coffer dams, bearing capacity).
Construction of superstructure- stone masonry, brick masonry, Hollow concrete block masonry, composite masonry,
cavity wall, doors and windows, vertical communication (stairs, lifts, escalators), scaffolding and shoring.

Building finishes- Floors (finishes, process of laying), walls (plastering, pointing, painting) and roofs (roofing materials
including RCC).

Building maintenance- Cracks (causes, type, repairs- grouting, guniting, epoxy etc.), settlement (causes and remedial
measures), and re-baring techniques.

Building drawing- Conventions (type of lines, symbols), planning of building (principles of planning for residential and
public buildings, rules and byelaws), drawings (plan, elevation, section, site plan, location plan, foundation plan, working
drawing), perspective drawing.

Concrete Technology- Properties of various types/grades of cement, properties of coarse and fine aggregates, properties of
concrete (water cement ratio, properties of fresh and hardened concrete), Concrete mix design, testing of concrete, quality
control of concrete (batching, formwork, transportation, placing, compaction, curing, waterproofing), extreme weather
concreting and chemical admixtures, properties of special concrete (ready mix, RCC, pre-stressed, fiber reinforced, precast,
high performance).

Surveying- Types of survey, chain and cross staff survey (principle, ranging, triangulation, chaining, errors, finding area),
compass survey (principle, bearing of line, prismatic compass, traversing, local attraction, calculation of bearings, angles
and local attraction) leveling (dumpy level, recording in level book, temporary adjustment, methods of reduction of levels,
classification of leveling, tilting level, auto level, sources of errors, precautions and difficulties in leveling), contouring
(contour interval, characteristics, method of locating, interpolation, establishing grade contours, uses of contour maps), area
and volume measurements, plane table survey (principles, setting, method), theodolite survey (components, adjustments,
measurements, traversing), Tacheometric survey, curves (types, setting out), advanced survey equipment, aerial survey and
remote sensing.

Computer Aided Design- CAD Software (AutoCAD, Auto Civil, 3D Max etc.), CAD commands, generation of plan,
elevation, section, site plan, area statement, 3D view.

Geo Technical Engineering- Application of Geo Technical Engineering in design of foundation, pavement, earth retaining
structures, earthen dams etc., physical properties of soil, permeability of soil and seepage analysis, shear strength of soil,
bearing capacity of soil, compaction and stabilization of soil, site investigation and sub soil exploration.

Hydraulics- properties of fluid, hydrostatic pressure, measurement of liquid pressure in pipes, fundamentals of fluid flow,
flow of liquid through pipes, flow through open channel, flow measuring devices, hydraulic machines.

Irrigation Engineering- Hydrology, investigation and reservoir planning, percolation tanks, diversion head works.
Mechanics of Structures- Stress and strain, shear force and bending moment, moment of inertia, stresses in beams, analysis
of trusses, strain energy.

Theory of structures- Direct and bending stresses, slope and deflection, fixed beam, continuous beam, moment distribution
method, columns.

Design of Concrete Structures- Working Stress method, Limit State method, analysis and design of singly reinforced and
doubly reinforced sections, shear, bond and development length, analysis and design of T Beam, slab, axially loaded column
and footings.

Design of Steel Structures- Types of sections, grades of steel, strength characteristics, IS Code, Connections, Design of
tension and compression members, steel roof truss, beams, column bases.

Transportation Engineering- Railway Engineering (alignment and gauges, permanent way, railway track geometrics,
branching of tracks, stations and yards, track maintenance), Bridge engineering (site selection, investigation, component
parts of bridge, permanent and temporary bridges, inspection and maintenance), Tunnel engineering (classification, shape
and sizes, tunnel investigation and surveying, method of tunneling in various strata, precautions, equipment, explosives,
lining and ventilation).

Highway Engineering- Road Engineering, investigation for road project, geometric design of highways, construction of
road pavements and materials, traffic engineering, hill roads, drainage of roads, maintenance and repair of roads.
Environmental Engineering- Environmental pollution and control, public water supply, domestic sewage, solid waste
management, environmental sanitation, and plumbing.

Advanced Construction Techniques and Equipment- Fibers and plastics, artificial timber, advanced concreting methods
(under water concreting, ready mix concrete, tremix concreting, special concretes), formwork, pre-fabricated construction,
soil reinforcing techniques, hoisting and conveying equipment, earth moving machinery (exaction and compaction
equipment), concrete mixers, stone crushers, pile driving equipment, working of hot mix bitumen plant, bitumen paver, floor
polishing machines.

Estimating and Costing- Types of estimates (approximate, detailed), mode of measurements and rate analysis.

Contracts and Accounts- Types of engineering contracts, Tender and tender documents, payment, specifications.
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uiter fafer : 28.08.2019

1. A is a system designed to prevent
unauthorized access to_or from a private
network. ar
SUANT &kl Vehed o TAT .......... T = fesmga
ferar <raT &—

(a) Server/daR (b) Packet/d%e
(c) Firewal/®RRE@  (d) Web page/dd Ut

Ans. (c) : HIERETA HI =T o1 4eash # UTH e

2 St foslt Seash @ sAW A1 ol ST i Jshd %

fw fesea fhr ST 21 wERAA A EEAE A@

Hioaat < & A # sEifad A ST gehar 81 98

fpet Jeash B TR § W1 § 3R deadh H SHfuEd

T H ThAT 71 Tg Tl H GedH & forw e &

Tsh (Pre-Define) TS 1 3T HIAT 2|

2. In horizontal curves of Railway Tracks,

Negative Super elevation means-
TRl W, SHUTHSE Ul
TeltaeT =1 o= STy §—
(a) Both the outer and inner rails are at the same
I%evel/a'lgﬁaﬁT’ﬂﬁﬁ‘RﬁZﬁ, A FHA TR W
|
(b) Outer rail is at a higher level than the inner
rail/aEd qed, dialt geft &t qor § 3= ')
W R
(c) Negative super elevation is not at all possible
in any curve o a6 § FOTHS
forespar off doa =& 21
(d) Outer rail is at a lower level than the inner
rail/aEd ged, WWG&W‘#WW
R 2
Ans. (d) : S HIE IRIT A, &I AR T T35 T B
foerdt & @ v dRA & 9l W@ # el W 8 99
Tl S 8, W FONHD HT A1 HUNHE ST e
g1 T HT | RG A1 § FONHS AR 8 &
FROT TH W Fod arett med # oare G w &

S 21

3. The zero of the graduated c1rcle of a prismatic
compass is located at W ™ <hl
3iTifeRd g UT 9T HEt ﬁzrvr BT $—

(a) South end/aRrT RR W
(b) East end/gdf fiR W

(¢) West end/af¥=mdt fa @
(d) North end/30 it ™

Time : 10:00 AM - 12:00 PM

0° -
ferem afeomad feen # @ 81 afft (5) Rl w g A
360° &1 3, afy=dt (W) fR W 90°, 398 (N) IR =
180°Wﬁ(E)@m270°%ﬁwaﬂﬁaﬁ%|

4. Match the followmg
fr=fataa =t faemi-
List-1 List-11
(A) Type of beam 1. Connecting
connection members used
(B) Framed Connection 2. Flange cleate only
(C) Un-stiffened seated 3. Flange and web
Connection cleats
(D) Stiffened seated 4. Web cleat only
Connection
geit-1 TE-11
(A) T SIE FH THR 1. S HS S
(B) e SIg 2. Had T e
(C) 3-fews dide Sis 3. wisl 3 a9 frefe
(D) e dies g 4. Fad 3 e

(a) A-3;B-1;C-4;D-2 (b) A-4;B-3; C-2; D-1

(c) A-1;B-3; C-2; D-4 (d) A-3;B-2;C-1; D4
|Ans. (d) : 39 W Wl ST 3 Terd WA 2 |
5. Which of the following is the dimensional

formula for the specific speed of a turbine?

frafafiaa & @ & @ foaftar 9 etams =t
Terforfee wifer o5 fera 32—

1 3 3 1

13 3 L

(a) M?L'T? (b) M2L*T?

3 2 1 3 5

(c) L*T? (d) M2L*T>2
NP

Ans. (b) : T@ETEA # faflkme 7T (S) = — -

TFRU H HEA (N) & forf 9 = [T]

wifer (P) &1 fodir 93 = [MLT )

¥ (H) &1 faia 97 =[L]

3q: LA i fefme i s ferdia o
[r][meTe ]

[L]5/4

5/4

1 -1 -5

= M2L4T?
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6. The height of the pilot's eye above the runway
surface is assumed as

S & Hag ¥ U &l A i 5o

........

AT STt §—
(a) 5m/5 HiX (b) 1 mv/1 HreX
(c) 3 m/3 HieX (d) 4 m/4 T

Ans. (¢) : [ T SHfFERT § W9 & 998 9 I
Ft 3G F HAE 3m T TN SNIRT H TS A o
Wﬁéﬁ@aﬁﬁél.zom@mmﬁmwcm
o St 8

7. According to Archimedes principle, the
upward force experienced by a body immersed
in a fluid is equal to which of the following?

i o ITJER, Tt s o

gu fig g gy fewarm S At Secas
wet, fret o & Fheh SR g §—
(a) Total weight of the body and the fluid

fig 3 58 F1 Fa 9N
(b) Weight of the fluid displaced by the body

fs g foenfud g9 &1 WX
(c) Weight of the body/fi€ &I 4R
(d) Weight of the total fluid/®d 3 I 4R

Ans. (b) : AT & g & SR aaaﬁfﬁmg

i a1 gof &7 F W w9 § gamr I g A T

I T T I F 8 S fie g e 9 %

9R % SR el & |

8. According to the concept of limit state design as

per 1S-456 : 2000, the probability of failure of a
structure is:/1S-456 : 2000 & 3TTAR T

AMHFU I STTUWUN o IJJER, Ferelt T

Ft TaweTar S U ........ ot &=
(a) 0.08 (b) 0.9
(c) 0.8 (d) 0.0975

Ans. (d) : IS : 456 : 2000 & 3FIER Hmr avaeen fafy §
Rl T & Rree @ WA 0.0975 B 3

famarar 1 wifeedT, =1-p?
=1-0.95
=0.0975
9. When an object is viewed from different

directions and from different distances, the
appearance of the object will be different. Such

a view is called
o fert aw_aq?aqm e fagmedt i
STET-STE gRAT W I@T W@ §, A w
femamae arenT-eterT grftl U/ 999 &l SR el
T &—
(a) Axonometric projection/3TifHfies F&rq
(b) Isometric projection/TafHd J&rq
(c) Perspective view/Haet gvg
(d) Oblique projection/fa'qc% &g
Ans(c) Wﬁ?ﬂ I T3 fement 3N 3er-
[ 9 @ ara ar g% @ fewrae afk stem-ste
ﬁ'@'l'sn a1 39 denl gy (Perspectlve view) Fgd gl gy
TV TG A 98 e @ fh S-S Yew 9 a5
& o9 # gl T g, aﬁ@ﬁﬁﬂ?ﬁﬁ@?ﬁél

Teafe| 12.

10. Which of the following gases is obtained when

metals react with dllute acids?

wF W, argen W oag

ST T T SRR FO U U B -

(a) Nitrogen/-‘-l'l%@ﬂ?r

(b) Hydrogen/ﬁl’s’@ﬂ?

(c) Oxygen/3iTerIS=

(d) Carbon dioxide/HHE SEFIEE
Ans. (b) : TESSA W, @S F A oA F WA
WWWW@T@? ﬁa;eﬁﬁﬁ%m
g, S qor gfcfehar R
T T SIS W B 2 ;ﬁﬁm%mw
T GHiHT 7-
oI + 3T —> TA + g g

11.  The rear wheels do not follow the same path as
that of the front wheels. This ghenomenon is

called/aTe" o fUsar ufgw, & ga=

Tt T STENUT A& A €, TH TSAT W R

T T -

(a) Extra widening/31feRer =igieor

(b) Transition curve/SshAUT dsh

(c) Off tracking/31® Efﬁh’ﬂ

(d) Coning of wheel/dfgq T STiarTHIuT
Ans. (c) : 3 Sifaol b dTell Hgeh W 1T A IAd &
a 3o fUsd IRy, o uRe & Wl &1 3%
ﬂé‘rm%mm%qﬁqa@amaﬁaﬁt%iﬁ
39 fopam &t 3\55 g X 8l (off-tracking) Fed &l
Arrange the following media - solids, liquids

and gases, in descending order of speed of
sound through them./fAferfaa -

Td 3R T o 399 GO Gy & e >
STEET A | Tafked shi—

(a) Solids, liquids, gases/&ﬁﬁ, g, Eire)

(b) Gases, liquids, solids/Tg, 54, 319

(¢) Liquids, solids, gases/&d, 319, 9

(d) Solids, gases, liquids/Eﬁ'H, 9, 59

Ans. (a) : fafts wreadi § @ & 91 #1 sEUE HA-
39, 33, 19|
25°C W & &t oA
Tyl i JTEdT T m/s H
3 el - 5950
e - 5960
i - 3980
gl S (Fs) - 1531
SieT (3Tgd) — 1498
T\ HRSE - 316
ag - 346
gESeA - 1284
13. The restorlng force er unit area set up inside a

body is called/fUs

T Gt AT Waﬁwaﬁrm%—
(a) Stress/gfeerel (b) Elasticity/Jeameedr
(c) Mass/SeqHH (d) Strain/ferpfa

w
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Fd

Ans. (a) : 5 fivs & 3R THiT &FPA W T
a f

A MIRF T HI ITd Fad 21 W o
F 2| THH TFH N/m? a1 N/mm? 2T 2

P
T

e
e

14. The densification of a soil by means of
mechanical manipulation is called
ifseh Yehe gRT G o R ST hEl
T §—

(a) Compaction/Hg=

(b) Soil stabilization/gar ferfihtor

(c) Compressibility/Sdrezdr

(d) Compression/Hdred
Ans. (a) : A= ARl g1 & & =0T @ HEH
(Compaction) Fgd &1 Teaa Wan # ga1 five § a9
fopifer &1 ot 2, FTed ger &1 dewuar § S e S
2 3N 3TH b T qg I 2
15. The stability of sub-grade in a_ pavement is

influenced by U wd-
¥ gofaa et -

(a) Water contact/drit F T

(b) Compaction/Fg-=

(c) Materials used/sgs |0

(d) Rigidity/gedm
Ans. (a) : Al TR & 59 9IE W I9@=< el . 8
3G T (sub grade) Fed &1 ol gmed | W &
fTT STenTR I STIheled Jeiw | el fFar s @
qo1 TOd anl ST H 94 Y Ak T 21 S W AN
e &1 S C.B.R. THEUT 3@ wie ROT THE0T g
F S B S Y U % gegdh § o S @ A sgd
Fea fhar 89 T QU Yade afe @ St 21 o

.........

Ugie H U F TS ¥ TEET AT
16.  Drop panel is a structural component in:
1 s 1 RO T Ueh HITHTHG Uh §—

(a) Flat slab/=el &ia

(b) Flat plate/?{q—cpf e

(c) Grid floor/fre ¥R

(d) Slab-beam system/‘ih”iﬂc & e 9 FoTed!
Ans. (a) : S HE ©E W | Y GO e @
el § foor & St @ o 3¢ Wi a1 9wt Wi ded
’ 125 mm ¥ &9 & g ?rrf%%
S 2,

33
sy 8b

Which of the following is required to_create an
HTML document? ¥ fraat

MAYIERAT HTML SfeHe a9 o Tt greft
=

(a) Search engine/Td 5

(b) Internet/3eTT

(c) Text editor/SRE T

(d) Browser/slI3sIT

Ans. (¢) : HTML S&RIHS a9H & fou 2ae fgex &
AETIHAT B 21 HTML 22 T & TRd 4 a9
UST 1 ST A7 WS a1 a1 81 HTML &1 90 A1
Hyper Text Markup Language 21
18.  Which Chess championship title did grandmaster

Viswanathan Anand with in the tournament held

in Riyadh, Saudi Arabia in 2017?

2017 ® U3dl 3RS o Rag ¥ ST yrais

Qfa=fiTar 2Aite # HgAne fayamnes e 3

-1 Reare far 2

(a) Candidates Tournament/%%@'{q Eﬁﬁ?

(b) World Senior Chess Championship

fagy TR oS Sftgeafem
(c) Chess World Cup/ITdist faga
(d) World Rapid chess Championship/fag e
ML

Ans. (d) : T 2017 ¥ T3 RS & (ARG H IS
YRS TR e # ferrer faunne oHe | fay
Ao &E wEe w1 we fay e wwe
Ao 1 feame S fgares s @ 1991-92 §
Tsita et B T R & Frfad far e o

19. Castigliano's theorem falls under the categor
of SRz PreTeTT 1 W, ... 1 701 5 e B
(a) Force method/aet fafer
(b) Stiffness method/Sgedm fafer
(c) Displacement method/ferema fafer
(d) Equilibrium method/Fi@?H fafyr
Ans.(a): @M # T0F, oo fafy &t goft § o7 21
(1) T a1 (Forced Method)
(i) T 34T§[Uﬁ T (Theorem of three moments)
(i) Rex fagqor @i fafr  (Method of constant
deformation)
(iii) H TH (Castigliano's theorem)
(iv) FHffEfAE &t (Compatibility Method)
(2) fawarmu= f&fer (Displacement Method)
6] W faewoT fafer (Moment distribution method)
(il) @A TAT faera fafer (Slope deflection method)
(iii) I FI fafEr (Kani's method)
(iv) hsTaq ﬁ@W faf¥r (Stiffness matrix method)

20. Centre lines and_section lines are drawn using
pencil./ao_x' ’

URIST T TENT hleh W=l Srdt $—

(a) HB (b) H

(c) 3H or 4H (d) 2H
Ans. (c) : T8 SET H Fx WKW, JHH W@ AT &
T 3H o1 4H UFHa &1 TN &0 & S@is a8 1@,
gfted @, fomr @ dor oY @) @R & fe 20
e T H R

21. If a beam or column becomes weak or found to
be insufficient, the most effective way to
increases its strength is by
qfg T & I W W g oA
AT UTAT ST &, O TR AW s hi
Wertferes worelt forfer i ot §—

..........

RRB JE Civil CBT-II (28 Aug 2019) Shift-I
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(a) Plate Bonding/@ie sifegT

(b) Jacketing/SishfET

(c) Grouting/a3feT

(d) Micro concreting/ATSshl SHehlfST
Ans. (b) : ST HIS AH I T FAR 81 @1 2 AT A
ARt AR B A F o e A ¢ 7 g
Wa@ﬁ%m%@ﬂﬁaﬁrélﬁmmﬁ
fFeft o o1 T % IR SR dFe W Lia i e
She TEH S I 2
22. In which of the following states is the festival

'Chapchar Kut' celebrated?/=ITU=IR &e’ ATHh

wier fre 8 ¥ form o ® | S g-

(a) Meghalaya/ﬁW (b) Sikkim/fferera

26. Fresh and pure snow reflectance:

T 3R I

(a) Is very high in visible region/g¥3d & agd
st 2t 21

(b) All of the optionsffa%?‘ﬁ 7 mefr

(c) Remains low for longer wave lengths/@dl
Tor-3ed & foau &9 & 2

(d) Falls off steepy in the near-IR region/sTaldhi-
IR &7 § oot 9 fret 21

Ans. (b) : TS TS ¥[5 o I Uadhdl I (eI 2-

(1) 599 &7 § Fga e gl 21

(2) @ qr-2ed & o & W 2

(3) Ao - IR & H ST § et 21

(c) Assam/3THH (d) Mizoram/fEsicg 27.  The chloride content of public water supplies
hould NOT exceed- S5
Ans. (d) : 9ER & FRRA # ABNE <RR 8 o s : T
W@%WWWW%| 'ﬂ?ﬁ'ﬂg@'ﬁ'w ....... ﬁm?@"&ﬁ:ﬁm—
Wﬁgﬂ@gﬂﬁw@ﬁm (a) 150 mg/L/150 ot efex
wEr R (b) 250 mg/L/250 fHctmm,/ e
:Laq'r@]g W - el (c) 80 mg/L/80 U/ el
AR - IRCIES qe9T (d) 50 mg/L/50 U/ el
giiferer - RS Ans. (b) : IS 10500-2012 & 3ER G+ I I H
aig _ e ﬁmaﬂmaﬁwpﬂmﬁmﬁmmwé—
23. Major compound responsible for the Characteristic | Requirement | Permissible limit in
destruction of stratospheric ozone layer is- (Acceptable | the absence of
udOTEa o T ¥ faar * limit) alternate source
b g _ Aluminium 0.03 mg/! 0.2 mg/l
fore Reresiam v wfifires 57 & i @ & Chloride 250 mg/!l 1000 mg/l
(a) Oxygen/SHeriIoT 5 Fluoride 1.0 mg/l 1.5 mg/l
(b) Carbon dioxide/®Td STEFIEES Free residual |0.2 mg/l 1 mg/l
(©) Methane/®e chlorine
(d) Chlorofluorocabon (CF C)/aaﬁwﬁﬁ?ﬂa“ﬂ Iron 0.3 mg/! No relaxation
Ans. (d) : THAYHEA § HIGE 3TN WA & famre & fo) | [Nitrate 45 mg/l No relaxation
eR Pt A wﬁ%}w HE: i i g/ | |[Phenolic 0.001 mg/! 0.002 mg/!
6|$§I°F(’1]{I“I7€’1I{I'=B|Giﬂ, e[, OBMFH SEAE I REE affe compounds
et 21 Sulphate 200 mg/l 400 mg/l
Total alkalinity as|200 mg// 600 mg/!
24.  Which of the following is Quicklime? CaCoO;
Freafafaa © |1 ol oA 2 Total hardness as|200 mg/! 600 mg/!
(a) CaCl, (b) Ca(OH), CaCO;
(c) CaO (d) CaCO; pH value 6.5-8.5 No relaxation
Ans. (c) : foF1 1 I H TEENS G CaO (hferga| | | Turbidity 1 NTU 5 NTU
FHTFAES) 21 TEH ITANT HAR T A gt & o Total  dissolved|500 mg// 2000 mg/!
i T 9T s USSR &= F fhe S 2 g’hds . e
25. Intermixing of partlcles of two different types Top;:;er (as .u) —0 e 7 = Mg 7
of matter on their own is called Ao;a Arsenic (as|0.01 mg/ 0.05 mg/
STETT- 3161 YR & Tarelt ?uﬁ_ st | [AS
__§r B a%_ & i Lead (as Pb) 0.01 No relaxation
TS e € - calcium (as Ca) |75 200
(a) Diffusion/I9H 28.  Which of the following characteristics of ballast

(b) Effusion/afg:&aur

(c) Condensation/ge

(d) Fission/fa@eq
Ans. (a) : & STET-3TAT TSl & HUT 1 S9H § fHer
fewuT (Diffusion) FEalT 81 6 Uishar § I=d Grsdl
aret gered & HU H YR T W ared gere & it
% &7 § g 2|

makes it unsuitable for use?

it =i foggaret @ & w= W@
SUERT & foTq rguger §—

(a) High modulus/3= A9

(b) High water absorption/3=d Sicl SCNIEL

(c) High stability/3=a feear

(d) High resilience/3=e SfaRieremar
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Ans. (b) : fIEdl, 1@ g0 ©W W 4 a1 9R & 3

frmfor TR W 3aRa w81 fiedt =i & fow waaa,

YR SR WEM R 21 et fredt # fefafed

fergoTd g+t =nfeT-

%@@ﬁw@mwﬁawaﬁmaﬁwﬁﬁ
|

(ii) STHT ST TN HH BT N

(iii) fret &1 anf, e, @ senf & wfa 3<a ufedy g

Bl

(iv) T fRerar sifers B =R, @8 9R o W e

& =g

29. As per IS codes, the characteristic yield

strength for hot rolled high yield deformed
bars is/IS AN, ElisyolicTn)

e Twed o faefm BT % fau

arfyenerfites worwe wTwed Rt ardt §—

(a) 250 N/mm* (b) 550 N/mm®

(¢) 500 N/mm’ (d) 415 N/mm’
Ans. (d) : 93 T @& wwa gm 250 N/mm?, T
T 3 S 9ed gHed 350 N/mm’ a9 359 e
zaqd & gmed 415 N/mm? 81 21

30. To get a diminished, virtual and erect image of
a tall building, which mirror is used?

Teh el BURA o1 Bier, murdt v e

yfefeia yrer @i & T, fore gdur w1 Su=imT

feram raT &—

(a) Concave mirror/3ade Yo7

(b) Convex mirror/3cicl gdur

(c) Plane mirror/HHdA gqur

(d) Both concave and plane mirror/3{adel R
A

(d) Format Painter cannot be_ used multiple
times/®I [Tl #E TR Ffar S
el 2
Ans. (b): MS-THE ¥ BHc Ul & 3TN HHS Y
AEHT W SAA [ b A ST B1 MS-THIA
AMAN W ST fHar W Al ARSI 3
TS 8 o8 U Sedie gum B e swEm
TEq® ST A g WH R favann s & fae
fepem e 21
33.  Which soil will take years and decades to

undergo full settlement after the new building
is constructed?

ARG -4 o 9I¢ fhd YR i YT
quidan Seta § g a9 3T g9reh enivit—
(a) SilyF=e (b) SandAT
(c) Clay/fgt (d) Gravel/®&g
Ans. (¢) : 59 HiZ 7% ARA fhal febt M2 (clay) W
SR S @ A 39 qul Sor # wgd iU 9Hg e §
Fifes et T IO 9gd W Bt ¢ S Il gar #
TG 1 qUf derd ¥ & quf & S @ i e gar
F URTEAr S Bt 71 gdifn o wEAed &t i
F fau =9 g et el @ awdgs ga s
3T T 2
34. The ratio of the moment of inertia to the span
length is called/STgea ATE[Ul

g ok TIUTA hY ST heEl STl §—

(a) Carry over factor/&{ 3R X

(b) Distribuition factor/ferauT TuTeh

(c) Relative stiffness/3TMUfRIH HSTTT

(d) Stiffness of the member/39iTT T HETAA

Ans. () : ST YUl qA U F @G F UM FHI
CIRIES ‘

Ans. (b) : Uh 9l ARG & DI, A IR A HS9 (Relative Stiffness) Fad &1 RIS

Sfcifeiar ST BT o TG Ieiet &7 bl UGN fohay S 21| | |HSTA R o1y ward % "™ % FS9H § qor el 8|

Il adu & w39l g weds g e 8 o 39 W | [Af fhd g W ¢ oR wew frw w@ & @ ot few

ayafaa feoit s H 21 I 2qur 1 S| | |TEE % HYTT i SURIE HITT H Thod H IER T

TduT off er S 2 T far S 2

31. Which of the following countries won the|3S. Which finishing covers with a new protective
Badminton Asia Mixed Team Championships, layer over the whole surface area of walls
2019? 3 ‘lﬁ'ﬁ" firrE AT aefﬁg—.‘ﬁm, %%nmuae“d by brick or block Masonry? -
2019 fr=fafaa & & fre 9T = Sfdi— a6 s T

- . TS SR TR Ueh T8 GReITeHeh U oI ohl

(a) China/=4 (b) Malays1a/1=|@ﬁ'|?ﬁ B RewRRT 3 starta v Trar

(¢) India/9Rd (d) Sweden/®ire
Ans. (a) : BT F MAIRK eficT wRm ks dW
, 2019 &1 Rad@ = 7 Sfan wrdg dsfic
foerd @ Rig 3 frcide % wen § wrEtE ot
2022 % defifed wimn Sl § S ag S
32. In MS-Excel, how to use Format Painter
multiple times?/MS- , 9
YT T YA A ferar Srar &—
(a) By clicking on Lock Format Painter Icon/ceh
B Yo M R Fash i
(b) By double clicking on the Format Painter
Icon/BiHe HeT 3TEeHT W Sad Fash Hich

(c) By single clicking on the Format Painter
Icon/mézﬁaammwmw

(a) Pointing/ZTqeht

(b) Plastering/& T

(c) Grouting/I3feT

(d) False Ceiling/Aehett &a
Ans. (b) : 3¢ I =% foAE gW fAfHq SR 5 gEd
M@l &l G & [T TR H 0T I8 W TS GRS
WA I TG H AT B SRR el S @1 e
F foIT dHve 3 ST 1 A 1:4 ¥ 1:6 W I R
TR F A GERE: 12 mm W S @1 T &
m? ® AT S 2|
36. The default position of the UCS Icon is

positioned at ____ on the AutoCAD grid.

AfAr-hg I W, UCS AEHA ol TEhice
Refiy ... T Eet §—

........
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(@ 0,0,0 (b) 10, 10, 10
(c) 30, 30, 30 (d) 20, 20, 20

(¢) Lithium niobate/cerad BRI
(d) Lead zirconate titanate/dg e 28

Ans. (a) : 338, B8 W, UCS mH & T

ferfer (0,0,0) W et 21
37. PIEV represents
PIEV TRt -
(a) Passenger-Intersection-Entry/Exit-velocity/
S-SRI T UfFere et

(b) Process-Intimation-Execution-Valuation/

(c) Passenger ~ Information ~ for =~ Emergency

Vehicle/THR B
(d) Perception-Intellection-Emotion-Volition/

Ans. (d) : FeMH SRR § $B W@ W& % 0 w9
Foret S/ 8-

PIEV — Perception Intellection Emotion Volition

CRRI — Central Road Research Institute

NHDP — National Highway Development Project

SSD — Stopping sight Distance

OSD — Overtaking sight Distance

PCE — Passenger Car Equivalent

PCU - Passenger Car Unit

38. Scattering of sunlight occurs due to the
presence of /& & YRl feraent
Sufterfey 3 ST B §—

(a) Crust/sTel Wd  (b) Atmosphere/argHsed
(c) Mantle/3TaRTT  (d) Core/R
Ans. (b) : T & TH F FHUA agHed 1 URAM &
FHROT BT &1 S JhTeT o U e § oRar @ o
Yl T 37 TETdl % A GeH B B § il b Fehral
g ebrer &l famett & sia @ S 8, g9 S &
THUTT Hed 2
39.

Long narrow diameter steel pipes are used for
conveying fresh concrete down to deep depths,
especially below water bodies, These pipes are

called as
ATAT chehle ohl ATk g8 ol Tl W,
fagroet St et & e o 9= o o o
Henlut = ot e urgdt st SuEnT feRam
AT ¥, 31 ST Frantall st oI el SITaT 8—
(a) Pumping Pipes/dfiiT argq
(b) Tremie Pipe/?fﬁ RIER]
(c) Down Pipe/S134 TigY
(d) Transaction Pipe/ZiSIee Wgq
Ans. (b) : T % iR FAfET 3f g, oo ¥ g
et T F, AR H Fhie TR a1 JRFET g F Sl
él@ﬁqﬁquﬂ20cm@30cmmélﬁqﬁq
1 S0 AU g 3R o feet R W A% a1 ey
dfed o el § 1 g Wb ATed Shebie i Al A W e
2 o A § g T % et qHH § Jehar 21

40. Which of the following is/are an example of

iezoelectric material?
Rreforfaa & @ @H-ar deteafre e @
ISR §—
(a) Barium titanate/3Re™ 2@
(b) All of the options/feedl # & |t

Ans. (b) : 3RFH TR, W8 NS 2Re T8 difaam
forfiae anfe disiizafaes gard & 3@ & |

41. Who is the Chairman of the National
Commission for Backward Classes?

A 2 o eI hiF
(a) Thalloju Achary/9eetis] 3T
(b) Bhagwan Lal Sahni/STTaq Tl et
(c) Kaushalendra Singh Patel/®1¥Tels fig T
(d) Sudha Yadav/g91 ared
Ans. (b) : T fUgr av 3mam & fAdaAr e7eey .
WEM o G 81 a8 2018 # gEg g e fiwer
71 @AM (NCBC) &I Gawufes &t fearn wan dfaam &
3. 338 B H 3H oo fham T 7
42. Engine Sheds are used for
EEERIEAC) AT g
(a) Help to change engine/gsi< IS § HEg B
% fer

(b) To help for sideway shifting/Hrge-a T &
TeE B & fou

(c) Help to change direction/fem IS H TEg
FH & fou

(d) Maintenance and repair/I&XET 3R qTHT &

Ans. (d) : 359 T H JAT oAl B @A, THE,
Yo T FOEA & U R S 31 T 9 ST
I g R o % 1% Al A § 9 A S @1 S
IO quidAr Sg S S @ 3R SMavas AUHd $ S
21 &l W enTel g & fow o Sum-spigen, ae off
HFvIF &9 § R a1 S 2

43.

If the harmful salt present in the soil is Sodium
carbonate, it can be neutralized by the addition

of

gfe frft ¥ dine wifvere o@u wifsaw

HEAS §, 9 THh AT foremeRt Serfi=

Terarm ST Hehar &—

(a) Calcium sulphate/%f%?ﬁl‘q The

(b) Calcium carbonate/He3aH HEE

(c) Magnesium sulphate/wﬁm Tethe

(d) Magnesium carbonate/AT YA @
Ans. (a) : a% A ¥ uNE aFERE dau @ifew
FET (Na,CO;3) %, a 3ok 9 Ffewem  gethe
(CaSO,) e e fha ST Hehell &1 Hievrad Fethe
T @S 8 S i g @ g % TR % fau a8
g HEeIqul AT AT ST 2

44.  Mild steel is used in the manufacture of

Yg 3T T SUANT TE W frmfor &

foru femam <mar &—

(a) Compression members/FdE- 3TN % fog

(b) Cutting tools/3i=T ITHT & for@

(¢) Rolled steel Sections/dfeeid SEEE @UET &
fee

.........

(d) Tension members/d= 3T & foTg
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Ans. () : 9 TG H§ &H&A & HAT 0.15% § 0.30% T
?1 93 Tod H T B 8, Ef sEe WA
Ifeem o Wuel & S % faw fEar S 81 93
ZoTa 1 fafT Sceetl | waifies s fhar s 2
45. Up to which element was the law of Octaves
found to be applicable?/m &1 T fea
T qeh TN] UTET STaT §—
(a) Cobalt/HIaTeE (b) Potassium/dr2f¥ram
(c) Oxygen/3ffisH  (d) Calcium/&feeram
Ans. (d) : =IcIS & 3Th g7 Sheel HieEH d6 o
I o FSTeehT TRATY] shwih 20 1 el & S fa| &
3R §@ T@l &l 3T dd gU WA TR % STIER
Faftd fFar ST 8 @ w ¥ o YE B TS e
7 % 0T Ued a & ol % WA g § gaen 9
37 o wed B

46. What is the formula of Ammonium Sulphate?
T G T E—
(a) NH4SO; (b) NH4SO,
(c) NH3S04 (d) (NH4),S0,4

Ans. (d) : 3T Gohe TS THMESH AG0T & (ST
TS I (NH,),S0, 8| T9T STANT JaT 34t & &9
# fepar S 21
47. The primary cause of acid rain around the
world is
f ¥ w-wr gf gher § o awt @
rerfires ST E—
(a) Ozone/3TSI
(b) Sulphur dioxide/TTH STEATFES
(c) Carbon dioxide/Te" SE3TFAES
(d) Carbon monoxide/&Ta- FISIFZS
Ans. (b) : {99 H 31<fig aut &1 MufHs HROT ST §
bl TESFIATS HN I g1 a9 & I Pl AT
TN & U [ e SEINERE (SO,), AEeeH
aT“ws‘s% (NO,) @ +EgH e (N,0) o
|

A flip-flop is a binary cell capable of storing
of information.

-TATT Teh AT Al §, S AR
HI WUET (RN ) & § 9209 §—

(a) Byte/drge (b) One bit/T& faz

(c) Eightbit/3is fae  (d) Zero bit/q= foe

48.

...........

Ans. (¢) : (i) Hed a1 WiegeR 3¢
Y AN - 19ecm x 9 cm x 9 cm
AHT A9 - 20 cm x 10 cm x 10 cm
(ii) A-ATETeR g
YK AN - 229 cmx 11.2ecm x 7 cm
AHA AT - 229 cmx 11.4cm x 7.6 cm
When did Chernobyl nuclear disaster occur?
TIHTY] GEiEAT e T3
(a) August 1987/37T&0 1987
(b) April 1986/3Te1 1986
(c) August 1989/3TTT& 1989
(d) April 1988/3Te1 1988
Ans. (b) : TS THV] AT 26 TIA, 1986 T. H
T HfaTd Fohd | 521 39 WA gHeT ¥ R 9
F et fafeor o T o1, a8 GIF i F W A
130 frelidiet &1 g8 | fRem 21

51.

50.

First of the major environmental protection act
to be promulgated in India was

AR W AN feRAT O WEYSH WE UHieRu

HIUT AfAFIT SHhi=-9T aT—

(a) The air act/aTq fafIH

(b) The water act/SieT 3Tf&ifaH

(¢) The enviroment act/TataRoT tffrem

(d) Noise pollution act/TIR FgH0T Sfef=w
Ans. (b) : RA H AN a1 T ToH g TATEROT HIETOT
sffm St (rguur R sk faeEwn) et 1974
oanl Ay (g, e R ) sifufaEm, 1981 #
ST T AT AR eI S, 1986 # AN g3

52. In the slope deflection method, the equations
are derived using/Ueh AT feargrour T,

TG ...... T SUANT SHeh W feRT T &—

(a) Castigliano theorems/HE A F871

(b) Moment area theorems/ﬂl‘%[“f B THT

(¢) Method of joints/SEl =t fafer

(d) Double integration method/a8T e fafr
Ans. (b) : T a1 ey fafyr & wfiesor, sl emwa
T &1 AT O TG H S U % A0 3R
% GAhA U 9 &FGE & U b WA § T qur san

Ans. (b): fFTT - TATT T a1zt A &, ST THHEIA & ST foFelT ST €| STeI0] &Rl ST o SIER-
‘T foe’ @ 9rdid ¥ mew ) fae @ 2 A & o (0)= A
T DI gHE AT ST R | U o 0 AT 1 & weha 2 EI
49, As' per .Indian Standard, the modular §i;e of faary (y) = E
bricks is/ TH& & AMJER, Fei @ El
AIEIH ATHN .......... FraT g 53.  Which of the following contains a large number
(a) 25 %r% x 22 C@mﬁ x 22 c@r% of dsofl.al:tcellstjtoine‘,d together with silver wires in
25 % 22 % 22 a definite pattern? ) )
(b) 21 cm x 10 cm x 10 cm/ T8 W fored sgd | €N el widt & 9w g
21 3 x 10 T x 10 T T, fafver e @ g9 ¥ ¥
(c) 19cmx9cmx 9 cm/ (a) Alkaline cell/Teheig Het
19 Tt x 9 Tt x 9 Tt (b) Solar cell panel/ﬁ( e I
(d) 18 cm x 9 cm x 9 cm/ (c) Dry cell/3[ TA
18 Tt x 9 Teft x 9 Tl (d) Lead acid battery/dg Tftg sl
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Ans. (b) : SR ST Hier 9l § o1 gl 2| 9o’ 9
faferpi qardf ¥ a1 & gofged Heded & gud 4
ST 31 AT % T © S SieR 9 31 Bl
e off el ST 21 GR U 9 =id % al gN U

fafyd 44 & 92 2 €

54. Maximum principal stress failure theory is also
called theory./ POIE]
fercrerar fagia, ... fagia oft swgemar §-

(a) Tsai Hill/&é fget

(b) Tsai-Wu/@TE-g
() Rankine/ A&

(d) Tresca/";@ﬂ

(a) Toremove silt/ e fere & fore

(b) To control floods/aTe =i = H & fag

(¢) To store water/STel TR HH & faIg

(d) To raise water level/Siel TR g & fog
Ans. (d) : T8 F T B T § A & forw Fo 5 ofi
g 7 &7 ¥ S el e & S 8, 39 SIuadq g%
T Fgd 1 TR A F SR-IR Th FA S b dAR
T TE & I W FEEE (Regulator) &1 fmior famam
ST 21 STUad §S a9 F W@ S A4 & A qd F
TSI BT @ M T H U e ¥ g9 o Gk

Ans. (c¢) : fatherar &1 fgia— 58. Stress developed due to application of a load
Sfrhad  §©d  Sideel 1| Rankines theory suddenly is time that due to same load
faria being applied gradually.
: R o FAFh T T ok HRUT I
Wﬁ. Tor fapld 1 ST. Venant's theory fereret, SH R &Y e T W W sa=
: Fferaret il T | .o -
SMRIhdH Had Taedt [94id | Guest & tresca's theory (@) 2.0 (b) 4.0 ET%(d) 0.5
b fapfd Foif fogid  |[Haigh's theory Ans. (a) : [l [0S & THE e%d W F@ FH A
sfehad  ®dq P S| Henky theory SR FUE a6 B A Fed &1 R five W S
i FI¢ clie IS ol @ Al 39 gHG Sca=l feel
55. The most reliable field test to determine the ||fR-¢fR T o @ie & RO 3= Wfoaa ¥ AW 2
bearing capacity of a soil is RIS
i i aﬁ:ra; ﬁ""{ K 59. Virtusa Corporation tied up with to
qaiieren e & ader |- organize the grand finale of the Second Edition
(a) Plate load test/TIE IR TeIoT of Carbon Zero Challenge. )
(b) Cone penetration test/TiH e TR wEA S TAT h W?‘ pER LTI
(c) Direct shear test/Sce] 3TTETUT G0 T AT A & TTT, ST o= 4 ......
(d) Sounding test/faffoar weror & WY R TR §—
Ans. (2) : @ R G0, §I H T GROT GHA I (a) 1T Delhi/IIT feeeh
FH H T TH GOW S ST g Aol WA (b) IIT Bombay/IIT aifel
ofieror 21 39 qhenT ¥ §OEAT 0 geAifad e ff W (¢) IIT Madras/IIT #5TH
forar ST 21 39 iRy & fU us s @R # g8 i (d) T Kharagpur/[IT TETER
STl /el 25 mm, AT AT 30 cm x 30 cm 97| [Ans. (¢) : S 2019 I eaq g T SaArers
SARYHTT WG 75 cm x 75 cm BT 2| IS5 T FARRA 3 e R o, T hEa
56. The fall which is used to minimise the ||Rdd TamR iR Saftr sfaaif & 35@ WUT + I
disturbance and water impact at the fail is- fheTer 1 3TESH fham | ENER) 3@3’5[ qd H el 3R
AT (fall) ST 98 UehX ki OT &, N0 wama= | |gafenoiia gaenst o ga &0 21
&% T U faey o ST UHTE I IHET| 60, Where are the Andaman and Nicobar Islands
A o T wanT fan sar 3— situated? .
(a) Rapid falls/dsr 9T Ieu 3R frener giu HHE hel Teora -

(b) Ogee falls/3TISTt SqTT

(c) Sarda Type falls/HRaT FhR JUTd

(d) Inglish falls/3ferg Jard
Ans. (b) : 39% ¥ fiRd gU 91 & foeiy a1 Hoee & &9
F % o SIS JUm e S 81 48 Yo fRd g O @
SfeveTe ¥ SR SN T GOl SEH T 2|

Water Level

_____________ N

Ogee fall

57. The main function of a diversion head works of

a canal from a river is

fordt 7t @ e ool X ¥ TS 2
e gEEd: = feh ST §-

(a) Red sea/dTed €T

(b) Arabian sea/3d HI'X

(¢) Indian ocean/fda HRETR

(d) Bay of Bengal/sTieT & @rgl

Ans. (d) : 3feHH R f=leR €U 9yg 9Rd &
FEET RV 21 9% e werR § M @l &
afeyolt amr # MR R aEde & fwe fiom g1 gwd
A A7 TE W §- 3eHE 9 iR FEER fv g
Wﬁﬁﬁﬂ@@aﬁmﬁﬂéﬁﬂt%ﬂﬁ
F iR e B o ST

61. When an owner can borrow money against the

security of property and interest is paid, then it
is called as

@, ot dufew o yenyd ol U
SUR & Wahdl ¢ 3R 36 W a9 &1 A=
UM, AT TH T hgl ATl F—

RRB JE Civil CBT-II (28 Aug 2019) Shift-I

12

YCT



(a) Freehold Property/‘ilﬁ A e i

(b) Mortgage/s&i®

(¢) Leasehold property/9g T & T Hufeq

(d) Lease/dgT
Ans. (b) : S T3 SR TN WA I fRE 3T Sl
a1 HEE F TH T B 3§ W PP ORI dd & T
freifa smafy & soa =9 9T P A g @ 9
U Hed & | FUT &4 ATl Al S Sl (Mortgagee)
T U1 O AT Al 1 S bl (Mortgager) Fgd
g1 mo geeft fafed sEm S W (Mortgage

Deed) & 2|
62. Which of the following represents a
circumpolar star?
PR T R AR w el e -
(a) Altitude at upper culmination is minimum/
ST ATH
(b) Both upper and lower culmination above
horizon [ ,
S7SES
(c) Both upper and lower culmination below
horizon/SW 3R faa a1 R fafest & =

(d) Upper culmination above horizon, lower
culmination below horizon/fifes % IR Hady
fo, fafasr & = feen faw

Ans. (b) : 7t T forddt everrer Y & fod uRydt awr v
AR &I el ST 8, S 3§ W1 | Rgd 2@ 91 & fow
it off Rifest & F9 o T @ (RS & $W) 98 Faa
TY aW % W A 8, S e Mo & el g &
I E E

63. According to which theory of failure does the

ductile material begin to yield, when the
maximum principal strain reaches the strain?

& U, AfUHAT
e fasfa & fagfa a6 wges W a= vt
Tt WY W g g o §—
(a) Rankine's theory/iﬁﬂ EIREEAG
(b) St. Venant's theory/S< e 1 fagia

65. A beam 10 m long, fixed at it ends, is subjected
to a UDL of 10 kKN/m. The fixed end moment is:
I U fRerm &t T8 10 HieX st Uek sftw 10
kN/m & UDL o 37efiT {1 eTarg Rl u¥ strequt
feRerT grm—
(a) 125 kNm (b) 166.67 kNm
(c) 83.33 kNm (d) 100 kNm
Ans. (c) : f&a 2,
/=10m
w =10 kN/m
10 kN/m
A B

M = 83.33 kNm

Keeping in view, the feasibility order of
magnitude, the preliminary, conceptual or
budget estimates, are prepared by ,

qeier IOT SN STIH, URHTUT i HGEEar

Y AT B TR ovvnne BN IO TR o &—

(a) Construction manager/f-mfoT Faiereh

(b) Owner  himself/herself/aifeis g1 @&

(&l/9%w)

(¢) All of the options/fasedl # T ooft

(d) Architect/engineer/aTehIy/ ST
Ans. (b) : T (Owner) ®1E ot =AfF, T a1 THH
foumT & gar 31 Tdvem wifers IRASHT # Hehou
FAT T AT YR GEA 9 FHT THAA F 2|
aifere GRASTT & o aTel €9 1 SaeT Bl @ adl
Tt forfr Sifem 3arn 21 @' ORESET i gRfeT 3 &
fq s=fifRR @ 3R &1 W AfREl ¥ A ¥EH

LT 2

66.

(c) Guest theory/ﬁ@ EPTEN 67. Helium atom has electron(s) in its
(d) Haigh's theory/&T &1 fagia outermost shell. 36 R & e
Ans. (b) : 5@ FE Terd 31T WHE Yfoad W T Sl o TR B -
R W S forbord s T g SR @1 R ganE & () One/TH (b) Three/d
forerar stfoshem g wftee R @ P& & fagra (c) Four/aR (d) Twordl
T G721 GRS Y fercherdn ik qed faspfe Rrgr @) | |Ans. (d) : Sferam ] @ e Fa § & soeeE e
T e fagra & SFER g 2| 21 FEvE § gRSeH & 918 9% quU Gaiye wE i o
64. Who is the Chairman of the 13th Finance || aTel & 2|
Commission?/13 9 Toret ST & oo |68, In building estimation, the specification are
- classified as/¥d= ATerchclH ﬁ,
(a) N.N. Vohra/N.N. = fore g Faffehe TeRar STaT -
(b) Bimal Jalan/ferel STe = (a) General and detailed specifications/
(c) C.Rangarajan/C. TRISH Q= 3R forega ﬁﬁ%{’;"{
(d) Vijay Kelkar/fas= HeAHT (b) General and preliminary specifications/
Ans. (d) : 1. 559 Ta. Foa 139 o N & 1e HHTT SR SR ﬁﬁ%“
o e e1af™ 2010-2015 ot 1 ggenm &9 ST 1951 ® (c) General and secondary specifications/
F4 franht ot stemgar § wfed fFar mn o adwe § =
(15af) ford SR & oeay W&, fg s 21 fme (d) General and valued specifications/
FEFA 2020-25 Bl HE
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Ans. (a) : Y99 JFheld 7 fafyfteat &1 SR i 8l 2-
() e o "= faffedt  (Brief or General
specifications)

(i) forega faf¥ifieat (Detailed specification)

g fafefeat @i dv w fmio s &t yer, Sl
£l q SRR 6 T W T STer ¢ Sl
forga fafwfeat fmfor &1t & s@% 72 &1 f 3 W=
o el 21

69. In roofing sheet terminology, CGI means

: : o, CGI =1 &= iy

(a) Corrugated Grating Iron/HGICS AT TR
(b) Coated Grating Iron/®ICE AT oA
(c) Corrugated Galvanized Iron/HTIRE TeaTgss

SR
Iron/&H1es W

(d) Coated Galvanized
A

Ans. (¢) : BT 960 ¥ TEfYT TE@ T8 & 0 &9 7

TR &

CGI - Corrugated Galvanized Iron

AC — Asbestos Cement

FC — Fibre Cement

MS — Mild Steel

NAPRC - Non-Asbestos Polypropylene Reinforced

Cement

70. Which of the following members is/are
subjected to compressive stress?

|1 3uiT, Hiied ufaee o 3nefiT -

(a) Pillars/fyerd

(b) All of the options/fcdl & & Teft

(c) Columns/®ieH

(d) Struts/¥ZH
Ans. (b) : TFET 3T 5 =T % 9 I A § S
T W IS I 3l Hdigd o 98 &d &1 HieH,
e, fyad anfe gufted sui wea &1 gndied U &1
ST FIE GABA JT A THI T 3T 1 e R
fsxt % fow et T8 &t S 1 37 9R T ¥ WS
1 Hebel &l ferdl ST 21
71.  Which is the natural satellite of planet Earth?

TE geeft T UTehfeeh SUUE HI-|T §—

(a) Kalpana - 1/s¢9-T - 1

(b) INSAT/EHH

(c) Aryabhatta/3Tsg

(d) Moon/==Hl
Ans. (d) : 9l %1 (HUH THAF STE TSAT 8, A
oft fahe gedt & FBW W @1 gt Rl o W
& TR R IR F ATl %] F ITE & ®9 F A
ST B
72.

In a fixed beam of span 'L', a concentrated load
'W' divides it as 'a' & 'b'. The fixed end
moments are: 'L' STelt Ueh 3MMeg O

#, TH HaGA 9R W' @ 2’ ok pr #
fawfsm o @1 wg Rl w oemut §@
HitT—

(a) (Wb%a)/L? & (Wa’b)/L?

(b) All of the optionsfﬁﬁﬁ?‘ﬁ 7 mefr
(c) Wb/L & Wa/L
(d) (Wb?) /L & (Wa’) /L

Ans. (a) : w
M, l M,
) [k,
g{—L a —:H-(—h—\-)E

@WABWWLH%T@A%aEﬁ@B@b
T W TF Ghfsd IR W T @ 7 a5 RR W ameui-

2
M, = Wab

73. What is the coeffcient of restilution (e) for

elastic impact? .
eI YT o T Ueameenu= Tuiish (e) ST

(a) > 1 (b) 0
(c) <0 (d 1
Ans. (d) : T TN F I IR F & T AT IR I
T T FT SFIA TR T[T FHeardl e
Coefficient of restitution (/) =
Relative velocity after collision

Relative velocity before collision
QAT O (/) H WA WA 0 ¥ 1 @ 2l
TARY TFR & T [ &1 1 q9 Qiaan sTemy
TFR & o 0 & 7
74. If the soil has a very low bearing capacity and

still if piles are not a fesible option, then the
best choice is

Tt firdt st auT 41T aga & & oK fRT off
afe urger e faswen T & W@ T wWE W
et e s grmm—
(a) Strap foundation/@q CIE]
(b) Individual footings/gfSeraTer BT
(¢) Mat raft/ie T
(d) Combined footings/Hge TI&
Ans. (c) : 9 aT 3 GROT AT agd W @, (T & §
o S g S &, 9 Sol-ER S i @
79 U Raffd § doe a1 2 i ged sugE ud freer
firg B 31 39 YR I g H R & # o A i w A
et G e o STUR Wid 2 & S 2
75. The maximum eccentricity to be considered in
a R.C. column of length L is/L T@TE dTet Ueh
R.C. @9 # rfireran feromuiter Scehgar fepert
Bt §—
(a) (L/400) + (lateral dimension/25)
(L/400) + (ared fomm / 25)
(b) (L/500) + (lateral dimension/30)
(L/500) + (ares famm / 30)
(c) (L/500) + (lateral dimension/25)
(L/500) + (ared famm / 25)
(d) (L/400) + (lateral dimension/30)
(L/400) + (ared fomm / 30)
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Ans. (b) : 2tfl'rl'ﬁr Ieh5dT (Minimum Eccentricity)
5(1)0 30‘1'{ﬂ KA 20 mm AT FAAH
ISl 0.05D § e @ 79 T @ve o WR 9
b A1 o 37 B
Tl [ = T P -3l (Unsupported) TS
D = =¥ 9T¥d A9
76.  According to the Indian Standard Institution
(IST), what is the size of a A3 sheet in mm?
TS GEA (ISI) o 3TTEAR A3 ¥fte &1
e fordt o s &—
(a) 189 x 841 (b) 297 x 210
(c) 841 x 594 (d) 420 x 297
Ans. (d) : WWW(ISI)% AR SR Hief
% 3TN 7 TR o o &
Ap=1189 mm x 841 mm
A; =841 mm x 594 mm
A, =594 mm x 420 mm
A; =420 mm x 297 mm
A, =297 mm x 210 mm
As5=210 mm x 149 mm

77.  The type of valve which allows water to flow in
one direction but prevents its flow in the
reverse direction is/aTed T IE WK, Wl W

= T fom § gl @ I ¥, AR et

feom o yafea <@ & <A, W e B

(a) Reflux valve/3TaY aTed

(b) Air relief valve/arq fam== area

(c) Sluice valve/&gd dlcd

(d) Pressure relief valve/ae faa== ared
Ans. (a) : 98 I S A B [HE TH & G § vafed
T F AR I T, U AT A AT el &1 T8
T Sl dred Bl @1 < died T & e u1gy
(Delivery pipe) W, RRIAR i i 3% UET (Rising
Mains) & U R, el H IR FHA TG BT & o
R W T S A faadd faen § s vanfea de) T
7 HieX i &fd T WA |
78.

€min—

If the soil is of expansive type, like in Black
Cotton Soil, then the best foundation type is

e Ut FET St TERT Wi @t g @

fearfer # wegert =g o wElTH YeRl i @1 &

(a) Under-reamed pile/3et-{e agat

(b) Friction pile/‘qﬁﬁﬂ RIESN]

(c) Batter pile/a?( RIES]

(d) End bearing pile/tg foafiT et
Ans.(a):wmﬂﬂﬁwqﬁﬁwﬁﬂfﬂ
e ST 21 Fe U UE U FAedid gar et & S
AT b G § I W ST %ol W @ 3R ga
it § ffes fogem s & S ¢ R oed W
I3 N TRT FA 2 AfHA e I UEA F Few, AW
(anchor)Wmm%mﬁ%Wﬁ%qﬁéﬁ
LT T T o7 el 2

AN

Bulb

%}/

The life expectancy of aerial transport system
(rope or cable way) is usually

(Tt = et unt ) @
Site Temem T ... et §—
(a) 1 year/1 G (b) 5 years/5 G
(c) 100 years/100 a8  (d) 20 years/20 a8
Ans. (d) : $IA JRIET Teh IRTET 1 FhR Bl & forad
a1 fomfor Seer a1 W g fe S @1 5w
Raga #§ TR T GEH A TH WE F TR WH W
fST9 aTe g0 o S S @ 39 ool R ded &1 UE
TRrEl &7 e Ssaael § S =R Bd1 8, head ;@
T IReed guelt staerh S @1 uRae aReed gomett
# T o1 et ANt Y SHEA Searen S 20 a9 gl 8|
80. The rate of construction of a hospital is

expressed in terms of cost per head. This type
of estimate is called as

AT & fmaior & X wfa =afed @na &

el H e i WA €1 39 YR o AJA i

T el WAl §—

(a) Cubical content estimate

Hlkeheld

(b) Plinth area estimate@'@f S JTeFehel

(c) Functional unit estimate/&TATcTh SHTE 3T

(d) Approximate quantity estimate/ﬂi{qﬁ'rf HET

STHH

Ans. (¢) : Eqpicy g'él-Tl'sc JHTT (Functional Unit
Estimate)- Fa@® e A fafyr ¥ 5 Project
Ef?fRoughCostSWHEﬁWﬁ)[%I g fofy d g5 &
AT SRS SRR HT A HA AR SR e
fad @ 3fd FEfE® IHE O B FSEE dH
AN T H AT B
81. A flow is called hyper-sonic, if the Mach

number is
et &, A yaTE W FEw-

afe HeR W&
Qifreh el ST 8—
(a) More than 6/6 ¥ 31
(b) Less than unity/Tsh T 59
(c) Unity/Ush
(d) Between 1 and 4/1 3 4 & o=
Ans. (a) : VI 9 q91 TR 9 5 H
A T HEeAr 21 3Ffq T T

Mach Number = /Viscous Force
Elastic Force
Ife feh G-
1 ¥ 9 - Y18 H9-Tish
1 % SR — YaT8 Wi
1 9 s - g 9ife
6 T IR - W Tih

79.

........
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82. The short hight wall constructed above Roof

Slab in open terrace is called as

it B H ©h & I fafta siet 3o
ht ST S AT el ST E—
(a) Partition Wall/fqursiss <iar
(b) Plinth Wall/4f €eR
(c) Parapet Wall/ﬂ@? EIRCICIN
(d) Boundary Wall/=gR&ard
Ans. (¢) : I9T B & &Y fHIRI W IR T T HH
OE AR 30 cm ¥ 60 om S GO RN S @
59 42T €aR (Parapet wall) F&d &1 309 ®d ¥ =l
£ N WT T WA | WA b A H T X
ZaR % WM W 38 31 AT (Railing) @ & ST 8
e e & geaxar & afg 2t 2
83. Bar A and bar B are made up of the same material
and are of same length. But bar A has diameter 'd’
while bar B has diameter '2d'. If both are
subjected to same axial load, the ratio of strain
energy of bar A to strain energy of bar B is: )
A 3 B A @ B, o B o ¥
3T |qHTT weE W, ART BT A H AR
3N B B &1 O 2d ¥ Ii¢ I W qHE
21efir R T ATeT §, O B A iR g Bl
forgfa STt o1 ITUTA AT HIFWT-
(a) 4 (b) 8 (o) 1
Ans. (a) : Given that-
LA:LB,DA:d,DBZZd,PA:PB

d) 2

84. Minimum voids in aggregates can be obtained

by using-

et ¥ =gean Rfer

it AT Tehelt E—

(a) Manufactured aggregatesfﬁlﬁﬁ EETil

(b) Aggregates of varying sizes/[a¥ JHR & T

(c) Aggregates all of the same size/FHH 3TN H T

(d) Aggregates of the same shape/SH 3T H Ty
Ans. (b) : forea ® fafe= w10 % Fo7 1 e =g
Rfsm o & S 21 59 SR A e s Sofie
Fed €1 avfieer @ fagr 98 8 % frema | fafs s
FI Iufafd 9 YR B =feT @i I @i & Rt
# B H0T R BIE Fil H A § 7T F07 W >
3R Fe fsmdr 9o a9 9 e & gofie

.........

85. DPC means/DPC T YU &9 &RIT §—

(a) Damp Prevention Course/SH frem g

(b) Damp Plain Concrete/S™ & FHiE

(c) Dampness Permeable Concrete

gfHuaa Sl

(d) Damp Proof Course/S™ % £
Ans. (d) : DPC &1 Tﬂ‘ &4 Damp Proof Course BT 2|
78 9o § e F JhaT §1 A8 FE a9 W 25 mm
40 mm R # & Wa % §9 # e W 81 DPC %

M-20 (mézsjﬁgﬁmﬁzqﬁvﬁw%@sﬂﬁl

Kg ¥ o & & § a-we 2Aifie freren w81 DPC
& m® H 7197 S 2

86. Out of the four processes listed, which is the
last process?

& T 4 wlsmasht ® |, 3ifaw wisham @i o 8-
(a) Hardening/Ha3MIeuT
(b) Evaporation/arsdienur
(c) Compaction/&g=4
(d) Setting/¥Mqq
Ans. () : Sehie # 0T § IF 3TUST Fsha 1 A
fore -
Compaction — Evaporation — Setting — Hardening
87.  Which of the following statement is not correct?

TR | W AT HAT TE AL e

(a) In seperate system, the design of sewage
system is economical/3gsh JUTTert ﬁ,
fowew &1 fesmea formrad g 2

(b) As the sewage is diluted by storm water in
combined sewage system, cost of treatment is

low/df% ¥ dios yomelt ¥ G auf s\
G A B Sl 8, e SUAR B AN HA
2 St 2|

(c) In seperate system, self cleansing velocities
are easily available and occasional flushing is

required/g9 T §, TENed 7 @M I
TE @ W € e Ff-mef v &
YT Bl 2|

(d) In combined sewarage system, one set of
sewers is laid for both sanitary sewage and
storm water/¥ [

diasr o ot 5/ e % forT Gew w1 T 4
fersmn s 21
Ans. (c):qW'{ﬁﬂTuﬂﬂ?’ﬁ(Seprate Sewer System)-
(1) 99 ol SO W 8, Fiifs afed 7 & for
AT ¥ HH AW & Yol UEY ST WId § N an
S B e et § sig @ S 2
(2) dias & W TEAT S H qAT H 957 e 8,
3a: dios TR §9 W %9 YR USd 2|
(3) = Hos F " H, 24 =Sl § aga i uRadq
2 3 Y YA § 99 G’ # w@d: e am
3 T & U 7 3N g T e @l I 2
Wg<h HieX WUTelt (Combined Sewer system)- 3§
Fae § Afeh o R qwr 9 # T & @R

IT 3Tt 81, hsbie &1 GhrddT 3a-t & Tt g |

erfed fehar ST 2
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88. Who presented the first Union Budget of

Independent India?/&ds 9RA 1 UgT

wote feramr Uyt fepam em—

(a) MorarjiDesai/lﬁ'{T(Trﬁ LRI

(b) John Mathai/Si 7

(c) N. K. Chandra/N. K. 951

(d) R. K . Shanmukham Chetty/R. K. SH@H =&t
Ans. (d) : 0T 9RA B TBA B3I TS AchICA o
T AR, &, IHEH FqE BN 26 TR, 1947 FH 4¥ R
T o7 YA § oI & Sk YT SR S faede o
IR H G 2k 9N oS (Budget) U3 A 1 R
RS 3HE % A9 W 81 ARG Sfaes & e, 112 #
IRA % Hg T hl afe foxiia foawor & &9 7 Ffdy
e T 2|
89.

Combining two or more plots as a single plot is
called/ar =T el T
YW TN S T FHET STar g—

(a) Bifurcation/fgHrs

(b) Amalgamation/TehHuT

(¢) Building setback/fafor aremd

(d) Frontage/3Td 41T

Ans. (b) : 9 & T WM T T eF BIE-BR TFE H
e T @S S o HRAT B U FEd §

90. Steam curing is used in

WIT 8 Al feraw ferarm Smar &—

(a) Long slabs and columns/dl T 3T &Y

(b) Columns only/&Hael &l &

(¢) All of the options/fasedl # T woft

(d) Mass production of precast concrete/

FHehie & 92 UHH W 3T
Ans. (d) : 99 TE F @Rd TE A FaI &1 W9 5N
mmm,maﬁwﬁwa{@ﬁﬁé
Y T FIe BB 9 ST 21 AT qE F bl 4-5
28 fa o gmed #1 70% T W F AR 2

Cov4

ﬁﬁmﬁmmﬁﬁaﬁél

In split test, the nature of testing is
q=rar gferur W gfterur st wemfer Rt

Tt B

(a) Cylindrical Specimen is subjected to axial
compression on its cross sectional circular
surface area 39% ST Bl
% gaiig & & o W W g deq
& 37 g 2

(b) Cubical specimen is subjected to axial
compression on its diagonal axis/SIhR =T,
zaeh fooifa ey W e wdeT & ordA
B 21

(c) Cylindrical Specimen is subjected to axial
tension on its longitudinal curved surface

area Wta%‘{%%

Wma&ﬂﬁ?ﬁﬁ%mm%

(d) Cylindrical specimen is sujbected to axial

compression _on its longitudinal curved

surface area A = T

TS % Gha W I Gdled % o1 B 7 |

Ans. (d) : GE< Hhi B d gHd T HA H (€

feeafeT a1 adteror (Splitting Tensile Test) fopan S 21

FHE H T GEA THH HR THA F HROT 9g7 HA

et 21 foete T T § 300 mm FAE T4 150 mm

G 1 doER Sfee dd &1 gmed @ g &

fIT 59 U @thel W EAfied WX oA S 81 g
Wmsxﬁ?ﬁﬁw@w%ﬁﬁzmw%

Splitting tensijle strength test
The ratio of the head recoverd to the head put
in, is known as/9rad 3T & U
Y T T ST §—
(a) Sensitivity/FATEAd
(b) Modular limit/Ager® AT
(c) Flexibility/a=dr
(d) Efficiency/<&fdr
Ans. (d) : T ¥ qar 3 IS F1 S 3e Do 2|
T A 3 FROT ¥ O @ B9 F IRor ya o we
e i § W T § ST S 100% § FH & I 2

2T (1) = H;{Hf
Trl'tﬁ Hzﬁﬁﬁ‘éﬂ'ﬁf, Hf:"i’ﬁﬁ%'rﬁ

92.

93. The hardest among the natural stones listed
here is/Z&l et |t
Halfireh waR gl §—

(a) Granite/J-TgS (b) Limestone/gT I
(¢) Marble/STHTH (d) Slate/=i
Ans. (a) : wsd FAIER, TR q9 @ 3

¥ IEe a9 FHIX TR B 2 fr:rrs'a
TR & A, fafdema, srafa gee 9 e S
3| T R & A 60 ¥ 80% 7% A 3 Ud W
SEINT 0.5% G o HH 8T 81 IAES TR FH gl
gmed 770 ¥ 1300 Kg/om® o St 81 3918 geR
Gt o Tebrelt St b forw ST & 2
94. In order to determine the effects of a force

acting on a body, we must know
w T o FHTE T Feier

w0 & forg, g 1 BT =R

(a) Nature of the force i.e. whether the force is
push or pull/siel I JHfa = & a7 wahr @
RINECEIC]

(b) Magnitude of the force/sie T GRHATIT

(c) All of the options/fasedi # T woft

(d) Line of action of the force/aa =t fsham @

..........
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Ans. (¢) : 5l fyvs | kA 5l aa1 & T9@ &
fufor s & fow 9o & aftamn, frear War qun sy &
HEATTHAT BN & | T T Wy T 2|
95. Under what situation will a gusseted base be
provided in a column?/3TH % fra feafa o
TALE MMUR, WY | Jaq fepam wreamm—
(a) Column size is larger/GI%T Y & MHR 8T &l
(b) Column carries lesser load/& 3TUemHa et
IR FE F ¢
(¢) Column size is smaller/Si &1 THR BT &
(d) Column carries higher load/&9 ﬁw 3
R T8 '
Ans. (d) : T 3TER ;T SR 7Y TS SR
2l YN 1 BT 2 | WA AR & Refy § i e a9
I 9R # Rafd § THe SMER &A@ WM 21 &Wie
YR § W F G HHT FER ©E W A § SN
THE YN Feel § W H R THE Wil UH i

TTEll g STER W R 3FRa Sl 8 |

96. Which method is adopted to develop an
approximate or conceptual estimate for
perimeter works for buildings from the
following? i ufefiar f &
I a1 Tefich STTHE daR & o T
T0 @ forw faRr et T R e -

(a) Cost per linear metre method/aNTd Jfd g
Hex fafyr

(b) Base unit method/Je e fafy
(c) Cost per square metre method/@FTd Hfd it
Hex fafyr

(d) Cost per function method/@rTa wfe & fafyr
Ans. (a) : 3ARAI & OURE FRT & fAU s
émﬁmra@mﬁwmﬁ%mmqﬁ%@mlﬂaw
T fa ST 2

98. The type of hollow used when there is an

elaborated window opening in the wall is
o foredt dram & et sfafs St &,

ar ferT WeR & BTe (hollow) T SUAT feRarm

T §—

(a) Pillar block/fYeit scifeh

(b) Partition block/dEI¥H s

(¢) Jamb block/3w siich

(d) Lintel block/feiea scfsh
Ans. (c) : @R a1 fagat ok F gol @F (Openlng)
3 TrEel § TR S At AT S e ¥ A
wﬁwﬁwﬁwﬁmmﬁaﬁs@xﬁmﬁwaﬁ
Ife freft I W & @ el @ fawt s (Splayed
jamb) ATl 2

Hold fast

wall

99. The crossmg angle at the level crossing of road-

rail crossing should NOT be less than
TSH-IA TG I AAA-THIET TT TR

Eobi W &I TE A enfe—

(a) 30° (b) 45° (c) 20° (d) 25°
Ans. (b) : TSI IR ! ATA-SHIT T SHIGT HIoT
45° 9 F & BT AT
100. is the ratio of the volume of voids to the

total volume of the %iven soil.
, Rferaantett & aa=T &1

BT 8-

..........

.........

(a) Void ratio/Rferiar srurd

(b) Porosity/HTdT

(c) Degree of saturation/Hgftd sl #HET
(d) Air content/arg 391

97.  Which of the following wall is constructed to ||Ans. (b) : < fve & gt Refd T & 31 (V) T
resist the pressure of an earth filllng" qa AT (V) &1 A, T (Porosity)
¥ WU F I H WeA HA F 0 90 A | [FEAET 81 39 n ¥ w&f¥iq F 2
fora e st fomitor femam rem &— ~
(a) Parapet wall/HeX $aR n=
(b) Breast wall/sie are 101. M10 grade of concrete mixing ratio is
(c) Buttress/Jdl &ER approximately
(d) Retaining wall/Sfiieme dar M10 315 & mﬁw o WA W ST
Ans. (d) : 5, et e, a1 S19ar T FER F I E(a' )' '1 '. 3T - ) 1:1
T F A T T P O s AR i (c) 1:2:4 (d) 1:5:10
P e 11 R 3 57 3 1 o [+ 4 A T T g e
% g S S 21 SfuRe AR de, R, @i M75-1:4-8
3o eferd difie e 1 & gt 21 MI10-1:3:6
: MI15-1:2:4
5 M20—l:ll:3
2

(Retaining wall)

102. What is the full form of BCD?
BCD & YUl &9 &1 §—
(a) Binary Coded Decimal/aTg{ &iee SHHA
(b) Binary Conduct Decimals/aga{ $gae S¥md
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(¢) Binary Characters Decimal/aTg-t Ercaalcrit|

(d) Binary Coded Digitals I hies i
Ans. (a) : BCD & U1 &9 A0 dice U 2|
BCDWW%W@WW@WWW
2 e g 3 1 A g & s iy dem s}
Tear ST 21 BCD # 4 fe ¥ Y% 3id qwid S F,
S 0-9 % & TR=TIH B 2

106. How many angular bleed lines_are present in
the 200 rupees note?/200 9T &

wi sefig wg vieg -
@7 (b4 (©) 2 (d) 6

Ans. (b) : R5d d% 3115 gfrsar g I 200 F9C F T
W 4 FT ciis A HioR el 81 & Gt % Al W F=

WU R @1 S 39 T wieplas e @i 21

103. The cheapest way to prevent the formation of
diagonal bottom corner cracks in windows can

be prevented by
Ragfrat o fawuia: foe &9 § TR T o
R B e e A = -
(a) Providing RCC frame all round
rectangular opening/3TAdIhX
TE RCC 7 T&H &

(b) Usin, Concrete blocks for wall instead of bricks
% forw €31 & o Fehie <l F ST FEA
(c) Providing circular shaped window openings
instead of rectangular opening/3ITIAHR
1T o ST el foet SMafr Ja e
(d) Providing Sill Beam/fie &9 &M AT
Ans. (d) : 997 % Gl WHE 59 @, faefwal st &
= % 9 A fAd a wa Fed 8 faa Rasfe §
fapula: freet SI9 # S g9 ¥ bt 21 el @R
Uehel 1 I8 T T b B1ar 81 e o W i
1 SR ST B
104. Cavity wall is generally provided for
gt dam faT we= =it
et g—

(a) Prevention of dampness/:ﬂﬂ F ThA™

(b) All of the options/fcdl & & Teft

(c) Heat insulation/SSAE

(d) Sound insulation/&af3-Ter
Ans. (b) : @ T, FEN-UET T TH H THIH &
foTq Shfeel =1 wielt €am &1 formfor fopan s 2 | @iEett
& & 9 H S S 2| AR & & A o o §
WScmiﬁgTWWGﬁT%I Y & 9 10 cm
T qor e F AR 20 cm AT AETAHAT B T
Tog off 3ifye AT & TR 81 HLEAT @1 TRgU] AR ST
ATl SR W & A R
105. Modular ratio is the ratio between the Young's

modulus of/.......... & A & HUh eT

IJUTE, AIGER STIUT HgeTTal &—

(a) Sand and steel AT 3N T

(b) Steel and concrete/SE 3T e

(c) Steel and cement/3E 37T e

(d) Concrete and cement/&sie 3 Hie
Ans. (b) : AU AJUTd (Modular Ratio)-g&d1d da1
FHIE F JeIRIdT il & U I AIGIH ST Fad
£ 38 'm' g wef¥fa fohan S 2

_ SHIA ohl ATl 97

T 7 oI T TG T

the
F

............

107. The beam outside a wall up to the floor level
above it is known as

T Y 3R SHeh W WIt & WX
R ST ATl st Rl SRIT Shal STaT §—
(a) Lintel/fdfea (b) Purlin/afefa
(¢) Spandrel/E=e (d) RafterReX

Ans. (¢) : 'Fﬁ?;?vr &R (Spandrel Beam)-w3f &
Perimeterﬁ@ﬂﬂﬁﬁﬁ%ﬁ%%ﬁgl%m%
TR & o FET B 2
qfedq (Purlin)—7@ T gufied 3f9dq @1 ¢ S @
Tl H, @HW(Covering)ﬁﬂﬂﬂéT@ﬁ%m,
e i ol fawm #, [T TR F IR A S F
AT (Rafter)-a8 S Hl 94 & foqw, st o<t
ferem & e S €

108. Air pollution from automobiles and industries
can be controlled by fitting
3R W 3 9T YUl i
......... TRt e e T wehaT S—
(a) Catalytic converter/3oR® URadeH
(b) Wet collector (scrubber)/7H HAEH (HhaR)
(c) All of the options/faeedi # T ooft
(d) Electrostatic precipitator/fed é}qa TR
Ans. (c) : SRS R ST § I a1 ST H
‘IoRS UReds Rud g AN T8 TR (79 HIES)
TR RIS fepam ST Heba 21
%Ves

109. Which among the following ministries
Medini Puraskar every year?/fefoifaa
HH-|T WA Fioad AT THRR TaH HEl §—
(a) Ministry of Environment and Forests/qafar
EEEEICE)
(b) Ministry of Finance/fam #arer@
(c) Ministry of Law/[ HcTd
(d) Ministry of Culture/S%pfd HaTerd
Ans. (a) : HfEH QEEPR qAlEOT SR A HACR ERI
et v SR A W, S g e g s
F qa FE H Aeied A U A o
qﬁaﬁf T8 BN S&H A S 2
110. Kanchi was the capitals of

.............

(a) The Rashtrakutas/TTsgshe
(b) The Cholas/=ra

(c) The Pallavas/Y9eeid

(d) The Chalukyas/Tc]sH

Ans. (c) : Hdl Jood a1 S ToET off e Geemis

m=Es fergfemy ami
E, Y@ USG9 T 3! ToTg-
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ER) REBIE

QTN H=Raq

ElERIEN At srert

o Fw TefagT

EEICN NG

e Fw ENIGIRS LR

111. Honeycombing defect in RCC members is
caused by/RCC f&&dt W gierittaT <19 ferden
THIT ST Bl §—

(a) Chemical reaction/THrafe A¥fshan

(b) Shock waves/THTd T4T

(c) Poor curing/GUd T

(d) Inadequate compaction/aTCI?ﬁ"H geaq
Ans. (d) : FHT & HueH H Fod qg e gwE,
T 9 I S 2, A SHH I e § e e
B L I e e e
Fenie it g wH o S 81 A FHe H 19 9 T
®© S & o deie B amed 5% (AET) %9 8 S @
T 59 9 T 5% W@ S & af hehie H qmed 30%
T FH & S 2

112. Which of the following lines are used to show
that the object is cut and then viewed?

for Ymedt w1 SuET O fomm & fog femam

1T & TR Sifeciare aht shTeeht ST T -

(a) Hatching lines/afT g

(b) Centre lines/&% @Td

(c) Leader lines/cleX argd

(d) Hidden lines/f&dt g% W@t
Ans. (a) : Hatching lines—g-1 T fRdt g% ar
Yae B et @ & forg fehan s 2
Centre Lines—7€ @Ug & & 9 # i &t 21
Hidden Lines—fdt @ve ¥ Udt Wad st 999 §
femret 78 2 } weg amas § 0 2 ], 3¢ Hidden
lines T E¥IAT STT & |
Leader Lines—38 @M &l Item & SET 9 29
(Text) & o qraws Thfid s 2|
113. Reverse Osmosis is a type of

IR I Teh WahT ohl

(a) Dead end filtration system/Tsheq 3ifaH fR ™

e e somedt

(b) Ton exchange method/3TEA fafamar fafy

(c) Cross flow filtration systen/sHg-5all FREIE JoTel

(d) Micro filtration/§&H [GESCE]
Ans. (c) : SGHT THUT, Y Tl heetd SUTel H T
TR 21 Rad rafed (RO), 3teeifhedyH (UF) 3R
EHIhee M (MF) faftme sia-wall freie fafert & <
MHR & YR T YUFHIT H T T o A 37T

............

(b) An increase of phytoplankton increasses
scattering in the green region/9Ied wideh
3fg ¥ el &7 & gvg yelT g S 2

(c) An increase of phytoplankton absorbs the
blue region rapidly/9iey wias @i gfg ¥
& TS § ST & S 21

(d) An increase of phytoplankton decreases the
back scattering in the green region/qIeq <9
I gfg ¥ eRd & & uvg FIv 52 S 71
Ans. (¥) : TNES-3TAN 5 FONRA STATA § 39 999 H
Terd AT 21
115. What is the quantitites of the work items are
difficult to be quantified and the rate analysis is
also a complex issue, but still the contractor is

willing to undertake a work, then the type of
Contract best suited is;

Vo - et @ feftr wfeT gar &

3R o frgeraur o s wiee wwwr At ¥, AR

fRT off IHER HW X AT ToF® BT &, O 3Wh

o waifire SugeR STEE YRR I AT §—

(a) Labour Contract/HsIgX T

(b) Lump Sum Contract/Tsh EQH@W

(c) Turn Key Contract/Z= &l 3

(d) Item Rate Contract/H3-aI T
Ans. (b) : Teh-Hod ST (Lump sum contract)—
i TH g4 feifa e § quf s & 3w
ﬁ@-ﬁ?ﬁ?ﬂ (Lump sum contract) FEA 2| 39 3%
1 fafT wai o g qen s oRaT w6 Rw 9§
FI yeqifag faier & e aar faunie faffeat soerey
& I § 3R 3 3% F FiRa fy § un Few el
% A Fafor a1 gof SR &)

116. The common type of staircase in buildings with
two consecutive 90° direction changes at mid-

landing slab level is: .
k) 7T T W Went, e
- g e TR W S AN Hifeat o
#fier 90 feft w1 3iaR e &, I FwewTar 8-
(a) Dog-legged Staircase/STT-0Tg LaHT
(b) Straight Flight Staircase/&2< FaTEe LaThY
(c) Spiral Staircase Hifeat
(d) Ramp/i:q
Ans. (a) : SIT e ST (Dog Legged stair)—ag ST
i W o ford 3"1'3«? 1 TuH S w0l %
for 2 e dferar g g S weRr fauda faemsit &
(180° I0T) =erdl €1 g9H ST Wia & HeF &R W &

AN Hifedi & s 90° 1 SR I 21
117.  Mangalore Tiles belong to the category of
2Eed form goft O Heiftra g—

(a) Concrete tiles/&hshie ZEeH
(b) Slate tiles/Te T
(¢) Burnt clay tiles/a= ¥ T

T AR aTell Rafeerdl &1 3Tam St 21 (d) Mosaic tiles/HTsi® 2T3ed
114. Pick up the correct statement for the following ||Ans. (c) : TTAR EH TH FHR F I A 2 g g
TIH E & HAT T AT h— 21 3 TR & FW a4 A= FF IR 99 I &1 e
(a) Phytoplankton contains photosynthetically | |$H (Nibs) SRT 2/5ed e I.EI';T (Batten) q ThH Tl
active pigment/JIed &I H Jeh1el w7 | |31 TRd # a=E feen # orefa 21 5 W
4 wfpg vl &1 § ik ickaEd
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118. Which of the following is/are the functions of
an operating system?]éilﬂ'ﬁ"rﬁgﬁ i -9
arfeT fawen ot et §—

(a) Security/fFRIRET

(b) All of the optionsffa%?‘ﬁ 7 mefr
(c) File Management/®lget EEn

(d) Memory Management/ﬁtﬁﬁ EENE

Ans. (b) AW e FE A g,

HEA feie R Rt onfk @ simiET faww o

F 98 GUE § o Bl ey o1 39 fafie gt

& @t @ Rl & g

119.

is the greatest source of halogens.
) EE
(a) Emissions from Automobiles/

(b) All of the optionsffa%?‘ﬁ T mofr

(c) Lake water/slTel &1 9=l

(d) Sea/qHx
Ans. (d) : BISH T b AN H YR B (orFH ol
g1 Ba W w0 W § S woh & 17§ fem
T U el TR, FAGE, SEE, ARIEH 3R TRdA
F G SO Fet § wfE e W A F o
I 5T § S 9 S g

120. To ensure that compression flange of a beam is
restrained from moving laterally, the cross

section must be

Tg gHvad A & fau & a9 & e
nﬁﬁ ol UTgEd: T oA | gl feram =
T, SUSH SIYES HIE ....... BT =G~
(a) Thin/gdel (b) Semi-compact/3T4-39
(c) Slender/dq (d) Plastic/qaed
Ans. (d) : 99 F e TS B Tifas 1fq T Afea
FH H oI sua AT DIE YT (Plastic or
Compact) 81 =1fgTI

121. To comply with current bulldlng regulations,
the minimum cavity width in an external wall is

A WA T U A S A, Al

e H A ST wirerg feha g =nfeu—

(a) 60 mm/60 et (b) 100 mm/100 fAHt

(¢) 70 mm/70 ot (d) 50 mm/50 foet
Ans. (d) : @REet SR (Cavity walls)—TRgell &aR
T woh § G A I & % 7S AT 50 mm 3R
SARHT 115 mm (CPWD & ST8R) &I B T 3721q
ST BT I 81 WiEel GaR H SRl Ges qERu:
10 ¥t At W S @ 3 =T N Helh S AR
&N W TS 9l AARIMA 9K % FER W S 2,
T T 10 HHL F FHH T g el

122. If the intercept on a vertical staff is observed as
0.75 m from a tacheometer, the horizontal
distance between tacheometer and staff station
is: Teh Hedlel WIh & Aq:EUg &l
e ® 0.75 e &t it | @ wraw §, @
Fanfier iR wTw RyH & ot s dfewr o

AT il

........

(a) 50 m/50 HieX (b) 75 m/75 HIX
(c) 25 m/25 HieX (d) 7.5 m/7.5 WX
Ans. (b) : Given that, S=0.75 m
THIEI TN L6 RIE F I F gh-
D=KS+C
oy & fau-

T fReRiE K =100 T91 arsa Relis € =0
3T D=100x 0.75+0

D=75m
123. The test conducted by Vicat's apparatus is
farerte SURTOT & ET W gfrerur
ferar Strar &—

(a) Consistency/Se-dl

(b) Compression strengh/gded groyef

(c) Fineness/¥&Adl

(d) Tensile Strength/a=dT e
Ans. (a) : [P UHUT & HeEar ¥ HHe TR @
I (Consistency), HHe 1 SR9S SHE Hed a0
ditic @ 3w SwE w1 9 e S 81 e T &
T & fIT 10 mm ¢ T @R, YRS SHE B &
fTT 1 mm ¢ & g2 7o 3ifow smE F & T 1 mm ¢
T E T 5 mm ¢ F HeR FI FANT BT S B
124. Which of the following is a kind of non-impact

printer? HIF-|T Teh U <Al

IR-vug e 8-

(a) Dot matrix printers/gfe ﬁ@W fiex

(b) Line printers/ag f¥ex

(¢) Ink-jet printers/§h-si¢ f5ieX

(d) Daisy-wheel printers/Ssi-&et ez
Ans. (¢) : ﬁzwﬁaﬁﬁﬁww&m?ﬂ@rww
T BT 21 OOR, A, IEIIER® Ul o
THIE H LA o 21 ool fey, gomemmes fiey,
Wwwmﬁwqﬂﬁﬁﬁaﬁaﬂﬁ%\l

125. Which of the following metals are mixed with
chromium to make stainless steel?

frefafea o @ g

&7 hT ShITHAH o |1 THreTET STar g—

(a) Nickel and iron/faT 3R et

(b) Copper and Silver/aisT 3 =i

(¢) Copper and Chromium/dfn 37 shiftrm

(d) Copper and Nickel/dT 3t et
Ans. (a) : B909 EId 99 & (0T HiEEH & Y
faferet T ST o foreman ST @1 RAew wia S F
% for wfae 2, adf 2ia § 5o et 8 wia
R @I # qad § digT S FoRy g ¢ i
5GH e P AT B9 B 2
126. Non-colloidal liquids are:

TR-IeEet 59 i

(a) Ideal fluids/3Teyl 59

(b) Newtonian fluids/=Ifa 5

(c) Pastic fluids/TREeH 59

(d) Dilatant fluids/fresril &9

Ans. (a) : 3TEY 59 39 29 &I Fad & (TR WA IR

g ¥ B 2
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127. Slipform Paver is an equipment used for
constructing

foTe yregerT SueRTeT R

(a) Walls/SaR

(b) Pavements/AT

(c) Precast elements/qd i =@

(d) Chimney/fem=t
Ans. (b) : RTHH R, Yate W gd iy fiedt @
freifa el % #ie & &9 F TM, B aur Fer
Hh 3G 3 ®Y T % HH @ S| THH SRS THE
I ae gl 21 e ®W Ye 1.5-10 #. ¥ fiee
T W @ 3R Fe i AeR 2-5 W, o S 8|

128. Which of the following is NOT a computer
hardware?

H A AT I T T $—

(a) Software/HIFaR

(b) Floppy disk/Fardt fewh

(c) CPU/HIG

(d) Motherboard/"etaTs
Ans. (a) : SRR Ao &1 998 § 1 R @ O
B 1 e 3 21 o1 g febed @A 1 SERU 7
129. What is the conveyor system used for

transporting loose materials like soil, ores, coal,

concrete, etc. without the need for full total

enclosure? ¢ T I IEYIRdT &

for weft wmft S fadt, omww, @i,

Heie Mg o URGeT o 0 Uged dael

faen =Y = et ST 8-

(a) Roller conveyor/ﬂ?l( FHR

(b) Screw conveyor/%b FHR

(c) Bucket conveyor/aﬁv_cf FAI

(d) Belt conveyor/a?cr FAI
Ans. (d) : 98 UEET (Belt Conveyor)—agl #HT H
fomfor gl S9- gar, o, fred, SHie s & T
W ¥ R WM T TR TGaH & U a©s =2 &
YA a1 ST 21 39 Yone # g W wew unt
el vl & fmfor &t FiE eavasar T 21 =
g 9t ¥ T® TR, T awne @ A g, e
TS S8 W A UEAT 81 9 Yedl We A "t
N T FGUEE et g 8, S A B’ W gH &
FR Y Al 81 T B TR | F U IE 99 |,
TGl dell WS gt W Uer A 9 & W foed @
TSR Head &1 Fded Yol i FeAEl ER |
feepran S 21
130. Total distance covered in total time is termed as

el TS AT BTG FA G oo FGATH §—

(a) Uniform speed/Tsh&HIT dTA

(b) Variable speed/dRad=sfia =Tt

(¢) Instantaneous speed/d@IUTe aTel

(d) Average speed/3ﬁW EIN]
Ans. (d) : fra = (Average speed)— a% U dF
F T P T F FA IHT F AN IR G A 39 a5
I 3iEa =T Bed! &1 T8 Ueh e R |

.........

N —— & & 79 Sl T g gt
I H O A T
HIHd =1l &1 SI ABH— HEYTHTE (m/s) BT 2|

131. addresses are reserved for multicasting.

(a) Class E/&T9 E (b) Class B/s<T9 B

(c) Class D/&<Tq D (d) Class C/&a§ C
Ans. (¢) : ¥ D TgH 32 T o5 w=9 g S
ST RS TR BT veEe & o feer S 2
IP TSH &I Ul § ST S That 81 (1) FIF A (2)
FAH B (3) 9 C (4) 59 D (5) FAH E
132. Colloidal particles are_seen continuousily in a

zigzag path in.......... <hUT AR

T ant o feats 9a E—

(a) Discrete particle/fefererd 0T

(b) Tyndall effect/fEsa T91a

(c) Raman effect/THT TH919

(d) Brownian movement/s3fAa= T
Ans. (d) : TRMAEIT T H FES FUT FMER TR
o F fomrE 2q €1 fohedl e % et A g Uil &
-0 (Zigzag) T i & s=fEE iy %ﬁ%ql
133. The head of water over the centre of an orifice

of diameter 20 mm is 1 m. The acutal discharge

through the orifice is 0.85 litre/s. Find the
coefficient of discharge.

= 20 % hg & HUW T & I 1
tiex ¥ o7 & wream | arafaes e 0.85
wfiet/Tehg | e o TuTish 1 UaT TTG—
(a) 1.4 (b) 0.61 () 1 (d) 0.2

Ans. (b) : Given that

SHIRRH 1 =9 (d) = 20 mm = 0.020 m

W (h)=1m

Freafash s (Que) = 0.85 I/s = 0.85 x 107° m’/s

forsta oTish (Cd) = 2

c Q. _085x107
‘ a4/2gh

Qu
0.85x10°°

%(0.02)2x1/2x9.81x1
Ca=0.61

application provides a single platform
for all Indian Citizen to access pan India e-Gov
services ranging from Central to Local
Government bodies and other citizen centric
services.

_ ufterery @eft At AnTReRt Y g 9
W W freEt R o= Amiites e
Faredl wiga aft wrdia $-Teede deneit %
RIS o T Ueh Tehet el YeT= ohidm §—
(a) Boomi/gH (b) Startup India/RE3TT gfear
(c) UMANG (d) E-Sahaj/Z-@&st

Ans. (¢) : 3HT (UMANG) Tty Tt IRA et

H HE Y W T R N e Amis S

garsil Gfed - dared & A & fT U ued

C,=

134.
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T WS HT 81 IHT Ufehv Soiaeiea S e

S midd ta i -meHe fedism g fasfim

feham T § IUT (UMANG) 1 QU A1 JA%ES demEd

Tferhe B = TS 7Y 2|

135. Which of the following air pollution control
devices has maximum efficiency?

W fohE 9T UguUT 0T SURTUT Y geTeT
Bt g—

(a) Spray tower/SI (X

(b) Wet cyclonic scrubber/TH TTEaril{-eh Thal

(c) Dynamic precipitator/Tfaefie eI

(d) Electrostatic precipitator/feX ﬁ@ G IRE)
Ans. (d) : R fo7gd /@@ (Electrostatic precipitator)
A YT AT YT T qer SfEwTH e 81 39
TARILH TR Tl & &9 & off 7 <71er 21
136. What is the binary representation of 32?

32 @ T -

(a) 100001 (b) 100100
(c) 100000 (d) 110000

Ans. (¢) : 32 & a0 fEq
32
16
8
4
2
1

(32)10 = (100000),
137.  Shielding glass contains
TRIETUT i B Hrg BT &—
(a) Steel wires/&Td & AR
(b) Chrome/s™
(c) Fibre glass/®Igal 7oy
(d) Lead oxide/cig 3ife3E
Ans. (d) : Sael el (Shielding Glass)— 9 H9 &
fomfor & w3 famer S @1 39 & &1 S
YA G (Nuclear Structures) ¥ fam ST 21

138. In which state are the Bharatpur and
Ranthambhore National Parks located?

fora T A AR iR TureieR T

Teera €

(a) Madhya Pradesh/q&d EER)

(b) Rajasthan/TSTEIH

(c) Uttar Pradesh/3wX el

(d) Gujarat/TsId
Ans. (b) : AR 3R TWAHR T Tb Toree ¥ feerd
21 I § AR Tl RN F haed TeEd I FEd
21 39 T 3T & 1956 § TH Gl FAWEARTT % &Y §
e fopam T or &g # & 1981 # wfiw s@m eik
1985 H fa9 eel T & ®9 § =ifvq foman T

NN NN

oSlololol o

..........

ECIE]

139. Which of these musical instruments has a

(©) Harmonium/gRAI-EH (d) Shehnai/¥&TE

Ans. (¢) : SWHINZM, TH Tid dwEd g o8 see
Hor g1 81 ERAEE oeel, O, dhe 3N #ue @
I UH IR 9 47 2| I8 UF UHR H ARl H 9 F,
et 3cafr afem sma § g8 off 1S9 3gam i, I3
F Wy A Ma, e, gu iR e @Al § 9y
T % e = &9 9 fhar St 21

140. Who among the following was the first woman

to win ijbledon title successfully nine times?
a4t 9| figame sfa= awar

30 q T oft—

(a) Martina Navratilova/mféaT Fafererar

(b) Monica Seles/Tf-e Tord

(c) Chris Evert/fshg Tad

(d) Steffi Graf/=®l IM%
Ans. (a) : AT TaRIfeetar At aR fdacte Raae s
et weelt Az 2 fgeret 21

141. Which of the following days is observed to
commemorate the si nature of the Montreal

Protocol?/Hif~< o FEATRR Rt Tgfel
feam frafafaa & & fre v & w0 & wamn
T §—

(a) International Day for Biological Diversity

(b) International Ozone Day/3as 1 = faag

(c) World Health Day/fave w@rees faag

(d) International Wildlife Conservation Day
Ans. (b) : STEE ST T feag (16 faaw=r) it
Hifgad MerHa 1987 W R &l Fyfd fkad & &9 #
TR ST 21 Tl SR 16 FaaRR 1995 @ favd S
feag wrn e 3R T o1% ¥ IS a9 98 fag g
ST 2
142. In which year was India declared a Republic?

T WA Rl MO T™—
(a) 1947 (b) 1948
(c) 1950 (d) 1955

Ans. (¢) : YR TS & T9 2| T8 HOET ST bl
TURS &1 T8 TR ARG % S % SR W 8
S/ GfqemT 9 g 26 FAWR 1949 & FEUT fHAT T
T 26 SHAL 1950 H Fgq g
143. With which of the following sports is the term
'double fault' associated? Tell U ¥ ferdeh
T ITeg SO Whice ' ohT Hael §—
(a) Tennis/2fg (b) Bridge/fsrst
(c) Baseball/sqsiet (d) Golf/e®
Ans. (a) : ‘ST Bice’ VR A 29 T ¥ Taifed g1

Gafer e
WA R AT @l Taaraett
fohohe  — gAY, ST, G S ST

Fedia - T, 5, T 9% S|

g - 37 HET, e, Porew oM

keyboard?

%g%qmaw&aﬁaﬁé@m%— defiie — o wfdE, #iE, 9 wiee, W )
(a) Ghatam/9qq (b) Santoor/HT gt - TRE - 3, T, A, R, Hele I
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144. Medium thickness line-group of 2 mm are not

used/...e. & fow weam , 2 firft o5

TET-HYE T SUANT TE feRaT STaT -

(a) Out lines/3TBZcIgH

(b) Dimension lines/fomATE=h w5

(¢) Cutting plane lines/®fET @H @AET

(d) Dotted lines/SieE @&
Ans. (b) : 3T g, Tids oigd 3N HRET = argAt
& G % AU 2 mm AT T @ $ S €1 Sth
@, B W aa ael-awEt el @ died & fag
mm " @t gIT # S 7

145. Which of the following sta tements is correct
about remote sensing?%tﬁ? &% ey o

T A I A hUT T B

(a) The surface from which emergent radiance is
constant in all directions is called Lambertian
surface/d8 Hdg, I el IHE gt

faemstt & A S 2, ¥ awfead Tag
ST 81
(b) All of the options/fehed & & |t

(c) The basic property used to identify objects is
called signature/a&31l qg fag
Y TSl U7 Bl TR el ST 2

(d) The ratio of the reflected flux to incident flux
is called reflectance which varies from 0 to

1/q0Efda T SR S e & S
el el S €, S0 ¥ 1 % & A B

Ans. (b) :

B Edd & T U U wae e S areft 96
wgwaﬁﬁwsﬁé I WEfEEd Uae wEl
STl & |

m fige SR § a%gei (Objects) H TgaH- & fow
Th HeT T &1 fg =R (Signature) F&T ST 2

B WERd e SR ST Fe % SuW S

WAl Hel Sl 81 TWadehal &1 A9 0 & 1 &

e BT 2

In an aircraft, the fuselage includes

' et B §—

(a) All of the options/fhedi & T Tt
(b) Pilot's cabin/TAE T Hfa

(c) Tail of aircraft/[qH 1 q9= AT
(d) Passenger's chamber/aT= et

Ans. (a) : TAE & B9 § UEWe e, fomE &1 Uve

1T, A He S WiEATAd 8 2 |

147. Line up to which the plinth of a bulldlng

adjoining a street may be lawfully extended is

called/dE @1, @ % WS © Wl el
TURA @t fieier sl AT A ¥ foreaie femam
T WehelT &, T THEeATdT §—

(a) Building extend/gANT for&dR

(b) Building line/fafegT &g

146.

(c) Building carpet/fﬁ'fcﬁ'ﬂ FHNUS
(d) Building plan/fmior Jrsrr
Ans. (b) : W= Y@ (Building Line)—3<Hi g Iedm
%ﬂﬁrwﬁﬁwr{%mamvﬂﬂﬁ%wrﬂ‘%ﬁrm
wﬁaﬁwaﬁé@ﬁ‘g’q, Te-TF & IFER,
T G ¥ T i o ugeR i € R S

% |

is the person responsible for verifying
that the drawings in a project set are free of
mistakes./.......... S & fog
fireiter safe BT & fon Trovee @ # faw o
Yo FhRfed -
(a) Checker/a8ersh
(b) Client/AT8h
(¢) CAD trainee/CAD 37
(d Receptionist/ﬁﬁc‘éﬁg
Ans. (a) : 98 A ST R woiae ¥ @ # I
T T & T (checker) FEART 81 festeA, arE
T, e Zfem e fmioT sfepan < SAeRiear @1 et
7 21 Tt AR & fEtor SR S AT B 2
149. The moisture content of a well seasoned wood
is in the range/Ueh 3T=S & wd
o Y it U .
(a) 10-12% (b) 48-210%
(c) 27-35% (d) 60-65%
Ans. (a) : YRS <Al Hymreur (Seasoning of Timber)—
ST T g8 TS o IT:FS Ta WHrS # g wen #
T g W (sap) fmwe= @ 81 39 T 9 W F FS A
T FCT, THTS FT TN HEA g1 AT B gU 4
W 3HH 9N H 100-200% % T F T el 8, @b
=T TS H I8 TH 10-12% & g =Ryl

150. The value of the toughness index of most of
soils lies between

fudt & erfreniyr YRRl & =fragus Gohie &
o sfter g g—

(a) 0t03/0H 3

(b) 1t03.5/1 ¥ 3.5

(c) 0t03.5/0F 3.5

(d) 1t03/19 3

Ans. (a) : iﬁ'q@ﬁf 'ﬁl\m (Toughness Index)—Hal

& AT YEHs (1,) 71 Yo gadis (I;) &
I FHEI FIHish (Toughness Index) Fad gl

.........

PR a1 I GIHih H AH 0 °H 3 F I
B 2
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YT 9ot ae (RRB)
e Irfe=r fataer

Tirarm-2019

uiter fafer : 28.08.2019

Time : 03:00 PM - 05:00 PM

1. Find the deflection of the free end of a
cantiliever beam carrying a concentrated load
P at the free end._ )
ard f W T i 9 P areft T Siefian

om o gora f 1 fagaoT Ja wifse—

YT A9 ygfa # R 3f 1 wHE 99 e &
foTT e § 39 3is & WM FEl ¢ T 3@ S 8, 3§
YRR A0 T ggfd U Sd S A e 1 SER
2 foran S 21

3. The old type of Pile Driving Equipment which

(a) &=PL*/365EI
(c) &=PL’/34EI

(b) &=PL%5EI
(d) &=PL*3EI

is banned in most countries due to heavy sound
and vibration is called as:

Ans : (d) T @ JOTCA § Aot & & FEeAd 0 3R
1 B 31 TR W OF ULl | FW & 8, e o
H HAAT off AN 1 H HAd@E on

gl 21 9 geR

Ans. (d) : 9 9% % g R W g qR P o T ek & UTSeT GISTET o=, S AT eaf SfiX
i 8_PLa maﬁmﬁméﬁﬁﬁuﬁﬁm%,
T R e =3E 3 T el AT §7 ) .
P (a) Augur Boring Pile Driver/31"R AT A
= by A
\ (b) CFA-Continuous Flight Augur/
Bre] Rreham | Srfrehed CFA-HE3@ FaRe 3R
g fagm (c) Hammer Driven Pile Driver/8%X ﬁfﬁ? qrget
b WL wL’ R -
I SEI 3EL (d) Hydraulic Pile Driver/glggllclsh Ugel SIga
A B Ans : (¢) TUH YR o UBA SEMET 34, ST a9 & 3R
= “' Hu P Tole § e A9 # sifed § s W fgaa
PR wi? wL! UTEel ST el Sl & |
A mcccng:mgg 6EI 8EI 4. What is the mass of the 0.5 moles of Nitrogen
atoms?
— ———— s
v L - ATFEIS URATUGRT o 0.5 WSl o1 FAH &l
A D | w | m &2
Lo 2EI (a) 14 g/147M (b) 70 g/70 T
N " wL? wr’ (c) 21 g219M (d 7g77M
/ 16EI 48EI Ans : (d) fT &-
L2, L2 el A (n) = 0.5 FA
w kN/m Wi 5 wi? ETI'\_FI'IT-!% % ﬁ;,
A B o AEZISH F AR F&HH (m) = 14
24EI 384 EI .
- ST (m) = Aol &AM (m) x Hell & G4 (n)
——L— m=14x0.5
2. The digits used in a binary number system are m="7 9
and . . . .
—_— iy 5 & g 5. According to the ICAO specification for field
— aﬁ-{ — Rl runway length, take off run available is known
gureft ® Fer ¥ as-
(a) 3,4 (b 1,2 TieE T @t &g (field runway length) ¥F
(© 0,9 d 01 ICAO Tafder & 31ER, 3 317 T (take off

run) &l ... % BT | =T AT §—
(a) ASDA (b) TORA
(c) TODA (d) LDA
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Ans : (b) RHT AR foqm= T84 (ICAO) & fafaesr
% OR, Rl e @ 3% i ¥ ugel T W ded
% fore et g8 Suge o Suesy @t 8, 39 Take Off
Run Available (TORA) &&d &1

6. When did the partition of Bengal come into

Ans : (d) 33UaTed Rafd ¥ T¥ S & g&r ¥ fAeem
FI SrufT 7 ardt 81 frowf wiew % dRm st
A rEuf Refd a9@ W@ I 21 oTHEf adr
AR TG F H § FHA AT O &1 SEH
Fisrﬁﬁ%w 3qarfgd wleuT (CD Test) § aifrs @m
R

effect?

S T faaTe ford o & et gam ar?
(a) 1902 (b) 1903

(c) 1904 (d) 1905

Ans : (d) T 3T T0I TEE FqT1 B b5 95 o1 3R
ST FqE B T B G @S P g1 19 S, 1905
I FMA faueH & F ST F T 16 TR

10. A line joining the vertices of the trusses is
called-
HiEE (trusses) o Gl = arelt T@w

HEATAT &2
(a) Ridge line/RST @A (b) Peak line/die @8
(c) Sky line/Sh1g &g (d) Top line/2Tq @A

ooooooo

1905 I sTTel fdrsH 1 s gudl 8 T2 12 femsr
1911 = fafeer gge 3 sma faaeq & © =@iftq fear,
Y & FHAddl I e feoell B ARG H A TEET
A i TART TSE F

Ans : (a) 7 Al & I (Apex) H HAM arel &ifes
H F A RS @ wwd &1 Fe W ol &
TR aT ST B

7. The precautionary principle first

introduced in-

Tagia gdgem.... d 9T femam T an—
The First International Conference on
Protection of the North Sea/ST |MR &
TREIUT W ST JoH i e
Kyota protocol/a?ﬁf[ EICACA]

(¢) The Earth Summit/gedt fIvat geie

(d) Vienna convention/fera=T T
Ans : (a) Tefaard faga ga9gm S8 GPR & TR |
AT W ST e # U9 fRar e o

8. Who introduced the concept of biodiversity

hotspot?

S fafern Fewie Tt MTURUN & WeTUTEeh
@ §?

(a) Christopher Columbus/fFETH Hiced

(b) Norman Myers/Atda A=Y

was

(a)

(b)

11. According the ICAO recommendations, what is
the rate of elevation correction for the runway
above MSL?

ICAO @i STIEIST & 3TTUR, MSL & HW
o a8 & ﬁvﬂ{ SIT gUR  (elevation
correction) & T HIT %—

(a) 2% for every 500 m of elevation above MSL

MSL & W fRed 3=e9 & 3fq 500 Hex

TR W 2%

1% for every 100 m of elevation above MSL

MSL & W feo@ 3o & 3fd 100 Hex

T W 1%

2% for every 300 m elevation above MSL
MSL & W feom 3=e9 & 3fd 300 Hex
FAE W 2%

7% for every 300 m elevation above MSL
MSL & W fRed 3=e9 & 9fd 300 Hex
3% W 7%

(b)

(©)

(d)

(¢) Christoph Schwitzer/fFeT® fyaesi
(d) Charles Darwin/=Ted 1
Ans : (b) 59 fafgear gemic i S/EuRoT 1988 ¥ A4

Ans : (d) TE AR fHFA e (ICAO) &
igmwaﬁ%aﬁw{, MSL (Mean SeaLine)%Wﬁaﬁ

gﬁﬁ?wgwﬁaqﬁsooﬁaﬁﬁﬁm
7% |

oo g faid & T M SR dEl & e % &R

T TR & Ie9 TR H S B STIER 10 INT FGE T

3 gedic $ w7 § wr &1 @ a9 9g[ I 8 3

gedic S, a9 fag ¥ gewic & e Teal 18 & T,

fog F 36 o9 fafgud o gewic # ¥ 4 9ra # 2

femrera, ofted we, dEi-amt & sk Yers)

9. Which of the following is the appropriate
triaxial test to assess the immediate stability of
an unloading problem, such as an excavation of
a clay slope?
it & T W W St sHenfET et
THETAT i TeehTel RRRAT T TRl &l o

12.

The effective length of fillet should be less than-

ufgert (fillet) St WIS wemg T HU
-

(a)
(b)

........

One time the size of the weld
I % FR & TFH T
Three times the size of weld
I % MFR & A= T
Two times the size of weld
ITE o MER & A

(©
Four times the size of weld

(d)
7€ & MR & IR T

forw wger Fretefiar wdierur (triaxial test) 38 &
I AT E—
(a) CU test/CU TLeToT

Ans : (d) fFcle e & T9El T 4s O 40 mm I
e T8 g AR
AE— AT 7 fFed (c) T8 WA 2

(b) CD test/CD aeroT
(¢) Unconsolidated drained test/3THEIISE S8
e

(d) UU test/UU udteror

13. Which of the following is/are an example of

utility program?
ﬁwi%%aﬁ o | S 1 gfeferet v (utility
program) <hT 3qT&X0T %—
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All of the options/f&edi & T Tt
Antivirus software/UTarEH FHaa
(¢) Network Managers/%aa% EEE
(d) File Compression/®Ige ST
?éls : (a) Ffeferd G dTR HTRET & FF Bl WA

(a)
(b)

-%Késwﬁﬁﬁ@anﬁmwﬁmﬁﬁz/@
|
m C.G.S Jurelt # foruey Tifeer vam=en & gehre SH/4.
I € BT 2
1 =% = 1 %8, = 100 <1 <I%

¥ R @ a fawew 5 fafm g

m 1 9%8 = 10° F/3. = 10° 9 2

I o9 T GiedE 21 THE ST dE WRIH
HigzaeR # fE S Gl 8| JRRAE WA % Sae B

(i) TaeRy HiReaeR (i) e TS

(iii) wEA (iv) ST HHITE
GEEELREL (vi) feo wiafeT

14.  Which of the following humanoid robots was

developed by the HDFC ballk?
ﬁtri%—i%ﬁ T q A A1 FHATSS Tele TaSuwdr

(HDFC) sis g ferarftra feram wram ar—
(a) KEMPA (b) MITRA
(c) TIRA2.0 (d) AIT

Ans5(c)HDFC§$ﬁWWWWﬁ

17. The interaction of the electromagnetic
radiation produced with a specific wave length
to illuminate a target on the terrain for
studying its scattered radiance, is called:

oMek o TRl T 3T i o foro feredt
e WX fora T8 I YeRtioTa i o T ues
faftre @ T W oSw= faEm gewe
Tafertor st sT==afeRa sl @I hat T §—
(a) Active remote sensing/Sfsha feare dfem

(b) Remote sensing/fAre T

(c) Neutral remote sensing/=Jg< e dfd

(d) Passive remote sensing/Mfspa fmre dfem

THAEE Tale TRA 2.0 1 TURE a1 21 1B gk

§ geifiea qeifes LT (IRA) & S29d ol | 37

AT AEeh! o oY STl ST 1 T 2 |

15.  The stresses caused by the bending moment is
called-

SR TEUT oh HWUT Ieq~ UleraTell sl AT el fee

T §—

(a) Tensile stress/d4 Hferel

(b) Compressive stress/Sdre Sfiaat
(c) Shear stress/3TTETUT Ffcielel

(d) Flexural stress/3T-HA Hfcsiet

TEHE T IO F § 3R B T8
TEHN o € IHB TH I a0 bl G
S g ¥ THUR A 21 I WA T F SR
HAihEl & TaT T 21 SHE- R § Gl gaed I39an

e T8 e o9 9§
Fihe I I gE W F MUR T HIl |

Ans : (d) AT 9 e & AfRedT ST gmHed
qRIfE €t 1 ST SHh TUWE ¥ Ugel @l @1 STEEA
gmed & s4 gHed A Modulus of Rapture F@d 2|
T MUl ok HRUT IF Wfdaedl HI SAEA TG Hal
ST @1 HAq Fies § ufEe ¥ v gHE aEhd W
AT 39 <R o T 8 ST TR HU g 370 I8
% HUT W AT ST G| TR TP e/ HeX A
et 2l 2|

18.  Which of the following is the type of roof which
slopes in two directions with a break in the
slope on each side?
3=|§ foFT U)o Ba W I foemett § Tem
At ¥ 3 yes e # g U e Aer -
(a) Gable roof/aa B
(b) Gambrel roof/iTId B
(c) Hip roof/R9 &d

16.  Which of the following is the ratio of absolute (d) Mansard roof/9e &
viscosity to mass density? Ans : (b) I BA—THA BA H EFHES &k I A
T e FEEAT (absolute || proras 3 e i 2
viscosity) AR FEHE T (mass density) <Rl ToE BA—5FET F 919 TR fonei § ot At B #
0"'%_, o . A9 B Fed 8
(a) Coefficient of viscosity/¥aTdl FAhIch Ry Ta—f 5 ®FEz % 99 =91 et § e
(b) Viscosity index/S3dT T0Tih arch B %1 B B9 B 3
(c) Specific viscosity/fafme T traet Ba— T od o e s % & femet # @
(d) Kinematic viscosity/S[5fdeh TAAT T 2
Afls' .(d) & h ¥ (Kinematic| | 7o ™4, Vertical stiffened web of a plate girder,
Viscosity)— T gifal § T HI AT HH: the lesser clear dimension of the panel should
R Tifdes v g1 ST ST @1 not exceed:
m FRUeT 7Ifh ST 39 T T WA (TAH) T () 'ilél%mw@éﬂ%m,ﬁw
9l T o Hefd S (p) N FII Bl & w1 fore frereri fom ... ¥ arfres & AR
v=H (a) 180t (b) 200t
p (c) 85t d) 250t
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Ans : (a) IS : 800 : 2007 & 3FER HeAER
e fIdy & FwlR H9 g0 39 & fou, =a @
fereraRe fomm 180 ¢ ¥ 3t =& & =R

3R
foe

Y15, Telg a7 HIeTg ol Eceon]

SREIN
85 @ &4 IS gEHRI el
85 T A% dar 200 T|aT W 3% ggdN 0.33d F
1.5 d &iftst gff ™

9
200 ¥ 250 & a9

250 § & 8 W

22. The loss of head in pipe due to friction is

calculated by-
T HT g W AW H € arelt o e @

T feREreh gRT ST STt §—
(a) Darcy-Weisbach equation
S s TR
(b) Darcy's law/SHf &1 a9
(c) Chezy's law/=sit &1 7w

(d) Energy loss/Zt BT+

20. Which of the following areas is/are NOT

included in the Carpet area?
3 PR g wRde A e T
feran <rar &—
(a) The walls alon
openings/
a1y <&t H
All of the options/fa@aedl # T aeft
(c) Entrance gate/ga’QT R &
(d) Verandah, corridor and passage
TR, TR 3R T
Ans : (b) F5Et off w9 § ®F A9 I eEwA Fe
g%l FEeAl | SO0 AN I AR, s, SEs,
TR qem Fe9T 3R A gftaferd & 8 €
e Gthel § T B SFhel I e hed |
W T FE, dTchdl o &F%hel, SUHEl T &F%hel, Area
of commonly used toilet, 3TdR% ER H ALE,
e, e
B 5t FEElE 99T § S &ahd # fey gk
F (60-75) % TE@I ST & Al TRAS 75% &Il &
B ol e wam # Ry &a%d 1 (50-65)% HUS
&%t BIdT 8 | AfShT I 65 % @Iar 21
The large steel cylindrical metal containers
used in RMC plants used for storing cement

and/or fly ash and such cementitious materials
are named as-

RMC @I # e iR wE o SR 3t

e goa amiE @ e = & o

Tged O &R o Wi| HiHd  seHesR

He-IAl SRl AT hET WTAT §—

(a) Scraper/%?l\?q(

(b) Screw Conveyor/%p FAI

(c) Mixer/fiFaL

(d) Silo/HTEet
Ans : (d) RMC T3 & @ 3R 9oiE w1 3R 31
drife qF AamiE WA w1 F U s ae R
% o Fffq sermeR Sl ®1 FwEa (Silo) HeT S
g1 TEel @ det H a4 gw® W f¥% ¥ 3w e
SATTIHATIR &L e STl 2 |

with doors and other

I A ¥ -

(b)

21.

Ans:(a)@@-@?a\aww&amﬁm
# 3fiTd 3 § vaIfed g aret STHdied YA & fo s
g % g it wehfa Fwr 2

Ife d =09 do1 [ oErd arel 9Ed § V 3ied av ¥ g9

e 81 @1 @ A 9w = L
2gd
f = FNOT TUTIeh
[ =UTEY T
v = 3 a7
d = 99 1 AE
23. When is "Word Wildlife Day' observed?

“forver Tt fea®’ el WATET ATAT -
(a) 3 March/3 99 (b) 5 March/5 Trd
(¢c) 17March/17 9" (d) 10 March/10 919

Ans : (a) 95 2013 ¥ 5fq a9 3 99 & foy g~
feaq o S @1 7, i 56 i 1973 # a=lal wd
FAefoel W qEEE YSaAl % SREE SR W
FHYE (CITES) & R fHar mar an a9 2022 #
fag aong fdag | 9 Ff - “TRRufast & & sgen

¥ TE SR s geRTet |’

24.  The structure which is used to divide the stages
in different levels is termed as-
BY o= @l o fawfsa &0 & oo
TR ST i &R hel STl §—
(a) Roof/&d
(b) Lintels/féica
(c) Damp proof course/Hra Tt T
(d) Floor/%3f

Ans : (d) B9 G off waq @@= & A= o §
o e 81 9aT § DS ) 9@ By qa 1 g

& R B 2

25. The space between two adjacent trusses is
called-
A e FHeet F A WO
FHECATAT &—
(a) Span/®H (b) Pitch/fr=
(c) Bay/d (d) Panel/3e

Ans:(c)ﬁ(Bay)—ﬁWﬁW%@?%@%
aﬁaﬁé(Baym@aﬁr%
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e (Span)—<l & & el & o9 H [E I FA
&1 U HeEeA 2|

forer (Pitch)—F & 3o T W F UG F f
Fed |

frg = 291
q1e
forer &1 A 1 I l feram s 21
26. Cobalt is an example ofa__ material.
HETE oo Wt T U ST -

(a) Diamagnetlc/ﬂﬁw

(b) Ferromagnetic |

(c) Paramagnetic/3TIgad

(d) Non-magnetic/3Taehia

(b)Wﬁ%WWWWW%
FiATEE B TEAAS Tl CO 7, TqH Wﬂl TE 27 @

R g oTad TRl & TR 9 HR oTEd 4 o id
T 2
27. In fibre reinforced concrete, if the fibres are

not dlspersed properly, then the resulting
problem is called as-

whehie W, Al wIEER oIk § & eﬁﬁm

ﬁrem g, @ URUTHEET Ser=T § arelt JHe

Y T T AT §—

(a) Spalling/3c@sd

(b) Congestion/Herd

(c) Balling/TfTehra

(d) Segregation/J&eFnIuT
Ans : (¢) B Jafed &sie ¥, AR FER b ek
SherdT & Al RV e S B arel e Tferebra
(Balling) &gt 2

28. In a simply supported beam of span L subjected
to central concentrated load, the central
deflection is 24 mm. Then the slope at support is:

SE-Hhxd WR & Inefim W9 L T
HIROT |aida st o1 s ﬁr@mw 24 ey
B1 7 A fargenl W e Jia shitsu—

(a) (48/L) radians/(48/L) fEpe]

(b) (36/L) radians/(36/L) ez

(¢) (24/L) radians/(24/L) &=

(d) (72/L) radians/(72/L) &z

Ans : (d) AfE L = YoTeIftad €T 1 a1
F5 W 9.9 =24 mm
W
A l B
—
9 % 7 faeg ¢ W g
_wr
¢ 48EI
3
2u=YL )
48EI

A R el
_ WL
16EI

3(WL ) (T, (1) ¥ 99 W W)
48EI

0-3x24 = ez(zj feam
L L
Pick up the correct statement from the
following:
T | Tt ®UT & T B
(a) Amplitude of a wave is the height of its crust
from the mid-point/FT F1 TR, 7&7 fag ¥
39 R &1 S &l 2
Frequency is the number of wave crests
passglarrg)_Sr aﬁﬁxed point 1%§r§ %;i%n(g@
& A= T
el & we g 2
(c) Frequency of a wave is measured in Hertz
(Hz)/aT &t 3mgfe g2 (Hz) # ardt e 21
(d) All of the optlonsfféﬁ?ﬁ 7 9 o
: (d) il % sfew =1 Hed S FeT % Andta
TFIRTT 319al 999 5 & m & famm & mrem

29.

(b)

%@Wﬁaﬁww A 8, T Fead T
T 1 M, qe ﬁﬁ@ﬁ‘r%w@
Jave ¥ s fAfEm fag @gsﬂﬁ T Rt &

g*m’r%mrm & (Hz) ® urdt ot
%|aqﬁw%§nﬁw%w%q§
30.

Which of the following commands does not
affect the text font?
frafafiga & 9 &9 @ wHS SRS Wi &l

gTfera e Ll -

(a) Underline/3/eT@E (b) Italics/z2 et

(c) Borders/atex (d) Bold/aes
Ans : (c) 92L HAS SHZ BT H JAGd T2 e,
S LA RS & 9 AR GrEdl §, Thih S
&I fo@T T 8 q91 dies SRS Bl AL H B

31. The1's complement of binary number 10010 is-
A e 10010 T 1- T ..., -
(a) 11101 (b) 10101
(¢) 01101 (d) 01111
|Ans : () AT = 10010 3 1-T 01101 2| |
32. The number of independent elastic constants

for a linear elastic isotropic and homogenous

material is-/Tch T AT

it waret ¥ e weTeer i w5 we

Bt &
(b) 4

.........

(a) 3 @) 1

Ans (d%f@a;
TRY STEEIeUs SR mwhht wad ¥
Wwﬁaﬁr&'ﬁaﬁa@rzﬁﬁ%l
l%ﬂﬁﬁf?ﬁm%mwwﬁwaﬁﬁ@w
|
B s vwd & U waa ey fEde #
T 21 B 2

(d 2
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33. RE wall means-

RE ST 3T U1 ATH SRIT §—

(a) Resistant Earth Wall Afqee 314 a1
(b) Reinforced Earth Wall/Saferd 31¢f aret
(¢) Retaining Earth Wall/ff a1f amer
(d) Revertment Earth Wall/Raeiz a1¢f arat

(b) RE &9 &1 quf &9 yafera o1 aret 21 |

The special formwork without support from
ground, used for constructing tall structures
and which moves up continuously is called as-

st et e wgem, gfr &

WER & fomm fAfia ik ermaR SR =g arett

FIOETSN Rl AT el ST §—

(a) Tunnel form/gT &9

(b) Lost forms/@E HH

(c) Myvan form/fiaM &9

(d) Slipform/feerawmid
Ans : (d) 99U GWE Fgael 9adi, gd @ Se,
T, foafE g oed & i & s @ S @
G F ATEH & ¥ SR 33M @/ § IR S
TS H B FR H AR W BT @ 2| g9 fary
B HI T TR AT & & 91E HE 5 3 db I&el Tal
I 21 U8 HHE 3e agr dfae e el # -
R 3T TR ST Hhdl B
35.

|Ans :
34.

When an object undergoes accelaration-
o ferelt g =t |fa Tk e €, di—

(a) It always moves down
I8 AN A T I S 2
(b) It always moves up
T8 BHIM FW H R I 2
(c) It always falls towards the earth
Tg gHIN geat o R ARet 21
(d) A force always acts on it
39 T EHY T A H1 Ll 2|
Ans : (d) 5 5 5% F @Ra 6 o §, @ 3§ W
THM T o F1d T 2|
36. The property of the soil due to which a

decreases in volume occurs under compressive
force is known as-

gt &1 w® T, et a9 9 ddieT
T W W EET § el g §, 39 e
e AT §—
(a) Compression strength of soil

gt &1 dditen gmed
(b) Compressibility of soil/firgt st Fdrgad

37. The girders having two or more than two webs

are called-
oA S H e A« arer fTET (girders)
T el SATam §—
(a) Plate girder/‘ﬁ? firdt
(b) Box girder/atFq firgk
(c) Gantry girder/ﬁ?ﬁ firdt
(d) Balanced girder/aﬁ'{% firdt
Ans : (b) ST TEI—faR™ wRftefdl s @ @ v 9
3frh 1 wie TS § T T TR, aie TE el 2

Flange plate

" oo/l
[ T T
IV Il
kj kiWCblatc
Ay N
ey,
@zﬁ—wwwwmﬁmﬁﬁmw
foFam ST 8, oT: 3 wWie TEX Fed §1 Wi T g
S 1 T
\‘1
s
JANAN
A
e T
38. Electron was discovered by

T H ET ... T R TE -
(a) Goldstein/MesE
(b) Neils Bohr/ieq aigt
(¢) Chadwick/=sfas

(d) J.J. Thomson/J.J. 4TH&

Ans : (d) ICFEH TH BUGRT FeH U g, S W] &
et SR A & el o Fenedl ¥ T oAl 81 gelage
% T % FR0 & gad # FRE Gued $ 0 S 2 g
TR # @IS 1897 # S, e 7 fageH ol YA &

T Feie BT % TRUTHEEY e

39. The rain waterholes in the parapet or in edging

is called as-

1?l'!'l'az‘?JITQ'E»‘I'*T (edging)ﬁﬂ'ﬂhﬁ%ﬁrﬂ'{?%‘g’
T TR T sl st R et ST §—

(a) Weep hole/STaf~&mash fos

(b) Hole/f®x

(c) Water proofing/S/al Uer

(d) Edge hole/fFR & fox

(c¢) Initial consolidation of soil Ans : (a) 99 g AR AN, SAuRs d9Ri, Tead
&@W‘m el fomarer qen = 4t Sot fre SEet § S @ vy
(d) Consolidation of soil/fAgt T FEHTUT i 0 & ford 9919 9§
Ans : (b) T &1 F8 T0T & forgeh 941 TSNS | 40 The electric charges attract and repel each

¥ gar & oTgaT # B At 7, Teaar et 7 |

el &l GdigHar Yead a1 T % &9 H & bl 2|
Hftea et HTdi % SIShUII el

e & o H URadd Wi § IuRed &g, §d %
fAeher TaT gar St % TS % HAEEy eI |

other due to-

% ®HNU faEA AN UH-gER Wl
Rt iR wferenftfe s §—

(a) Electrostatic force/ﬁ&?&'ﬁﬁ ES|

(b) Aerodynamic force/dTfcieh &

oooooooooo
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(c) Nuclear force/aMHaH st

(d) Gravitational force/ﬂ%_r?ﬂﬂ E|
Ans : (a) R IA & HRIT AT TH T FHI
amﬁa@qﬁgamﬁ%’l @ﬁ;!%ﬁmaﬁm%@ﬁ
3T STEf A SHERE 9% W @ T ad feR
YA I FEA 2|
B 9 U od S EE @ d aeE e W sE
St femm fis &t nife fem & T@iee e

m y R 9a § R awg # S R died 8
ST 9d g% W YA 5N @l S 8, e ad
FHEAT 2|

(b) Kerb for both the side edges of the pavement
and 1 median at the centre line of the

pavement/HZdrd F A fF W wd R
FEq FH HEA T W1 Hfee

Median is a longitudinal element and kerb is
a lateral element Teh of e 8
3R Fd TS Uvd T

1 Kerb at the middle and 2 medians at the

side edges/m& H 1 &d R fHARI W 2
Hifgem
Ans : (b) F& (kerb)-FeUId qU TSH UYaHe @ e
@ W @Y1 YR AT bl 1 sclieh oAl S 2, o
e Fad gl
tifeam or oA geraerfi—fagda faen 9 s 9
A Gl B AAT-IAT A § SAE TS qdr T

(c)

(d)

41.  Foundation plan will show-

= o =1 weidia feram Smom—
(a) Size and depth of foundation/dfa ®1 3TN
U\'a'
(b) Carpet area/HNUS &THA
(c) Length of plinth level/ftcio éﬁﬁ EARGEIF
(d) Height of foundation/fa &I FaTg

Ans : (a) T 9O F FANMUT R H A g W

.........

.......

TR BT B |
Hia @ | fa 7 e qor HiT # e qwid Tw
42. The distance between centres of rivert holes
HAm R TR
Bt e
(a) 2.5 times the diameter of the holes
fosi & =9 % 2.5 T
(b) :
fssi o =9 & 3
3.5 times the diameter of the holes
fssi o =9 & 3.5
(d) :
fessi o =9 & 2
Ans : (a) e frer—ae W@ R figq @ #ama fadt &
% T H=x A d= A gh g Feard 21 @ p I
R f= = 2.5 x Rde &1 9m= =y
frehan Taa—
3231 300 mm (FAH)  —> b Rae
12 ¢ 31 200 mm (JATH)  — Hdred
43. Kerb and median are two elements in a highway
cross-section. Choose the correct match.
2 T §; A 3 ¥ T forenew o wmT Wi
(a) Kerb and median classification names are not
based on position in pavement cross-section
Fiffertor § Hafed AW, Fead & FE
T fRafy & R W T, e AR A W
STefRA B &

AEA-TMHA H TFRL B U & 79, TS & 7eF §,
THH e fawm H S FH HAn H favss gel o
S 8, IH AN JEh Hed g |
TYFhR I AeE = 2.5 @, F 5.0 T,

FEE = 40 9 80 9t
I & 18 gueed &t deE 1.20 ®.§ &F TG S
e

44. With which of the following fields is Zakir

Hussain associated?

o o P A A

(a) Literature/STge (b) Painting/fe=ehen
(c) Music/dfa (d) Sculpture/qfifaan

Ans : (¢) 9T & UG TGN 96H IR SR gid
T FNGh IS el &l % 07 &1 aRg a% 3§
& O UIed qEc i A 1 Wil g # el
Y& B @ o1 S ueen veew fAfEm g g wefaa
aed’ 1973 H ST 1973 ¥ 2007 7% 34 fafrm
I Seqal # wfawrT qer AtEar g # 3%
Wﬂwmwssﬁq@%ﬁ,zoozﬁwﬁ
TEHR § g fBam aml 1992 3R 2009 § 3%
e o fier

45. Which of the following is an input device which

can sense light, and is used to point at spots on
a video screen?

W ¥ & W gAYe feaeq ymmwr o
HAGT &Y WehdT &, 3R THeRT SUART difgan @
W Wie ot 3 o & forg fepam <mar g—
(a) Joystick/SiafE®  (b) Mouse/T=H
(c) Plotter/ex (d) Light pen/d@lge =

Ans : (d) @S U9, U9 F BN & @RRT fEaEY 2,
g T gge feamy #t we A W 21 s
T HPERY A W ferad, o s o fafear e

R Tie F I B F AU fHar w2

46. For night landing, the runway threshold lights
are lighted-
Mg AET & TG, qHEeS @ .. A=
e e 32—
(a) Red/ama (b) White/T%g

(c) Green/a0 (d) Yellow/dtem

should not be less than-
3 times the diameter of the holes

(c)
2 times the diameter of the holes

Taffd F £
16 t A1 200 mm ((IAdH) — ddq

w3l wifeam, TRt Tommt &t sy e &

but based on their shape/%ﬁ
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Ans : (¢) g WfET & o9, gHRies & & T ¥ A

fohen ST 81 & wraele w1 T8 gfed s ¢ 6 39w

FEl ¥ AW FE AR

47. Where were the Special Olympics World
Games 2019 inaugurated?

forvar @et 2019 w1 SgETET wEl

3T oT—
(a) Tokyo/ﬁEPiﬁ

(b) New Delhi/g feeeit
(c) Shanghai/S=TE

(d) Abu Dhabi/37d el

Ans : (d) 15 3 9 Fmepreli= eTaftus @, 2019 &
AN 14 ¥ 21 W 2019 & HeA GEEN (UAE) &t
TSE e g

2024 & FHASGH SclUss Tt &1 AN R (SHid)
7 foRam ar@mﬁgm@trm aﬁaﬁm’ﬁ gfEfd (10C) &t w91
23 S, 1894 (%H) | 83 411 10C & qE&Aeg
qq?m ¥ fog 21 ¢

48. Which of the following is used to write web

ages?
Bttt & & e i 4 o ey &

fore femar wmar &—
(a) HTML (b) FTP
(c) HTTP (dy URL

Ans : (a) HTML (Hyper Text Markup Language) e
qEE 99 W I U FI TIR FH & [0 Tqh Frredal
ﬁ?é?fé, S99 Hyper Text @@r Hyperlink?ﬂm?ﬁﬂm
S 21 HTML & fafte 39 O ot gew fofs & yam
Y ¥ g W I 81 Y ST etu
TR U 99 U1 § g 99 U a5 S Hebell 2 |

49. A is formed when each colour of the
white light is refracted in the prism at a
different angle.

a9 I9dT &, T Yad WhT9T R Wedleh 0T

e o weR 31eTT hIUT UR ruafed ST §—

(a) Colour spread/{7T JEX

(b) Rainbow/Z5ETN

(c) Colour image/&T Hfcifsiar

(d) Spectrum/@a?-'l

.........

Ans : (d) WT 09 A1 8, 99 Ad THE F TS T
55 # U ST HIUT W 3{qafdd B 2
50.

When one body rolls over the surface of
another body, the resistance to its motion is

called-/STs , & gaE W
TAHRAT &, T TRt i 1 foRIT T et o
R T gl ST §—

(a) Sliding friction/gdf =refur

(b) Static friction/€feeh =for

(c) Rolling friction/seet ST

(d) Electrostatic friction/@'{a'ajf THT
Ans : (¢) S THUT (Rolling Friction)- 5 a8 =
A A TG AR TA SR aE A T & U
qEHH F TGN WA 8, qGHS I FHEAMT &, a1 q
! TAel % f" A ATt g ot 1 AfedT w7 wed F

Tqag W Gehdl 2 @ & % el &
T S FHgAT & |
W A g HE B ©
ECTCI A R Gt |
wifess w07 9ot hed &1 Wi
AR Je 9 & R A 8
39 foufid 2t 81 T 9 (% @EHsH 9
2, St fop R o1 & 9@ W b Sgdl @ I %
f& Rifta 7y 3 &6 7 W)
51. With which of the following sports is Mithali
Raj associated?/firarelt T f=fefaa o @
fore @t & Heiftr E-
(a) Golf/me® (b) Cricket/fspehe
(¢) Football/Feafd (d) Basketball/areheate

Ans : (b) YA Afgen fohehex fiarelt T9 9 o197 23 T
F FRR H ot 333 79 Tl 3N 3 T4 F 9 Rpie
10868 T 19| 9 2 = § AT U A arel Tge

Tfgel Bhhex &1 3¢ 2020 § T[T TR W gaT|

52.  Compressibility is the reciprocal of-

..........
2

Bulk modulus of elasticity
YT o TRIG AT
Rigidity modulus of elasticity
oAl o gl HIdish

Shear modulus of elasticity
TN o STIEYUT HUih
Young's modulus of elasticity
I FeATET H1Yh

(a)
(b)
(©)
(d)

Ans : (a) GFfEIar (Compressibility)—fHdl a&] ™=
TfleT WK R SH% AT Hl FH B S AT
Hrdteal el & | rligd, AR Searedl AIdish
TR Bl 21

gedrgaar !

N (B):WWW(K)

53. Who was the first Deputy Prime Minister of
India ?
TR o UgA SU-FEITHst s 99—
(a) Maulana Abul Kalam Azad/
A HAH IR
(b) Sardar Vallabh bhai Patel/
TER oAy
(¢) B.R. Ambedkar/st. 3T, TeIga

(d) Sardar Baldev Singh/H%GER doied fig

Ans : (b) 9T & Tedd 3Y-THMHA TER docdq 9 9o
g1 F 15 S 1947 ¥ 15 REEX 1950 T 9NG &
TEWA & WY IT-HEE ff ) GER R F 9T &
A8 &Y % &9 F ST S S| I 31 IS B TER
TS S H THT Tl e’ F ®G F A€ 2|
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54. Terzaﬁhl s bearing capacity factors depend on-
I

% GO eTAar quiek TR X fasit

HIAT -

(a) Angle of mternal frrctron of soil and depth of
foundation/fgt & g
N TETE W

(b) Uniformit coefﬁcrent of soil and dry density
of s011 & THEIA T R FE F I

(©) Coefﬁcwnt of curvature of soil and bulk
density of soil/fgt & ashal Ui R frdt &
A TG ol W

(d) Angle of internal friction of soil only/év_lﬁf
firgt & e7fafes =efor T W

Ans : (d) Sf. WM T TG GROT &0 TG FH & T

fa weteRt fau-

Ffer g % feru— s @ A b

qr= 1.3 cN; + yDNy + 0.4 v, Ny

NC,Nq,N ST S O | A it wed § e
%arwﬁlraﬂ?ﬁﬁsrémaﬁmqﬁrmmﬁﬁz

55. Soil at a site consists of two layers. The top

layer has permeability k units and bottom
layer has permeability 5K units. If the thickness
of both the layers is equal, then what is the
average permeability in the vertical direction?

fordt wge & it # & W 3 Ul W @t
YIERET k $eRTs 3R Torerell wia o urrerer 5k
T §1 gl 1 wal @ WeE gwe
Feater feen 7 i T [ -
() (6/5)k units/(6/5)k HTE

(b) (5/3)k units/(5/3)k ZHE

(¢) (5/6)k units/(5/6)k TS

(d) 3k units/3k HE

Ans : (b)

K

5K

HeateR feen # 3ited g

Z+7Z 27 10 5
= = = —K= 2K e
z. 7 Z(Slj 6 3
K 5K 5K
In which of the classes of lever is fulcrum
laced between effort and load"
%-TFI Eukcy T AT, A 3T 91 &

ster fore grar §—
(a) Class 2/af 2
(c) Class 3/at 3

56.

(b) Class 4/at 4
(d) Class 1/a 1

(2) fseftm =t (Class I)- 399 9R, Y9 a97 e &
i B 81 SE- Tl
(3) g ot (Class ) S99 519, 3Tefa qdl 9’ &
e fe grar 81 S9- fmer)
57. Consider the following statements:
HAAT T F 3T W fereRew
T T -
Sinking of an
continuous beam
@W@W%WW& (support)%@erﬁ
(i) reduces the negative moment at support.
w ATl SRUTTcHeh w0 B
T B
increases the negative moment at support.
™ T RUMCHeh  3TEUT oG
T B
reduces tg;lgositive moment at support.
™ AT TS w0 &
T R
increases the
of span.

ATVl I AT #)

Of these statements

(a) (i) and (iv) are correct/(i) R (iv) &I 2

(b) (ii) and (iii) are correct/(ii) 3R (iii) =&t 21

(c) (ii) and (iv) are correct/(ii) 3R (iv) w&t 2l

(d) (i) and (iii) are correct/(i) 3 (iii) T&l &1

s : (a) ¥R A1 I & Haddl & HRUT U & HqeF §
(W)Waﬂ@wmméaﬁaﬂaﬁrm
(o) dH et I A 1 oww ¥ werEd
el o fHfHT % HROT STE W FOTHS s vt
T UE S 6T & IR U F qeA H D Sh A0
1 H g ST 2

intermediate support of a

(i)

(iii)

(iv)

ositive moment at the centre

58. In pre-stressed concrete, high grade concrete is

used for-

d wieferd sheble W, Soo U chedle oAl
SULNT At feRaT ST -

(a) Having Low creep/f= faador o\ == H
fere

Having concrete of low ductility/F=1 &=ar
AT FHHIE T HH & T

Havmg concrete of hrgh brittleness/3<d
TR FTel e T HH & e

Controlling the pre -stress loss/q8  Sfaaferd
B = fEfa w1 % fae

(b)
(c)
(d)

Ans : (d) [@-vfEfed shie Fao & o 3= ¥s, &
HHIE A fohar Sen 81 HifE 3= AT A S §
HpeH T F T fEuT 9gd B9 g 2|
& T FE & T =AaH I8 - M - 40

Ans&)@@ﬂgmmﬁﬁﬁﬁ qge o HE % AT = 3% - M- 30

kS T ' i ST AT | 597 If two individual footings are too close as per
SRLIEAN W;‘ﬁ? a ma FI WA # fope S 81 effen design, then they should be converted as-

i it § afe S wehd §- o FTAR T -3 T aga
(1) w9 Tt (Class 1)— T9H 3T, YA T 9% & g ArdieR B, A1 3% .eeeee % B U uRafda fewan
fo B &1 S9- Sef, 5w S g T =R—
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Combined footing/&aTEg BT

Strap footing/@q 5@7[

Mat raft/de T

Strip raft/fZY Tw

Ans : (a) T $ @ A9 WH F G0 W TR B
frepell gt 21 TR fed WY # deR W |
9 3FAYE I G erwar W e s 2

F g F e s @ @

AR I = A
Which of the following is NOT an anti-virus
software?

T ¥ ®E-T TH-arrE G’
& T

(a) McAfee/THUd! (b) Kaspersky/sHEEh
(¢) Oracle/3TRaet (d) Norton/dET
Ans : (¢) 3R (oracle) Ty e SN 0% &9
3G fFAr 9 aren Reved Sy dawde faww
(RDBMS) SIaTR 8| Salfsh AidH, AUl U5 HEwh
TH-aPRy HHeaR €

61. A passive sensor uses—
ﬁr&w £=1: £ S T STTRT

(a) Its own source of energy

AT -

THH ST S B BT &
(b)
el &q & &9 H g
Flash light as a source of energy
el &% BId & 9§ AW AR FH
(d)
ZrafeE 2adl ¥ fsen e faraa
Ans%(b)ﬁwwm@ﬁ%wﬁgﬁww
HLA &

Sun as the source of energy
(©)
Signals emitted from transmission towers
62.

The maximum height of a projectile is given
by-

e S SR ST SO 3
BT STeRT TeRaT STaT $—

(a) (u’cos’a)/2g (b) (v’ cos2a)/2g

(c) (u*sin2a)/2g (d) (u’sin*a)/2g

Ans : (d) W FN WW AFHAT AR H GI

2 .2
u-sin” «a

; SR = fFAT ST 21 SEf W ou = yee
g

fUs i TRAWE o T ‘o) FEH FOT TE g = ToA
S T 7

63. Fe+ CuSO4— FeSO,4+ Cu

The above reaction is an example of a
AR ...c.... T Teh SSTEI0T §—

(a) Double displacement reaction/

(b) Combination reaction/Hars 31fufsan
(c) Displacement reaction/faema aaf¥fshan
(d) Decomposition reaction/3Tqee 3TfHfspa

Ans : (c) fozemum smfirfeRan - @ & 9@ 5 W
A I 3% TG & Sy e ¥ forenfid & 3 8,
gﬁ&mmm@mmﬁ%

(i) Fe + CuSO4 — FeSO, + Cu

(ii) Zn + CuSO, — ZnSO, + Cu

IR gl & T Affhad wher faremgs s &
3L § S

NaCl + AgNO; — AgCl + NaNO;

fefereamae tffshan 1 T 3R 7

64. TAQ means-
TAQ T 272 =T &—
(a) Indoor Air Quality/SeR TR T
(b) Interior Airconditioning Quality
(c) Indoor Air Quantity/%@ﬂ TR Fifedt
(d) Interior Architectural Quality

' Faferet

Ans : (a) IAQ &1 U0f &Y “FSR @R el 81 1AQ
foreft wam o1 T % Sfe A A’ SR Ay

& R H ST 21 81 T8 e % L W ATl Ahal
% @ 9 W § TRt 3 |

65. In which country's spacecraft did Rakesh
Sharma travel into space?

THRIT IHT A ToRe <91 o IiRer o= & 3faRer
ITAT ki oft—

(a) Germany/\_ﬂcfﬁ

(b) Soviet Union/difeae e

(¢) UK

(d) Japan/STar_

Ans : (b) f&T FAET THY W WG G (FE) F
Higst & - 11 SiaRer a9 § ARy § T 9, 77 e
A SfARe STEUM EMeA (ISRO) 3R Hifead gex
WWN@?@FWWIWWﬁW
sfaler aifd & @i ofaRer § 7 fa, 21 =w2 3ik 40
e foam)

66. Which of the
statement?
The strength of timber

I 9T R E §?
RSl ht AL —
(a) Is maximum in the direction 45° to the grain/
3T % 45° fem # e B 2
(b) Remains same in all directions/S+t faemssi
(c)

following 1is the correct

U B 2
Is maximum in the direction perpendicular to

thegraimﬁq%mmﬂﬁﬂwaﬂél

RRB JE Civil CBT-II (28 Aug 2019) Shift-II

34

YCT



(d) Is maximum in the direction parallel to the

grain/g5% 37 % GAFIR e & srfeean 2 21

Ans : (d) T9S & QM & GUR AHE! B q9 g

W@;@%ﬁ%ﬁm%ﬁ%mwwﬁwﬁ
FH |

67.  Which of the following is NOT a flood proofing
measure for houses?

T U S W o ToT0 Ua sl Sur i g

(a) Detention basins/3TaqeH sifdq

(b) Elevation/3~1a9

(¢c) Flood walls/%<T€ 9Tt

(d) Dry flood proofing/gT§ F€ kT
Ans : (a) AL AT (Detention basins)—T%h
UL I T 3@ &7 o 3 S 9 § a9 &
fora afeai el o1 @vel = wees Al W Hifta 9
% ford urft % S@TE 1 H F 2
A€ AT (Flood walls)—F€ SR T TR HEH
T4 BT & S AEL ST B G § FA A el |
gE TS YA (Dry flood proofing)—3T TS YT
F1 o1 a1g & U F T H FA9 B G T & ford
Tt I AN fRam ST 1 THH A & U @ Al
WA F o g # dd B iR e g AR

I S S gE W e 2

68. The strength of winds is measured with the
help of X
garell st |Hed W AW 9 feRmeR gwT Wm
T §—-

(a) Tintometer/[ETMHIT
(b) Wind indicator/9a- §dh

(c) Barometers/aTg&maHTdl

(d) Beaufort scale/sThe ATISHH
(d) TR & gmed H AhS Whel g AT AT

Ans :
21

69.

To which of the following cities was Swachh
Survekshan Award 2019 for India's cleanest
city given?

[ ¥ forT ITeY oAl oD |AeTT T 2019
& Iiid TRA & WAl @Wes el & ®U o
YWhd feRaT -
(a) Mysore/ﬁ'{{
(b) Ambikapur/3ifsihTqL
(¢) Ahmedabad/3gHIETK
(d) Indore/gaR

Ans : (d) 6 A& 2019 H TPUT THAYT SIS 4 TaE
R Wl I T @ T W Ew g [N
2019 & 3FT(q Falfeeh T@ed R H WH EER
TR el I 81 (9.7.) F Ja fpar

WS T 2021 % IR AR 59 a¥ AR (A
YTT) Pl WS TAIU F qad TR b HoOd W I H
flame e fHar T SefE g R fasEarer 3w

T F AU T g R

(i) 3R (A.9.) (ii) SRR (FHETE)
(iii) AGL (iv) IS

) :I':f feeett

70. 1In 2019, RBI lauched SRPHi, which stands for:
2019 ®, RBI ¥ SRPHi &1 1R« ferarm, g@ert
qul ®9 T E—

(a) Survey on _Retail Payment Habits of
Individuals/dd 314 ' 3H
ESlENER]

Survey on Retail Payment History of India
Survey on Rural Poor Habitation of India

T 379 S PR YA 31 e

Survey on Retail Payment Habits of Indians
Td s fa Tie gfoew s dfeely

(b)
(c)
(d)

Ans : (a) 3% 2019 § RBI 4 SRPHi & Y[9RY f&aT,
ERED Tﬁ ®Y 'Survey on Retail Payment Habits of

individuals' 21

71. The Nobel Peace prize for contribution

towards environmental conservation in 2004
was awarded to 2004 o

TGO W ATEH o T Hee 9Tt e |
T feRaT T ar—

(a) Ratan Tata/Tdq 21T

(b) Dr. Manmohan Singh/2l. e fig

(c) S.D.Bush/S.D. 921

(d) Wangari Maathai/armmy 1-T9If§

Ans : (d) FF 92 qaHe TTT & GEIE Y AR B
2004 # wify &1 A& faem o1 9% gHE 3%
O S HAT § g & G@T 3R R ¥ Sd e
F fou fer mm 3 Aed wifd R 9 gl gger
3Tshient Afget of|

72.  Through which state do the rivers Chenab,
Ravi, Beas, Sutlej and Yamuna flow?
, TElt, =], A 3 I Ateat e
TSI | EreRt &t §—
(a) Jammu & Kashmir/S/™] T& sHyHR
(b) Punjab/d4sTal
(c) Haryana/gRamm
(d) Himachal Pradesh/f@Amarel J&9T

Ans : (d) FoF@E, &, @M, "daw R FEAT AfeEt
ferrae 2w § g aedt 81 foee, e, =M, gdes
fiy & wews ARt 21 ey 9 @ sgm fiew §
TSI e § g @, A T S G A 2

73. In case public drainage system is not available
in a locality, then the structure used to store
waste water from toilets is:

Tfe ferddt gommer O ATdw=eR Wt THreRTdt yomett
Suersy T §, At sienerdl € frehew amer
UM T Al WU A & foag fore doemn
T YT feRam STaT -
(a) Overhead tank/3TaR@E %
(b) Storage tank/RRS 3%
(c) Septic tank/Afes 3%
(d) Sump/AEsTT

Ans : (¢) AT fFdt goms § e et Jomedt

IYAH & 8, d vl § e el S7aRTe Sl @l
TE i % ford dftess 3% &1 39 fohan ST 21
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74. World water day is observed on-
fervar <ot foer® v wTET SITAT 8-
(a) March22/22 99 (b) March 20/20 A€

(c) March24/249<  (d) March 26/26 &

Ans : (a) TIER0T Td b W SY® TP HHeE 1992
T TP T 4 T YW@ g0 22 96 & fag §a
feag v i Aom # R gad fe @A (SDG) -6
ad 2030 a6 Tt & T a3k s F AT H
Fad wr ¢ fay S feaw 2022 AW 3 g

33T FHI TYIAH T

75.  If the initial setting time of cement is 5 minutes,
it can be classified as

gfg e 1 yRfisw e wug 5 fime g,

ELe] U affera feram =T TehaT §—

(a) Quick setting cement/¥s ST AT YT

(b) Rapid hardening cement/STEl FoR g aren e

(c) Sulphate resisting cement/Fethe & T

(d) Low heat cement/f 3sAT e

s : (a) I SR arem WHE (Quick setting

cement)—T¢ YT UM e W 3ig S S @1 gHen
wwws e qor SAf<qw StHe el 30 e

|
yfrer swharieRtT Hide (Rapid hardening cement)— (IS
8041-1990) 5 HHe = Hiie & qa § 3w =
T FR ol 21 Gie i 1fis wd G S 21 g
YR SHME Sl 30 fiFe qor sifaq SwE e 10

U BT 21

76.  The heading up of water above its normal level
while passing under the bridge is known as-
A 5 T U ok W WA
U IS WA W AT HE AT E—
(a) Free board/St a2 (b) Afflux/3eM
(c) Scour/FES (d) Clearance/fFe=Rig
: (b) T (Afflux)-qa a1 Yferan & = & Tord
w T F W TR Y IR 33 TH B e
(Afflux) e ST & |

...........

Bridge
Afux 4

____________

77.

................

(a) Settleable solids/FZ B a1t 31

(b) Suspended solids/ffsa 3|

(c) Dissolved solids/gferd 3/

(d) Colloidal solids/Hger 39

: (a) SHEMR ik (Imhoff cone)- IE TH WY
WW@W@%WWW@W%W
SN ST AT SAURTE ST I 1 e A=A § I
a1el 31 (Settleable solids) &1 HTq § fhar ST 21

Templates/@tqé{\q

Set squares/T(+4T1
(¢) All of the options/fsedi § & qeft
(d) Drawing sheet/gTgT 3fie

Ans : (¢) SET | T T aTet SUHT T &

(i) SHeE

(ii) gﬁm (¥ =)

(iii) gET ¥e

(iv) feamgst

(v) HH

(vi) ST A amfe

79.

(a)
(b)

Tintometer is used to measure

féerdter =1 Su=mT 399 ¥ feRmeh ATU= & o

ferar ST g—

(a) Hardness/&3XaT (b) Odour/T¥

(c) Temperature/ddd™ (d) Colour/{T
Ans : (d) TESHeT (Tintometer)—S/a & TT & TeT0T
% o3 Tt (Tintometer) 3T YA f3ha S 8, Rgs
it & 5 o9 B B g § ufaeel o wmRe @
@ gd, qH S # g @ 9 21 9 A
wiEs U dfesl St & 07 et S 2, 39 wiEs @
T @9 FaTee Whet W ¢ o Sl &1
80.

The bracing provided in the plane of end posts
is called

sife wel o "Ha@ # fau g iy @ @
el T §—
(a) Top lateral bracing/’QﬁQC ared ST
(b) Bottom lateral bracing/deit ared ST
(¢) Portal bracing/ae ST
(d) Sway bracing/® SfET
Ans : (¢) 3ifH wel &% guaa § Ry WU ST & Uk
ST aT ST 2 |
81.

What is the volume of a 6 m deep tank having
rectangular shaped top 6 m x 4 m and bottom 4
m x 2 m (computed through the use of
prismoidal formula)?

6 HIeT x 4 HieT & AATRR i 3T 4 HeT x

2 HieT St aelt It 6 HieT e Sk T IaT

Fa @wiwe (et g3 @ St ek

TOET Y )—

(a) 92 m’/92 HeT

(c) 90 m*/90 HeT’
Ans : (a) Prismoidal formula

EIRE] (V)=%[Al+4Am+A2]

A=6x4=24m’
Ay=4x2=8m’

Am = (ﬂ)x[ﬂj = 5 3 = 1]m2
2 2

(b) 94 m’/94 HeT
(d) 96 m’/96 HT

4m

6 m

78.  Name ’the drawing instruments and aids. I (V)= 2[24 +4x14+ g]
T TS g (aids) ohT A 6
i =24+60+8=92m’
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82. Which of the following cricketers was/were

induced as the Honorary Llfe Members of the
Marylebone Crlcket Club (MCC) in A{)l‘ll 2019?

2019 ﬁﬁﬁaﬁwﬁsﬁaﬂa (MCC)'&—:W

JTSHE HEe o & | ke ferar T&r—

(a) Virat Kohli/ffRie shigeft

(b) Inzamam-ul-Haq/§SHH-3d-8%

(¢) Mark Boucher/TTsh TR

(d) Both Inzamam-ul-Haq and Mark Boucher
ESMH-3A-8h 3N Wieh a8 &l

Ans : (d) TS & fFehet goWM-3ol-gh 3R R0l
ITEH F b U TR H WA 2019 H AR
fohhe Fo@ (MCC) % TR 3TSiaq 9w & &9 ¥ Ife
[ERIRIE

83. The minimum grades for PCC and RCC
structure as per IS code is:

IS ®IE & IFERX PCC 3R RCC T &
fo == UT ..., B -
(a) M 20 and M 30 respectively
I M 20 3R M 30
(b) M 10 and M 15 respectively
FHA M 10 3R M 15
(¢) M 15 and M 20 respectively
AR M 15 3 M 20
(d) M 10 and M 20 respectively
AR M 10 3 M 20

Ans : (¢)

W [S-456-2000 F HHfT % TER W Faferd e aHshie
(RCC) & fTU M-20 ¥ ¥ I & FFHi H FAT Fai
e <mar 21

m T e Smic & 8 =Haw M-15 38 i FHie &
AT foha S R
m 7F yafed ssie & ford M-30 § 31 I A S
F AT T E |

Which of the following protocols is responsible

for converting higher level protocol addresses
to phgswal network addresses?

, ETER et FreTehict
@vﬁﬁsﬁwﬁm@vﬁuﬁaﬁawﬁ

o o SoRarEl 8-

(a) Address Resolution Protocol (ARP)

(b)

84.

R

Internet Control Message Protocol (ICMP)
SIS el HES IEihicl

Bootstrap Protocol (BOOTP)/ELE@C[ BICAEA]
Reverse Address Resolution Protocol (RARP)
ot tgw Reaeges werid

Ans : (a) TgH RSA@RE TR@HA (ARP), 8RR oad
TerHd TSH & fea deas tgd § Rafdd 3 &
fere sawert 21

8S.

(c)
(d)

For limit state of collapse, the partial safety
factors recommended by IS 456:2000 for
estimating the design strength of concrete and
reinforcing steel are respectively-

ARG o Trara= =t diftra Reafa & fow, s
IR geden @ W feemea wmed @
MR A & fo@ IS 456 : 2000 BRI
I 3TITYTR GR&IT TUTEh THATT: ....... T &§—
(a) 1.5and 1.0/1.5 3R 1.0

(b) 1.15and 1.5/1.15 3 1.5

(¢) 1.0and 1.0/1.0 3R 1.0

(d) 1.5and 1.15/1.5 3K 1.15

s : (d) = H qAE G g &Y qaErEa &
FH F od Fis # wadl 9 97 & o gren
U G £
Her staen fafyy § Hsle & fod o7ifTs TR T v, =
1.5 3R Yoo T & o oTifes TR Iy, =

1.15 forn s 21

86. The financial analysis helps to judge:

farefter fervermor 3o & == ferifta &= & 7eg

AT E—

(a) Both the operational efficiency of the firm
and the financial position of the firm/®H &t

IRETE g1 3N & & forirer Rafy 2=

Neither operational efficiency of the firm nor
financial position of the firm/q o wd &

qfeTer Ze SR T & W S fade fafa
The operational efficiency of the firm/®H
R e

The financial position of the firm/&d
[ERIRRERIG

(b)

(©)
(d)

Ans : (a) oeiT favemor & & qR=red g 3t o

F forcdtar Rafer 21 @t fifa s & weg @@ 2

87. If there is any obstruction to the uniform
settlement of hardened concrete, it forms a
crack known as

THTHTE O | g off arem o W Sa=
EIN ATl U hY SRIT kel STl §—

(a) Random crack/amgfes® TR

(b) Shear crack/3T9&YUT X

(c) Settlement crack/FIMId SIX

(d) Longitudinal crack/ﬂEl‘é%'&f ESUN

Ans : (¢) Th THE Y9 (uniform settlement) T &g o
T ST T 3T B aTell & T &R (settlement

crack) Sgar 2

88.  The highest point on a carriage way is known

gﬁ&%mﬁgaﬁwww%—
(a) Camber/sha

(b) Super elevation/gdX ENE
(¢) Crown/shi3q

(d) Gradient/Afste

Ans : (¢) ST (Camber)—Tah TSHI & HA A
mﬁéﬁwﬁ@ﬁww%wﬁmw%m
Fed 2

BATST (Crown)— TSH & W& & T4 34 fag &1 o
(crown)&%’%%l
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AFEUUT (Gradient)— T=TE & 301 H G & 389 9
e Bl & B e gl A AT FHed
ElRIRIEN (Super elevation)— AfsT bl W 3Tl I
T J99 H A FH F 0 g B el I, Sl
R & 37T F 331 e S 2, T SR e €

89.  Superplasticizer increases slump of concrete
due to which phenomenon?
g i frm uReesn gmr shehie &
FrEUTa (Slump) ¥ Fhg T &
(a) Dispersion and deflocculation of cement
particles/SHe Huli &
(b)

Deterioration of cement particles
(c)

die Fuli &1 G g T
(d)

Densification of cement particles
e U T TS

Drying of cement particles

THe & HUT &1 &l
Ans : (a) gWX TATREAES  (Super plasticizer)—
JUEAREEESR 3ea 9wl & FHe aH & fau 5a
e & &7 § 1 I 21 ©RedEs § T9mEH
difs & RRs g/ 15% %9 Seiien W S @
I fopaT ST T 81 YR feaEst GHe i %
TRETUT 3R SO SR Shshie % S § i B 2

90. Which of the following is the most reliable
estimate?

¥ | ®E W IMheA Gaifiw

fergererfiar g 2

(a) Cube rate estimate/5q &I 3flheld

(b) Plinth area estimate/ftcie §ThTT I 3T

(c) Preliminary estimate/SR[¥e 3Tehet

(d) Detailed estimate/[q&jd 3Teher
Ans : (d) ¥ I UEheH, FHI GTRA I HIGHAH,
TRFTR WiFeheH ae fagd Mashe § © forga gorehe
el feryaga g 21
forg wabe ¥ ¥ weafed G A g 9ol we S
TR & e MO A S R SR S A & ¥
T & AT 9K (abstract of cost) TR T S 21
91. The point of contraflexure is the point at which

changes its sign.

TR fog, ag fig ot § e w

37U forg sIgeter g—

(a) Torsional momentﬂ:(ﬂér 31'[‘{0'?

(b) Shear force/3T9&YUT et

(c) Bending moment/sieh S0l

(d) All of the options/fahedi # & eft
Ans : (¢) 99 & S fog ® 309 9o s1aan foe aamn
2139 faFg & fq IRad= ﬁ—'g (Point of contraflexure)
Fed & a9 3G oG o B AHA ARG Y g Sgetn
21 AR uRadd forg W e @ B AW S g
21 A oRada &g sfer 2T o, T o 9o et
o # g 9 R
92. What is the unit of refractive index?

STUEdeR ST AT IT §—

(@ m’ (b) Dioptre/@T?ﬂ"ZT

(¢) No unit/FE 75 & (d) m/s

......

Ans : (¢) fHafd & wber it T qAr gy B SHNT
A N STUM, 3T AT I TG Feedl 2 |

foreft wrem &1 sTuadAIS

et e ‘ (n)zﬁaﬁrﬁwﬁw(c)

e F S # A (v)

_°
Vv

UG BT HIS AHS ALl BT 8, Fifh AW T & Al

T g &1 & a7 81 ggfT, 3Ty 3R & aFl § uEe

Wey/Wehve B 3R I8 aFi 3w ¥ e & S

93. and water in the air react together to
form carbonic acid.

L Y, arg s SuRkafa # efafmem
ek ShIET(~Teh 3T ST 8—
(a) All of the options/f&cdi & T Tt
(b) Carbon/awE
(¢c) Carbon monoxide/HE AISTFIES
(d) Carbon dioxide/®F& TTETaFHES
Ans : (d) FE SE-AaRE 3R T A & uRafd §
MEHAT FTh HE(h 3 o1 & |
B 3T TS THESE A 8, S o | HESISEN
HEA (HY) 1 21 ST qu7.o?§qam%|
S ﬁ%w ;IHdS i W%Tg
aqgfﬁ ATST aag{’maglﬂaila
ST Wi e (FR) F gRgeH e (H) Y&H
1 81 S9- it o (R #) it gowgRe
e (aeht #)1

Compounds of which of the following metals is
used in black and white photography?

ﬁﬁ?ﬂrmé—:aﬁﬁ#aﬁr:ﬂaﬁw
HRIA-Tthe ISR | feRaT SITaT 8-
(a) Cu (b) Ag (c) Au (d) Al
Ans : (b) foe FaRES 7 e SUEs & YA Ha-
Qe EIRAE H fFaT ST 8| BREfhE fhew & faeR
SEE ¥ Wfud fhar S @ @ fhew &1 ger e Hren
2 o & Ry TR a8
BT Y Th TER Ad €, A A oW g9 s
Yageie WA & Td8 W U BT 9l Afafsia smr
8, 3l wfafeorar % fafer famgall & st srprer Y e
% YN W el SHEe &7 a1 sae fFufed g 2
m fYesR SHES (AgBr) W, gohl diel, 9ia # ifae
0T BT @ S YHIY & U STEET Haeaeie &
o ST e 21
B fUeeR SEEE WA M & WY e ¥ wfafsar
e e SR 3 IS iRy 3cae il 8
The member which is subjected to bending is
called
sieh o 27efi TRed oAt o heT AT 8-
(a) Beam/dH (b) Column/&q
() Footing/@@ﬁ'[ (d) Slab/<ia

94.

95s.

T st 0 3 1o o o
A A TATH e e
# 2 €1 3wl B g o B e B €, R

HAEEY S5 TREd 36 BT 2
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96.  Soundness of cement is tested by
- s

(a) Vicat apparatus/ﬁl%ar ERETU

(b) Hopper apparatus/8dt 3ThLUT

(c) Le-chatelier apparatus/cit e U

(d) Izod apparatus/31IgSiie YT

et §—

Ans : (¢) vH-TRf=ER  SUSIT (Le-Chatelier

apparatus)—ci-9efereR. wliemr g dide ¥ SR 4

foraifomr & ST 3 ST @ ot o fame e sveRer §

(Free lime) &1 Tl o7& Sl &1 I8 GH&0T ofi-
SYHLT SR AT S 2

TeuT % SN OPC Hife # SOR 10 mm ¥ fersh &

REECIE]

97.  Which of the following is a waterborne disease?
TAH | I | Tersttd I §—
(a) Tuberculosis/ddfee
(b) Anthrax/Tgsq
(¢c) Cholera/8s
(d) Small pox/BIEt ¥
Ans:(c) g5 fafsen ol Ame Shamp 9
gwﬁﬁgn%sqﬁ%ﬁ?aw%wamﬁﬁ T
EIGIRARSEIED G AT
ey SfeE T Stam] % SRu qur 9w
A % HRUT & arell U & |
98.

i

HT,
aftren

Which of the following output devices is used
for translating information from a computer

into pictorial form on paper?
ﬁu%@ﬂﬁﬁmwmvmw
HEEY ¥ TSN & foema w0 § @ W
TiEee A o forg femam wimar g—
(a) Plotter/wiieX (b) Touch panel/Z=a e
(¢c) Keyboard/®@E (d) Card punch/&E v
Ans : (a) WX TF MRYe fany 21 599 fm, =%,
I e 1 fie fham ST Tebar 81 7 FIS F g I
yiie W ST I BT X bl 81 wiel 1 AR 1953
# ftpicT T g e e an
99.

For which of the following games is the "Indira

Gandhi Gold Cup'" awarded?
“?&Trwﬁsﬁwn?aﬁu"ﬁmﬁaﬁaaﬁﬁﬁw
T & T v feram ST g—
(a) Women's football/AfeeT gsict
(b) Women's cricket/AfgaT fohehe
(c) Women's hockey/Afgal gleht
(d) Women's badminton/dfgel sefiie
Ans : (¢) U TR @i 9 @leen gH WA & fog
Sar fepa S 2

Ans : (¢) TFTE TH 37T ¢, ST FaNT Tegufam
% fafmfor § fofar s @1 wR qE:  ewwad i
U S g1 HfEw SRS % Gad 9] 3RS 2
FRGUE § TERSH, A T91 el 9 ek Icqadh
&1 ¥ o, TNETE , TERY U6 WRY 3 JiE
IEE U9 7

101.

The critical load for a long column with both
ends fixed is 160 kN. If the same section is to be
used for another column of double the length,
the critical load is:

T frer Rl ot ek e W o T shifoes

O 160 kN 31 Ife 9o @ & 399 SN

WA o foRHT 3T Wiw o for g fema s

¥, Y shiferer W feRa=T BHRTT—

(a) 160 kN (b) 40 kN

(c) 80KkN (d) 320kN
Ans : (b) AT W™ H HIE &TFA = A

ey P ardfas @R = L

;g & g Y-

P nzfl
l

160 4

102. Ozone layer absorbs

which are very

100. In which of the following districts of harmful for the living organisms.
Jharkhand is bauxite obtained? IS U e T AN et &, S SHar
3111@;_% ¥ form faer & wfemmge aren %me%‘—.
Lohardaga/d (a) Gamma rays/TTHT fRT0T
((gi G(l)mglllra /%gq% (b) Infrared rays/3T/aa fHon
(¢) All of the options/f&edi & T Tt (c) X-rays/X-fom . .
(d) Ultraviolet rays/aqsTt faheoit
(d) Lather/adex
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106. What is the correct formula of washing soda?
e HIST T e g T e
(a) N3.2CO3. IOHzo (b) N3.2CO3.H20
(C) N32C03.6H20 (d) N32C03

Ans : (a) 9fST0 FEHE Th e A0S &, THH
TEEARE GF Na,CO5.10H,0 21 39 o el ff a1
S 81 gEH WA el erdE g g, sufn she

UG HUS GH & foIw e S 21

. Which of the following forms of land
degradation is more prevalent in India?
3?% TR UeR &1 ogfH-
arfrer I@ et frerar -
(a) Soil subsidence/gal IUEN
(b) Landslide/¥detd
(c) Desertification/sisR
(d) Soil erosion/qal AIIGA

g |

: . K5y
IR E, G- S # FeE, T
M| 3T U & U H I~ Aoe dealdt, gfF &
guad &, SEe @R e, I A o, 5
TR I AT 3T aG AT M|
104. The vibrating of the concrete before grouting
makes the quality of concrete

St hehlZ T hUA, Thehie Rl
TUTEAT T v AT B

(a) Fair/gafa (b) Slow/drmn

(c) Low/f= (d) Better/sigaX

Ans : (d) FH F TRRET ¥ T/ Fhic & FH FH I
79 il § SuRed 9 ek ekl ST @ SiR deie g
ST @ 3R Sl o1 T Sg ST W B 3

105.

In a compaction factor test of concrete, if the
compaction value is less than 0.95 and greater
than 0.85, then the standard of the workability

is: & TEAd U Tt W, afg wWee
mo.ssﬁar&maaﬁwss%ﬁmmﬁm%,

(a) Medium/HeaH  (b) Good/3T=d

(©) Fair/qaie (d) Very good/sIgd 37=1
Ans : (a) & TUTeh THETUT—Ha+- 0T 0T g1
iz sl 1 geEdr # A A S 21 Hee
TS G e TR d e o gEETT & A
T ITYFT BN 2

Hehie & TR HEAA TUTH
ST 7 g 0.78
e g 0.85
eI G 0.92
I=I gHA 0.95

107. Gypsum used in c¢ement manufacturing acts as

a/an, ) YT
T &

(a) Retarder/Hgh

(b) Air entraining agent/TI{ E;ﬁ'ﬂ TS
(c) Accelerator/csh

(d) Plasticizer/RZHESR

..........

Ans : (a) 9 &7 9 0 999 399 2 ¥ 3% forgm
(CaS0,.2H,0) i Sar 81 a8 4<% I &1 Ll 8
3R gife & s A B § foom & 8, aifF Sehie
e, o8 & 99 Wi W STe & evas A
T ST HWeh |

108. Local attraction in compass surveying may
exist due to

H I9E 9 HWUE S H T
ATHTUT WSS & Hehell —
(a) Loss of magnetism of the needle
e
(b) Incorrect levelling of the magnetic needle
(c)

JaHE g§ A T

Presence of magnetic substances near the
instrument/AT9=T & I et

Friction of the needle at the pivot

(d)
g8 T gE & o

Ans : (¢) T meRsT (Local attraction)—W’q
T H TN W< TH T A §a e
TR S @ AR, W 59 aml 7 -l T
TR BT FA H HRT, IR § AT ER-
TR qeF I §1 G F W TER THT H WA
STHYT Fed &

T STERAUT o D I T §—

TEHG FeLH & fIve, die TEh, T H W, A
F Tl fOeelt 1 AR, 9 W R @R F Wy, dR &
T, AR H U M|

109. The best type of crusher for manufacturing M

Sand is/M & T uge
eI ohT ShYN 38 & <hI9 OT §—

(a) VSI Crusher/VSI $h¥R

(b) Cone Crusher/&M ¥R

(c) Jaw Cursher/Si 33X

(d) Roll Crusher/Td IR

Ans:(a)M-ﬁ@WﬁWﬁﬂT%ﬁﬁW
e fee Toh IR R Teh 319 Toh wfshan St debeties o
YA i Ffia e Sar 81 39 & o savas e
S gHREd w1 & faT M3 &1 3dRd & & ol
VSI IR 1 TN fhar S 21
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110. What is the ratio of back-washing of filtration
in a typical rapid sand filter?

U Sh-amiim v
Treies o1 TguTa feha=T grar 8—
(@ 6 (b) 10 () 2 (d) 4
s 1 (¥) faftrm g de ot (Typical rapid sand
filter) & SIeb—affT 3 frezieet &1 o1qUm 6 @ 21
Ae— 39 YT B AN F TAd qA 2|
111.

While designing the pile as a column, the end
conditions adopted is

ferdt Ut Rl W & wU H fEAET o 9ud,
sifaw Reafaai—
(a) One end fixed and other end free
TS f4U 9% T ¢ SR U f4u I @ 2
Both ends fixed/&Ht RR 75 g &1
One end fixed and other end hinged
TS o T @ ¢ iR gw R & g 2
(d) Both ends hinged/aHl R FsAer & &1

ns : (c) TS & fSIE N 999 UEd & UH R &l

a5 3R T R N Feoler T4 @ 2|

(b)
(©)

112. In Highway Construction engineering, the
equipment HMA means-
: T H, HMA STHe 93 T
AT AT T -
(a) Hot Mix Aggregate Plant
gl e Wine @ie
(b) Hot Mix Admixture/gle e Tefierg=x
(c¢) Hard Mix Asphalt Plant
(d)

BTE ey Thiee @i
Hot Mix Asphalt Plant/gie e TThiee wie

Ans : (d) Tsmrt fomior SSifafiin § HMA T a3 &

7t &7 ‘Fle e TEReE @i’ 2|

113. Mass moment of inertia of a uniform thin rod

of mass (m) and length (/) about its mid-point
and perpendicular to its length is-

TEAE (m) 3R &S (/) Tt Teh T Taelt
Uk DY T TH! TS o cledd feem ¥ 30
Teg foig & ON IR FEWH WS Eul A7
HifT—

Ans : (a) T ITIRA T AT &F 360°C T 3MHaA I
TS ST 1 GG A 80 § 120 % o B 2

115. The moment distribution method in structural
analysis is also called as

LAERICT H g el fermwur fafyr
........... ST YT T T Wehell $—

Flexibility method/7=ir fafer

Displacement method/fereema fafy

Force method/ae fafy
(d) Unit method/3eT fafer

Ans : (b) Wfts A e/l @ B & favewo $
& fo1a el wig 3 do faawor fafy & fosfa R =%
fafey et A ST % fordt 3w B @ e awfr iR
FHAd TWE Bl ANUF HET ST 8| ahd faawor fafy
foreemaey fafer & wgwT AT ST R

116. If Reynolds number is then the flow of
fluid through a pipe is laminar.
Ed AT @, | Uisu | g arel
3a 1 YATE W §—
(a) <2000 (b) >4000
(c) >2000 (d) <4000

s : (a) Fics T A & JAgd I ad I g H

A BT 81 Hiee HEA U famA AT ¥ 3R, @
Wm%lmﬁﬁ%w%%ﬁmm
F A 7 2

YATE St Uil g W& &l 0
g yaE 2000 9 &1
GehaUT J4T8 2000-4000
foregs g 4000 § o

117. The ratio of current assets to current liabilities
is known as:/=ITe] Rl

TJUT Y ....... HET AT E—

(a) Debts ratio/F0T 3TIdTd

(b) Liquidity ratio/TXeIdl 3¥q1d

(c) Acid-test (or quick) ratio
Tfe-2w (I @A) IIa

(d) Current ratio/dTe] :ﬂﬂqla

Ans : (d) 1 JEfE § 916 STEIRAT & STI Pl A
Wﬁaﬂw%m 1 %I 3ael Tl I qH S

T grafeaat
(a) 3/4mP (b) m/12 A AT = ——————
©) 2/3mP d) mP3 w1}, $aTRAt
: (b 3R arett gqeli|| 118.  The Law of Triad was given by
ns : (b) SHH (m) 3N =R (1) T TN {he Lay TC

BT FI TG A b A RN H gHh 7 fag
2

TR 3R FemE e 3t %sﬁm 2

114. The penetration value of residue from
distillation 1/1%‘%(') 360°C of rapid curing cutback
bitumen is- IUERE Tt foIen= & 360°C
qeh AT | YT a9 kT ATAT |7
o sfter g g—
(a) 80 to 120/80 F 120
(b) 30 to 120/30 § 120

........

(a) Henry Moseley/%:rﬁ et

(b) John Newlands/si =eisd
(¢c) D.I. Mendeleev/D.1. Heaia
(d) J.W. Dobereiner/J.W. E{CHEGTE

Ans : (d) 99 1817 § S WRE, JEHTT SERER
A U7 G AT a9 & oo B B T
mw@ﬁiﬂ?ﬁﬁraamﬁ@q@ﬁﬂm@w
q@ﬁﬁmw|mﬂtﬁwﬁ5ﬁm%ﬁaﬁﬁ

F I T FFHA & G HH A WA | AT A
T N T Wmﬁaﬁh% A H

(¢) 100 to 160/100 ¥ 160 e ﬁqﬁ 2T 81 S9- e (6.9), WEEH (23.0)
(d) 40 to 80/40 T 80 TE WEfTE (39.0)
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119. Cleaning of hard to reach places inside a spiral
tube, odd shaped parts, electronic components
etc. is done using which waves?

U Mg & IMTHAT HeT WET arer T H
HETE o o femr ot st SwanT feRam Srr &—

(a) Supersonic waves/gm@ﬁﬁﬁ T

(b) Infrasonic waves/3795q LSEKl

(c) Ultrasonic waves/TUs= i
(d) Subsonic waves/THifaH TG

Ans : (c) 9ffa =@, fovm agpfa o O, goiaei—e
TeH M & TEA ST A add W H TFE &
foTT qusre @i @1 S R S 8120000 &S ¥
SR P SR el T B G T el S B

120. A method in which mortar conveyed through a
hose and pneumatically projected at a high
velocity onto a surface is called.

ag fafer, fad waren @t U et & ureaw 9

yaTfea feRam ST § SR argenfe w0 ¥ Se

A ok WY Gdg W gL feram < §,

HEETA §—

(a) Vamishing/ﬁTﬁf@Tﬂ (b) Concreting/aHshifeT

() Ferrocement/SU8He (d) Gunite/TEE
Ans : (d) TATEET (Guniting)-FETe 37281 TEH shshic
&I 79T S 3= ™ W Sl & i S gag W B
R, arrﬁ, Tl F MEE HIOTAT TARRT
TERT F R S weie wEm & Sl @ 39 diem
Fed €1 THH STEYIS &9 T FWIR, &Sl IEY 9 BT
o Bd & SN U 31T Uy ¥ T H <@ W qE Ao
e gl 21
Fﬂﬁzmqwaﬁ(mgtrmw)?ﬂﬁzmﬁ:ﬁwﬁzs
kg/em® § 3.5 kg/em® &6 R I I Aifq I A0 2|

..........

121. The distance of a point where the whole area of

a body is assumed to be concentrated from a

given axis is called/"rﬂ Tl'si 3T&T 39 1%|§ & ?a'[&
e w e & uul 9%t @ Shiga W
AT &, S T hal STl §—
(a) Second moment of area/fsfia S 34T€,_[U'f
(b) Mass moment of inertia/SFH TS 34T§[U'f
(c) Moment of inertia/SIgd 34T‘5LU‘T
(d) Radius of gyration/qRgHUT fFsan
ns : (d) TRYAU AT (Radius of gyration)—3 TE
T T fag A 30, B9 | e F ool eEea S
i AT ST €, uRgwoT Bear s 2
T R T ST A 2

Al S 3ot

a2 2 2
I=a +a,n; +ar ...

I= Z:ar2

[ = AK?

A

122. Formation of snow occurs if the cloud

temperature is:

Tfe STEeT T ATYA ...c...e. g, 1 ot st g

(a) Equal to the freezing point/fgHieh & TR

(b) At the freezing point/flFHish W

(c) Just above the freezing point/f@Ai% &% I
S7ES

(d) Below the freezing point/fEHis & &1

Ans : (d) T I&A H1 T GHIF T FH @, O I
T 81 98 19 9 W HE 59 59 A1 8, 39 59 a6
fedi seam 21 fhdt g9 & fou v & a9 &, R
W Ed H a9 o 39 59 & SIF N F 9 TS h
T B ST & |

123. A project construction cost estimate includes

the
ferdt ufteier =t famior emre & STeRer o
....... ITireT Brelt ¥
(a) Equipment and oyer head cost
U TH 3TN 8 AT
(b) All of the optlonsff%ﬁh?cﬁ 7 9 ooff
(c) Labour and material cost/$H Ud G e
AT
(d) Profit of the contractor/3HaR T @1
Ans : (b) 5t oRasmT # i @A & e
forr 1 wfenfer feham Stm 8-
(i) fafor grft &t @
(ii) T =T
(iii) =iffep wrrgld
(iv) IS o HIHTE=]
(v) SeTRI-Fref=t 1 fepran
(vi) TaET ITSt fEToT ToRRE 1 e sets
124. A change in state directly from solid to gas
without changing into liquid state is called .
Felc o ﬁgvgaﬁﬂ e L lic crS k)
S g oragwer ¥ e A UREdT @ ...

THET AT &—

(a) Vapourisation/arsdiehtur
(b) Sublimation/3%qTaT
(c) Condensation/H&=

(d) Fusion/Se&

Ans : (b) 53 3% § gRafdd gu fomT 3/ eEwer ¥
oY g § sge 3 9fFa $ FEuaT Fed § sk 9 g
WY S s Y TR I RO FRd 7

125. 'Who among the following assumed charge as the
23rd Chief Election Commissioner of India?

" ¥ foree vwa & 239 9e g
G o €U § YHR TE0T fRar—
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Achal Kumar Jyoti/3/ e FAR Ifd
Sunil Arora/ﬂ?ﬂ? 3@@'[

(¢) Om prakash Rawat/3TH JeTeT Jad
(d) Nasim Zaidi/F9m St

(a)
(b)

s:(b) TG & 23 d T&F I99 G G Wl 4

e & a@ﬁ%ﬁmﬂaw(zsé‘)%ﬂm
34%?@ e T 8, S yRa § 99
Ewmmﬁwwm%mm%

126. A cantilever beam of size 230 x 400 mm has a
clear span of 2.5 m and is supported on a 400 x
400 mm column. The effective span of the
cantilever is-

230 x 400 it SRR @l T dfeeer stw
& e & 2.5 e ¥ 3 T 400 x 400
firft & =W grr watda ) dhfeciar ot wuret
= = -

(a) 2.7m (b) 29m

(c) 2.615m (d 33m

Ans : (a) FICER T H WL @S = 2.5 0.
FTATR FH HE H9 = 230 x 400 mm
&R bl A9 = 400 x 400 mm

Wwaﬁqﬁwﬁzww+w

=25+ 0‘;00 2.7 4ix

a
Wﬁ%ﬁmm—ww+m

=25+ —— 0.400 =274

2
3: HTelel G & e e = 2.7 Hiex
127. The objectives of the integrated Child
development Services (ICDS) are

: qTeT Far3tt (ICDS) & =T 3299
(a)
(b)

Pre-school non-formal education
f-Tpa AF-HHA TIHTH
Immunization/ZTeTeHTuT
(¢) All of the options/f&edi & T Tt
(d) Health check up and referral services
EEISZESIERE]
ns : (¢) THFHT a1t faHE ar (ICDS) AT &l 2
FFRA 1975 FH W fFam T a1l TH AN F
frfafad =y 9-
(i) T G
(i) To Thet TR~ ito=Res v
(iii) TrOT 3R TaTEe e
(iv) T SfeReoT (SYehTehaoT)
(v) @R St

(vi) TS gard

128. Fibres used in FRC are also called as
FRC ¥ YT WIgeR i oft gt SITaT §—
(a) Secondary reinforcements/fgdiaeh eicl
(b) Super reinforcements/gIX frgmrgHe

........

(c) Slim reinforcement/ReTd fzmidie
(d) Slender reinforcement/h3 FelcTd

: (a) WM Yafeld chehie (Fibre Reinforced
concrete)—aﬁf FHe ¥ P gadl F W SR TEH!
T gmed $ U S 8, 79 9 0 vEfer die
FEAM 21 Fh § U S B Ak a9 THH A
gmed H g & T, TOH TR SHE, TR,
Trefismdi, A, A, maﬁwﬁf%%ﬁm
A E1 X vefed debie H wgE 3 Wi @ fdas
Yo Hed 2 |

129. What is the main principle of Prestressed

Concrete Structure"

T hehle TTEETS &1 &I 39T
o S

(a) To introduce tensile stresses

T Yfdsret AT

To introduce shear stress

TEYUT el ST HET

To introduce compressive stresses in the zone
where tensile stresses are expected RS

ff T ufedl @ suRefy emfm @, ol
Hdred gfdarel AN LT
(d) To introduce deflection/TRETaUT ST HIAT

(b)
(©)

Ans : (¢) 5@ {8 TEAHF @UE H, T 9K US4 9
od, U wfecl i 3 B & S 8, S 4R (3§
3eA) T84 W 3T Sfewedt % ol gHfy & &, @ T
e qd-sffe @eed § st 97 @ve yd-sREf
T FEAT 2| T8 Sfee g R F a9 &F H,
IR 9e4 ¥ T & it fafy ¥ geies wfied 3o
f&F S €, ST 9R T4 W 3G d Sfeel S ol
Ufr & 2 B

130. A phreatic line is defined as the line within a
dam section below which there is/are

= frdt @i % T W w
it Hise 3@ W@ & ®u § uRwrfye fewen
e §, R e e -

(a) Negative hydrostatic pressure
FUMHh HEl

(b) Negative equipotential lines
TS THGTE @M

(c) Positive hydrostatic pressure

GqATHbD EE)

(d) Positive equipotential lines

IS qHTS 3@

Ans : (¢c) WIS G [@T (Phreatic line)-9a ¥ &
i # a8 Rua @1, e 9 aaEs 59 Wfts 9w
A0 FW RUTHS 59 Wfas @ @ 8, doeed qa
(Phr;%tlc%hne)m?l AT e 1@ W AgAvSH
el |

131. The surface of painting is measured in-

T it wag &t T HTT AT -
(a) Cu. ft/59 HIe (b) Tonnes/Zq
(¢) Sq.m/a Hfex (d) Cum/aF HieX

.........
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Ans : (¢) BT F # Fag &1 f= & wrr S 2-

(i) THSY/AR F Hd W T TF FE - i @

(ii) arfier & /e st - & o,

(iii) PHITAR qIaT — a0 o

(iv) 9T G2 BT — &

132. Pick up the correct statement from the
following.

T T e AT T AT hi—
(a) All of the options/fd&ed d T Tt

(b) Engineering economy is a decision assistance
tool by which one method will be chosen as
the most economical one

s Fia-TEE SR 8, f S R R
31 gaffers frered fafy & &9 § 31 ST

For understanding the engineering economy,
one should be able to classify the basic
terminology and fundamental conc gts of
economy

AT H e ﬁ L maﬁ?fﬁ 3ﬁT
SFUROTS i Fiigd H § T g €rr1%11|
Engineering economy is a collection of
mathematical techniques which simplify
economic comparisons/ 37

S MORE qEE A T T W 2, S
e st sl el S § |
Ans : (a) SR STAETTEIT—SH AR STeeaae
F feT 3ev a8
(i) Sohfrafin srderacen ws fofa e sustr 8 e
g Tt fafy i waifes fewradt fafer & <1 S 21
(ii) ESfrafir srfeqawen 39 M de-le &1 TH TH
g 2, ST e qeret P WA I 7 |
(111)3@%@@@@9@#%%&@%3%{@
Va3 Steferawer i qord SauRunsd $i Fiihd
FH H Gy g e

133. In a trussed bridge, the maximum limit of span

18-
e fore & W it srfreaw Wi ...... Bt -
(a) 18 to 30 m/18 ¥ 30 WX
(b) 50 to 150 m/50 & 150 HieX
(¢) 3t07.5m/3T7.5HX
(d) 30 to 80 m/30 ¥ 80 HiX
Ans : (b) 9 IA &I Af¥HaH W 50 HX ¥ 150 HiX
T BT 2
134. Which of the following is the process of
removal of permanent hardness of water?
x

@ W Ut wr Tt werar @t

T HY UIRAT §—

(a) Boiling of water/qHl I I

(b) Zeolite process/fSTrarge Sfshar

(c) Filtration process/feda gfshan

(d) Lime treatment/g-T 3THR
Ans : (b)ﬁﬁm‘eﬂgﬁﬁrﬁmwﬁwﬁrmﬁ
R a1 o1 g 21 SRS (2810, ALO;, Na,0) Tk
PR @ Tard 7, S TegdifEw qwr wiftam @

(c)

(d)

.......

& HIR T gIER T WIRA N & A HrevEw d
TARRET FEl H W GIETT d9u o od 8 S g
Yg o ST 2

135. When does a quick sand condition is developed

in soil?

gt § forerer A Rearfr ot Seo=1 Bt 8-

(a) Head causing downward flow is decreased
H 3 fxen & FA® F PO TS H A 2
Head causing upward flow is decreased
S YaTg & HROT ¥ HE S & |
Head causing downward flow is increased
H St fawn % SEE % FHROT g S I 2
Head causing upward flow is increased
S0 YA & BNOT ¥ A ST & |

(b)
(c)
(d)

Ans : (d) 37 9] STERAT FAE 1 UH 91 ¢ 7 B ga
1 JHR 2, e IR WO Y & HRU GEHSHRA
Tal & HUN § FAfT ST 3= g S 8

T # gaT & GgW IR $ HRUT A= I I q9n Gros
TaE & HRUT SR A IR GO a@ FF Bl 21 S
40 o, Y9 gaT <@ & SUe o ST @l g 3
TR I & S 2

g oraeen § gay ergd oo geed @t aft 21 99 & ga
e § 599 @ F Hifow F9T @A FEd &

G-1
1+e

T | A STEe 9 309 @ g9k [ 54 @1 & AN
1. ¥ % g AIfew

I =

c

136. EOT crane means
EOT $h hT oRIT AF9TT §—
(a) Earth moving Overhead Truck type
a7 T ST T TR
(b) End Open Type/Ug 39 218
(c) Electric Overhead Travelling

X

(d) Easy Operation Type/3dl 3R 2187

|Ans (¢) EOT - Electric Overhead Travelling

137. Why are moorings provided?

SALC SR HER CAUE Il

(a) For towing the ships to the sea

ST B Wi TR § o 9 &% fau
For repair of ships/SETsil & THd & forw
For washing of ships and ship boards
STeTelt S fergaref #t e % fo

For anchoring of ships

SRS &l TR & fow

(b)
(©)

(d)

Ans : (d) T 9308 T8 & A2 & (bR Hl W& el &
a8 sk o U T S el & FHT N g
1 Sl e ¥ el bl S W SANT ST @1 STl
SETTEN W Ueh T & o1 TR STl S &, 39 S 31
THRT Fad

138. Special types of glazed tiles or bricks are used

as facing material for the rubble or concrete or
brick backing in
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9T Uk & wHeRtel <Tged AT g2 ST U
T BT WRae & ®9 § Wes ar
ehehle a1 fores Stfehr o fora femarm SiTam 8-

(a) Stone facing with Brick, Rubble or Concrete
baking masonry/3<, o A e AT
forre & W =H HiRi

Random Rubble masonry/i?ﬂ-'l T B
Brick facing with Rubble or_ Concrete
/AAS AT e T

backing masonry,

& 99 forep HiET
(d) Brick backed Ashlar masonry

foreh S 3TveR AEd
Ans : (c) fO9IY YHR & THHA @ A1 T2 F1 YA
T AT Shehle s A & qry i BRI § weftaa
% &Y H Tolsl A1 hehie A1 f5ieh sl o ford TR S 21

139. The international protocol to protect the ozone
layer in 1987 was

| I AT 1987 H ST U st G G
I Werhie g—
(a) Montreal Protocol/Hif~zda EIEACAGH
(b) Cartagena protocolWﬁﬁT TeIhiel
(¢) Vienna Convention/f&T Sietehict
(d) Kyoto protocol/FT SEishial

............

(b)
(c)

141. Mini drafter combines the functions of

At gy ... o <RI sl WSl &—

(a) T-square and Set squares
T-EHE EEEIRE
(b) FrenchCurve and Procircle

(c) All of the options/fedi § & qeft
(d) Divider and Compassf%ﬁ'l%@'{ 3N S

%ﬁaﬁmwﬁ%mw%
7O g Afte, Fefw, frdl, s e diEh e

142. Which type of radiation is emitted from
Carbon 14?
we 14 ¥ g yar ot faferwor seaffa e g—
(a) Gamma/TH
(b) Alpha/3TcHt
(c) All of the options/fasedi § & qeft
(d) Beta/sier

Ans : (d) Fe FeA ST el w@ uEl & W@
e ﬁraﬁmaﬁa—?fﬁfﬁ%%ﬂ F fou
Fe-14 H foher ST @1 FE-14 § e fafewo

Ans : (a) 3TSH T F THIH AW arct B @ &
Jqed qgT ST W R § 32vF & 9 Ay F &% I
T 16 faaar 1987 &1 #iead T W gERR 57 91
Y o1 g 91 999 T SEe W ST g |

140. The water in the soil which is in excess of the
hygroscopic and capillary water and which can
move freely downwards when the soil is porous
and drainage available is called-

| g% WA, o iR
Horr o § e § HeE § e S
furdt & o oi fre s 89 W g w0 |
o w3 S WeRdT €, IH AT HET AT §—
(a) Free water/qekd STcl
(b) Hygrosopic water/gEHEhIUeH ST
(c) Firing water/®ART d1eX
(d) Capillary water/®¥T s/t
Ans : (a) ﬂ'él?-r ST (Free water)—Eﬁ T qga1 % FUT 9
%IW YOG & RV 98 Gh1 §, WA A1 G S hadl
Al

# {y qo1 3fua e e 89 R 98 Sa vy
%ﬁgmﬁﬁwwélwwﬁwwﬁ

|
SMFATITE ST (Hygroscopic water)—% UMl faea-
QS Sell % RO g F HUN § TIH @aT @ adl
e AT KV Tl ob HROT F T G o HUI § AT
& B 21 (g H 105°C F 110°C @b T i W &
T8 T THY STE fhaT ST Fehell 2 1)
HVET T (Capillary water)—38 T 37fUah
ST F FROT Wi F fEEE a2 3 gw 4@
U & fHar ST Gharl T W H SRy & fou
3O el H SUAs @l 71 Sl ¥ A BT R 5
el S e 3R ufeE 9% ggen W g

swwﬁm%lWMWW@ﬁ e
2, ol org o e, 5730 O WRR ST 218
ﬁaﬁmmaﬁsﬁﬁwwﬂaﬁaﬂaﬁw149ﬁﬁwﬁ
foafamme & foferad forslt 3 fovan am

143. The quantity of heat required to raise the
temperature of un1t mass of material by one

(a) Temperature stress/ardra st
(b) Thermal expansion/ddid FHR
(¢) Heat of hydration/STerars s
(d) Specific Heat/faf¥me s

e SESHOT BT & TH AE b g & fafry e
oI ed &1

e m FAuH & Bt gerd g0 AT a9 ufteds & fog
AQ T I AT LN A7 SRS FHT A ¢ A 3@
w#%ﬁﬁﬁr@muﬁmsaﬁwwmm
ST 2 |

S 1AQ

§==
m m AT
m 37 oo &1 SI AF T ke 'k 21

144. The main factor to be considerd first in town

planning is —

ﬁ‘P%T-Fr (Town Planning) i) e
Tk Sl HEWAH £ W T AT ATET—
(a) Society needs/HMINe ETHHATT

(b) Governing bogiy and cultural heritage
W e wE Hikhfde faued
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(¢c) Topography/ZTaIsT®!
(d) Ecology of land/q—urRftafereht
Ans : (¢) TR faeH § W Th T9@ FRF 2 2|
frmfor T &t At @ @ gu & uRaeEr
T # e, FaRT qgr Rﬂﬁa TR 59 9 &
fomfor eieM S T TS B URASHT % 1%111
savas Gl gffs, d9 Iuded 9EY & e §
ST 2|
145. A flexible curve consists of a lead bar inside
rubber which bends converinetly to draw a
smooth curve through any set of points. Which
of the following drawing aid is this?
Th , TTa" @R & ot T oS
& TS A B, et Pt Wad @k (Smooth
curve)@?ﬁ%wmﬁwmm
¥, I/ I gl S §7
(a) Scale/Thel
(b) French curves/S w4
(c) Set square/ﬁ? T
(d) Divider/fgamgex
Ans : (b) TF TGS Hd, TG0 W & 3T TH o8
# BT B 8, P e Had_ sk (Smooth curve) EIEE]
& foIu ot § Hier S Tehar 8, 3¢ g %d *ed B
T U FRET SR B 2
146. Analysis of continuous beam can be done by—
Haq &fiw s ferveraor g fwam ww
HehelT &1
(a) All of the options/fd&edi # T aeft
(b) Slope deflection method/@e faerTuT fafer
(c) Three moment theorem/—3Teul s

(d) Moment distribution method

et foaeon fafy

............

ns : (d) SUST (Tendering)- et =afh steran it

s fafed w9 § g fovan T e 9w a7 =t/ adt
et gmm-—gweg/ i s &1 fuiRa & woaen
fafvea erafr # qof e 1 3R T 8, 2UST HEeAr
21 3vst & foru fondft uftEismn & oo aiferat s
AT 1, SUSRT FEAM |

148. The statement is used to transfer the
control to the end of statement block in a loop.

T @t o o T st

37 T el ZHAET HT o 1T FeRar ST §—

(a) Continue/ﬁ%ﬁ?{\ (b) Break/sish

(c) Goto/Te, (d) Switch/fag

..........

Ans : (b)ﬁas@?ﬁa?ﬂscmﬁ T LU A & 3
ﬁmmm%mmw%mm@
TF B q9 B A 31 T AR W I Amat d
Wﬁmw% et 3 forelt R 13 o % forw oW

H e F AETIHAT Bl 2

149. For a constant aggregate cement ratio, if the
coarse aggregate is increased at the expense of
sand, maintaining total aggregate cement ratio
constant, then the total surface area of the

aggregate is
T feer aiit-wiie sgua & o, afg weer
FeTit-wide Hife U @i few a w@d g
I o T W A sort fiers St &, 9r gt
&% HT TR %A W AT YIS ERT—
(a) Depends on Other factor

I Wl R R B B
(b) Remains Unchanged/?:TCIﬁaﬁﬁ @
(c) Increased/dig SITEIM
(d) Reduced/&< STEIm

Ans : (d) T ReR S99-e oW & fo, afe 99a aod-
e e sHIM F R TT WA gL W & WH | A
EENRECIEAS S ﬁmﬂ%@ag@wma’aaﬁm

Ans : (a) aq &A1 B fergatyuy fag fafyr g fpam|| 150.  The equation of continuity of flow is applicable
ST 28— when the .
1. 9 faf¥ (Forced Method) | 7 Fere , ETI;[@?IT -
. ﬁ—aﬂg[ﬂ'f cha (a) All of the optl'onsm 7 9 meft
(1) (b) Flow is one dimensional
(i) et foeem fof e T ST A
(ii1) Fifte e fafer (c) Velocity is uniform over the cross section
(iv) Feifefafert fafy IR TS | AT THIHAH 8 |
2. fereama faf¥r (Displacement Method) (d) Flow is steady/Jar8 f&eR 2
(1) 3“‘5@ feraor fafey Ans : (a) GTaeT GHIERIUT (Continuity equation)—STd
(i) o faerg fafy Tl e § "El @ A (Conservation of
(iii) S =1 fafer mass) § I ® RT 21 39 THHU F IR
(iv) Fea Az fafer IIREH WA (steady flow) & fod, &t o=y & o
147, e is the process of inviting bids or || 3 ¥ ff wwg # TS o1t 59 H AR FEE
proposal in response to an invitation. _Eﬁ"ﬂl
JTHAUT | SfeTal AT TEATE AT HI || WA HHIGHIUT o Wferamer—
o wfsmar §— (i) 59 &1 Y418 3TaRad &l
(a) Starting/=ET (ii) Yo THefEa B
(b) Scheduling/3rsfem (iii) T=H HIE W ZF H 3G A o S|

(c) Planning/wT=T
(d) Tendering/2sfr

(iv) fammudia @©l & §9 53 & ey ¥ e a1 3gd
Y I A HIT GG 7 @

RRB JE Civil CBT-II (28 Aug 2019) Shift-II

46

YCT



YT 9ot ae (RRB)
e Irfe=r fataer

Titer-2019

girer fafer : 29.08.2019

Bendmg moment at any section in a conjugate
beam gives the actual beam's—

'H'a"'l:ﬁ Eite) (conjugate beam) T ferdt oft wus
W T ATl SR Wﬂf (Bending moment)
Elrsiceacin ki) IS AT B

Time : 03:00 PM - 05:00 PM
ﬁﬁ@a@ﬁ@ﬁﬂﬁ T e o fefafed &9 ser § arffed #
Tehd B-

1. STER et ugfyT O

2. ST SR Aie

3. drft Rafea wefdm uie

(a) Slope/@&ctd

(b) Deflection/fa&qur

(¢) Bending moment/Se- 3Tl
(d) Curvature/dshdl

5. Which of the followmga; NOT a type of age
margln"/gﬂﬁ I T YR
(a) Center/q&d (b) Right/a@
(c) Left/amd (d) Top/si

Ans. (b) § w7 % fFft @ve W @ aren deA
et arEfas oA faRw IO S @) S S
T & fFdl WUs W @ 9T FA 9 ardge o

Ans. (a) 589 (Center) T YR & U ATSH & 2|
SEfeh e, S, & 997 3T Y&l hl U AfST & Y §
ST S R

TAH I L 2
2.

The processes that are residing in main
memory and are ready and waiting to be
executed, are kept on a list called—

ﬁTﬁ'ﬁ (main memory) o 'Fl';@?f 34
;rmaﬁ W et A T wEl W@ €, W
TaRftaRTE o ST 3 T S e weftae §2
(a) Ready queue/i%pf ESN
(b) Process queue ERN
(c) Job queue/Siial
(d) Execution queue/TSIeRI¥H R
Ans. (a) T&F #9107 T 34 Sichaned & g W

6.

Mullers Breslau's principle can be applied to—
T ( Mullers Breslau's )

‘s'ﬁ ¥ feraer T omy feram ST weka &2

(@) To draw the influence line diagram to

statically determinate and indeterminate
structures

Wit &9 ¥ fuid ik sifreld @At %
fore yma Tar eRE died & fow)

To draw the influence line diagram to
statically indeterminate structures only

et w7 ¥ ofuld gt & fow
e @M ARG G & e

To draw the phreatic line diagram to statically
determinate and indeterminate structures

wifts &9 ¥ faold s sfveld Sl %
foe fes @ @ e & fo
To draw the influence line diagram to
statically determinate structures only

Fad s &Y § frufd gl & e g9
Y@ g diEe & fou)

(b)

(©)

(d)

7 Fel S 7, S G 5 oW % o ﬁw
eI 2 |
3. When is Halloween celebrated?
T ( Halloween ) el WHTIT ST B
(a) 1 fegmr (b) 29 faamr
(¢c) 399K (d) 3137
Ans. (d) geEH, ¥ 31 SRR H FAET ST B

qaST S T S e % R 39 @IER @ He S 2
4.

addressing mode is most suitable to
change the normal sequence of execution of
instructions.

fcon o fouTe o W 3TIeRH i SiEeT
faw Ui aie waifues Suges g 8
(a) Immediate/SHIFSTE (b) Indirect/3Toced
(¢) Relative/Retfea  (d) Index/H=ehiah
Ans. (c) frdel & fsqreT & 9T oTIHH N aqeH &
fore fiaifea (Relative) @ﬁm TIs gaifis ERRN e 21

Ans. (a) TR 558 &1 g @it &9 ¥ fuid ok
afqafd dmRt % fou y9e W smw die # fou

ﬁz—aﬁaﬁw%m
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7. Grade of Cement and Concrete is expressed in
which SI units?
iz ik dehie & T3 o 30 A e SI
YOIt W &Ik feRram i 8-
(a) MPa (or) N/mm® (b) Kg/em®
(c) Psi (d) Pa (or) N/m’
Ans. (a) 9 q1 $hie & I H FaFE womCd SI
MPa a1 N/mm® # =7 f&har Sar 81 @ difie a1 sehie
! grfied el & gyl 2
e IS § qgdl 3umd M Faie & ey wefidfd o 8
3R g9 I for@r 3 150 mm A9 & o9 # 28 A
H T W it rdted g awfar 2

8. The locus of reaction of a two hinged semi—
circular arch is—

o e W F\ID% L W—W 3=t ( hinged
semi—circular arch ) @t TsRaT &1 T (locus of
reaction ) FIe §—
(a) Straight line/Se T@m
(b) Parabola/9idcTdThX
(c) Hyperbola/3ifd RaeTaTHR
(d) Circle/daiehX
Ans. (a) & FoER STH-FAHR 3ME & g Sfafehar oo
3NE-

q Fool § TS gU d-guER o @ fRar @ uy e
@ A 21 A R B S aelt W1 F FHR

™R o w R B 2

w

Reaction locus

9. Which of the followmg cannot be done with
help of theodolite in surveying?

weor o fmﬁ'sﬁwgz ( theodolite ) St Wag |
AU | I 9T hre TE TeRaT AT WehdT §72
(a) Setting Out curves/dshdl H T FHEAT
(b) Establishing grades/JS TfUd AT
(c) Determining the difference in elevation
T H ST I BT
(d) Determining the area of ground

9 1 &% I FHE

Ans. (d) T10T § RrEieize g gehdal 92 &, IS
YT HTT T STl J1d hIAT q91 &fe § ILAtEw Hiv
T A ST b1 &1 S G H &A% §id B

T wiieT &1 = R S 8l

10. A computer is a type of malware that
propagates by inserting a copy of itself into and
becomlng part of another program.
HEET_ T YRR ol BT ¥, W W@
o Wk gl wht feRdt o1 Hiome & ererent 3iiv
O T <kt T SRt Shetar €

(a) Virus/a@Rg (b) Spyware/TIEIR

(¢) Program/SaTd (d) Application/TeAHIH

Ans. (a) B TRRE TS B B Aol 2, S @E
T TF B HFH T T H o SN gW S
1 e SRt therdl 81 HeaeR U 39q0 qroeeeR @ S
ST H RN & fa wEy frew § ogEe

W ¥ BTBIE BT ¢ A Y T gan 2|

11.  The average velocity of flow that will take place

through the total cross-sectional area of soil
under unit hydraulic gradient is known as—

Uehieh EISEITeTeh &1 (unit hydraulic gradient)
o 3 TSt o o7 YRS FE & AAHRA
EI 916t YaTe ok 3{rae 9T Skl 9T ahal ST 87
(a) Stoke's coefficient/ =T Ui
(b) Uniformity coefficient/Th&0qdl TTITEE
(c) Coefficient of permeability
RIS CIRIUIE
(d) Darcy's coefficient/STHf [0Tish
Ans. () ST & THEHT % FTER
Vi
V=ki
FEAIER i = Thich
3 |v=k
B UHF IESIH B & T HE F FA STTRT Fe
% T%c ¥ B Yaig o ofed 97
Tk HE S | U oS (K) H IR
ﬁtﬁ/ﬁ Bt 21

The length of sedimentation tank should be at
least the breadth of the tank.

3raETeT 2 ( sedimentation tank ) St warg,

T H OISE A wH ¥ & Bt R

(a) One time/Tsh Tﬁ

(b) Four times/= T-ﬁ

(c) Two times/al ﬂrﬂ

(d) Three times/d= ﬂﬁﬂ
Ans. (b) 3EEET 3% & S 3% Pl AISE B HA
F TR A G AT SAABR e 3 § o
QET=e: 40 ¥ 50 HeX q97 e 10 He Wit e
THF TETE 3 T 4.5 W T ot 81 I H qHr H A
60 /fame & 90 Fefl/fire Tar ST |

12.
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13. The combined name for the two tests—

elongation index and flakiness index is
goehish (elongation index) 3T ufrer
gorehish (flakiness index) ATHeR a1 UHeTUn o
for wigeh = = &2
(a) Stability test/znfrea w{eror
(b) Shape test /3T TLegoT
(c) Surface test/¥dg Tlerur
(d) Strength test/Tmed wleror
Ans. (b) BT TEF® (flakiness Index) T AN i
(Elongation Index) 3 wdferoT FPH Trgor % 3w 3 g
59 Gl 5 T & ST @ Rl # §
ufrer frerar—sw fiea & @il &1 =gHad 9REm

(lﬂa‘s‘)maﬁww%%(mo.e)w@m

&, gt et et 21
TEEA0 GOhih—a fIae & &0 & TR 3

WW%%(WLS)@@W%?I
A e sEard gl

14.  Which of the following devices performs signal
conversion?

TAH | 9 AT UK R swawi= ( signal

conversion ) ST &7

(a) Plotter/=iex (b) Mouse/A=3H

(¢) Modulator/AfgeleX (d) Keyboard/®arg
Ans. (c) ATSeIEX SUHTT 4Tl healei &l 2| T8 fehdlt
SN B et g T faa & w9 99H & o
YA B 21 I8 fefsed e & T &9 § seeH
& wfspar 21
15.

Coefficient of earth pressure at rest is given by:
(p - Poisson's Ratio) .

T eTe U w 3AH W fRE g9
BT wEfvia feram Swar €7 (- @Es 1T )
(@) w/(1-p) (b) (I-w/p
(¢) wd+p (d (d+wp
Ans. (a) AT a1 &1 Sfeest 8, @ @ x-fam, y-feen
aqr z-faem & wfaaa Gy, Oy, O, %I

GX(I_H):“(GZ) (".GX :G)’)
o __ K
c, l-p
-_*
o l—“

16.  Which of the following is used to measure the

difference in pressures between two points in a

ipe or in two different pipes?

uey AT S SA-3M utght W &

figet & ofrer & TE-=R W WA & fow
0 A ferEeRT SU=T feRarm SITem 37
(a) Differential manometer/EFE FAeT
(b) Orifice meter/3TRFT 2T
(c) Piezometer/SSiHiex

(d) Single column manometer/Tshel &+ et

Ans. (a) fRE 91T § A7 TET-3TC AR H, A fegan
% A9 o <@ & T H WO & AT A FAHeT
T fha1 ST 81 ¥ Uk U-STR & el el @ fred
TN AT Ueshled WU Wl @ a91 g Sl & ual H

AR F19 35 S 2

17. The command which is used to make a regional
geometry in the AutoCAD is—
et ® fiomer et s & fag fea
HATS T TEIHTT TeRAT 1T B
(a) REG (b) Trim
(c) Array (d) CO

Ans. (a) FPR | 5ty &1 fafyw s @ % fow
fer T e # Fuws’ @ed €1 sides # dEd

gt I % 7T REG FHvS #1 STt a1 S 21

18.  Which one of the following is not the assumption
in deriving Euler's theory for long columns?

oo Wl o fog g fagia (Euler's theory)

=t et W = ¥ W e gdenia A8 wen

ST %72

(a) The column fails by buckling alone/&i% Had
THATT H a8 § fIwe & S 2

(b) The column is initially straight and is loaded
axially/&i¥9 qord: €er g 8 EHIREIN
T ST 2

(c) The columns are having hinged ends only/&¥
shael fill T Hesier (hinged) &4 &1

P (d) The section of the column is uniform
6/ throughout/WﬂWWWEﬁﬁTél
qarﬁwmwﬁ%m Ans. (c) @ WeT % o ger fygr # g #
] o fe E-
e.=2[o (o, +o,)] (i) = ot &7 § D i s wRa S 2
T ¢, e x R # forgfa 3, (if) T 1 G I F O T S HE LA G
E _ ST Wi 2, (iii) T qoid: Yo, gurl oik w9-3fme e 2A =Ry
(L — TS ST (iV)WﬁWWWWﬁﬁWﬁWﬁ
1 afers it 21
OZE[GX‘“GFWZ] (v) &7 ¥ fohetdr Shael s & HROT el 21
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19.  What is equal to the measurement of 1nA?
1pA i TTT o SIS ST 7
(a) 10°A (b) 10°A
(c) 10°A (d) 10°A
Ans. (¢)
“1p=10"°
. 1luA=10"°A
20. Which of the following states is the least

producer of wheat"

¥ ¥ frg v § 9 @ A

T T FAT &2

(a) Punjab/gsTl

(b) Haryana/gfRarom

(c) Uttar Pradesh/3wX EEN)

(d) Andhra Pradesh/31i& EEN]
Ans. (d) T T e § T =Ry U9 H W S
I Qo A BT 8 S ST Ney, UoTe ud gRaom
H g H IAed AfUE B 81 SR H T B
TEd 2
21.

A magnetic field can exert force on-

Tk ORI &, U ST oW HehaT B

(a) Moving charge/ad 3

(b) Stationary line charge/<It @g= SEY

(c) Stationary point charge/€rt dige 3T

(d) Both moving and statlonary charge/@l may
R Tl A AT A

(a) TH TEHE &F TauE  FE  (Moving

charges)Wwwﬁélwﬁﬂﬁﬁﬁmm

TEHT &7 H T FT R A BT W TH T AW @

ST 21 39 AR a9 FBd €| 39 a9 Hi R0 e

&7 Sl faem qen ST % T S fawm I o g 2

22.

Dimension text is generally placed above the
line

fofir ST ( Dimension text) R WTHT=AA:
TET & HUT [GT ST &l

(a) Leader/eieX (b) Center/&=

(c) Dimension/ff  (d) Extension/Tae 3=
Ans. (¢) foig Trgg & gmE: fam W & IW
ST 2, S s @ Ay B w2

Xcm

23. For interpolation of satellite data used for

monitoring dynamic changes that occur on the
earth surface, the most suitable orbit for the
satellite is:

goeft i WAg W B AT Mawier aRkad-t
TRt & T wgeR SWiE SeT o v
(interpolation) & 1%111, SUUE h ﬁ'ﬂ{ wgifireh
SUITR TEUY HiF H 2

(a) Circular orbit/gdlh JgIY

(b) Sun-synchronous orbit/ ‘V'Ef W@ﬂ EIER)

(¢) Near polar orbit/WW%ﬁzﬁz

(d) All of the options/fosedl & ¥ Tt
Ans. (b) & TS & (SSO) Jedt & ddg W B
gt R aRadel & e & e weifs 379w
Teqd 21 Gd qoashrell en I g-she S T TN ¢,
ST gedt @ 1000 fdio &t wEE W Ryd @il &1 39 Fan
# IuIE IR Y afqor & 3R weifa fa S 2|

24. When calcium carbonate 1is heated, it
decomposes to give  and

EE) e A T fwar S g, @

g IqEfeET BT 3R AT 8?

(a) Ca,0,CO (b) CaO, CO

(c) CaO, CO, (d) Ca0,, CO,
Ans. (¢) AT e P & T TR F@d &1 5 T
TR H T R S 7 al 98 HFEE (Ca0)
T e SEATFAES (CO,) ¥ 9ufed & smr 21 &
e i R Fad )

816°C

CaCO, —>Ca0 + CO, 0

Hfcgrm WE]%
FEAE 3 = Eicsiec]

The density of ash produced in the municipal
solid waste is—

TRUfTeRT o 3 UV H 3 Il
el fehe=T BlaT §—
(a) 450 kg/m’ (b) 100 kg/m’
(c) 1000 kg/m’ (d) 700 kg/m’
Ans. (d) TR TfHH F 3 R & 30— TG F 5
700-850 Kg/m® T &1 ST a1 JGO0T & & ¥ 2|
26.

25.

The Aquatic animals can breathe under water
due to the presence of dissolved in water.

Ut o farafea (dissolved) I tﬁﬁﬂ"ﬁ

%Waﬁvﬁuﬁ%ﬁwﬁ%%—

(a) Hydrogen/‘s’l%iiﬁﬂ:f

(b) Nitrogen/:ﬁrf@?

(c) Carbon dioxide/aET gﬁw

(d) Oxygen/3TadsH
Ans. (d) IHT § RIS % FROT Selid S T
F i) 99 od 1 mefaal e Tdwel # WeEdr 9
Tt SR | S 81 Sl Siee & A =Ee
Sfera SAferfior I TR 4 ppm BT 21
217.

Which of the following concepts is the basic
prlnc1ple of structural design?

Tl TESET (structural design ) AT et
fagia (basic principle ) 370 ¥ fer@ raemum
T menia g7
(a) Equally Strong column-beam
I &9 § Foad W9 9
(b) Partial Weak column—beam
3T FHESIR T I
(c) Strong-column Weak-beam
TS W HESR
(d) Weak-column Strong-beam

FHSIR T FSGA IH
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